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3

7
DCIP GX @ 300

8
DCIP GX @ 200

9
DCIP GX @ 150

10
DCIP GX @ 100

11
HPPE ¢ 100

12

13
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14
DCIP GX @ 300

15
DCIP GX @ 150

16
DCIP GX ¢ 100

17
HPPE ¢ 100

18

19
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5
20
DCIP GX ¢ 300
21
DCIP GX ¢ 200
22
DCIP GX ¢ 150
23
¢ 100
24
HPPE ¢ 100
25
DCIP GX ¢ 100
26
27
28

29
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30
DCIP GX @ 300

31
DCIP GX @ 300

32
DCIP GX @ 150

33
HPPE@ 100

34
DCIP GX ¢ 100

35

36

37

38
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59 2

7 DCIP GX ¢ 300
1
OCIP)GX 1
¢ 300x 6.000
102
T GX
@ 300x ¢ 300
3
T GX
@ 300x ¢ 200
1
T GX
@ 300x @ 150
1
GX
@ 300x 22 1/2°
1
GX
@ 300x 45°
9
GX
@ 300x 22 1/2°
4
GX
¢ 300x 45°
4
T GX 2 7.5K
@ 300x @ 75
3
GX
¢ 300 , @)
3
2 7.5K
@ 75x 500
3

10
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7 DCIP GX ¢ 300
1 oX
¢ 300
1
K
¢ 300 K
1
K 3DkN
¢ 300
K 1
GX
¢ 300
24
G-LinkGX
¢ 300
T B-N 35
GX
¢ 300
T B-N 21
A
¢ 300
A 1
SUS304
M16x 75
36
SUS304
M20x 85
20
GF 1 GF
@ 75
6
GF 1 GF
¢ 300
1
RF
@ 75
3

11
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7 DCIP GX ¢ 300
RF
¢ 300
1
¢ 300
8 1 2
K FCD
¢ 300
6
GX FCD
¢ 300
3
FCD
¢ 300
1
@ 75
3
@ 75 h=150
3
FAJD
12
4 @ 600
3
4  H=50
3
4 H=200
3
4 H=300
3

12
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7 DCIP GX @ 300
4 H=300
3
4 H= 40
3
@ 300x @ 300
DCIP 1
T
@ 300x @ 300K
DCIP K 1

13
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8 DCIP GX ¢ 200
(oCcIP)Gx 1
¢ 200x 5.000
2
T GX
@ 200x @ 100
1
GX
@ 200x 45°
2
GX
@ 200x 45°
1
GX
¢ 200 , 2
1
GX
@ 200
2
G-LinkGX
@ 200
T B-N 5
GX
@ 200
T B-N 4

14
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8 DCIP GX @ 200

GX FCD
@ 200

FAKD SBB-41HU-EP
CVONS-17G-55LU

15




59

9 DCIP GX ¢ 150
(oCcIP)Gx 1
¢ 150x 5.000
1
T GX
@ 150%x ¢ 100
1
GX
@ 150x 22 1/2°
2
GX
¢ 150 , 2
1
G-LinkGX
@ 150
T B-N 4
GX
@ 150
T B-N 4
GX FCD
@ 150
1

16
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DCIP GX @ 150

FAKD SBB-41HU-EP
CVONS-17G-55LU

17
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10 DCIP GX @ 100
(OCIP)GX 1
@ 100x 4.000
6
GX
@ 100x 22 1/2°
2
GX
¢ 100x 45°
1
GX
¢ 100x 90°
2
GX
@ 100x 22 1/2°
4
GX
¢ 100x 45°
1
GX
¢ 100 , 2
3
GX
@ 100
2
G-LinkGX
@ 100
T B-N 18

18
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10 DCIP GX @ 100
GX
@ 100
T B-N 8
GX FCD
¢ 100
1
GX FCD
¢ 100
1
FAKD SBB-41HU-EP
CVONS-17G-55LU
2

19
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11 HPPE ¢ 100
1
(HPPE)
@ 100x 5.000
EF 38
(HPPE)
@ 100x 5.000
1
EF
@ 100
3
GX
@ 100
1
@ 100
T 1
@ 100
1
FAGD SBB-41LU-EP
CVONS-176-39LU
1
ER-1
1

20
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12

HPPE
@ 20x

5.000

HPPE
@ 25x%

5.000

HPPE
@ 40x

5.000

EF HPPE

@ 20

EF HPPE

@ 25

EF90°
@ 20

HPPE

EF90°
@ 25

HPPE

EF90°
@ 40

HPPE

@ 20

HPPE
NOJ-SS-AW

715520

@ 25

HPPE
NOJ-SS-AW

715520

@ 40

HPPE
NOJ-SS-AW

715520

21
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12

EF
@ 40

HPPE

HI

PV NOJ-PV S
@ 25

HI TS
@ 20

HI TS
@ 25

HI TS
@ 40

HI
@ 20

HI
@ 25

HI
@ 40

EF HPPE
@ 100x @ 20

22
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12

EF HPPE
@ 100x @ 25

@cIpP )
@ 100x @ 20

@cIpP )
@ 100x @ 25

@cIpP )
@ 100x @ 40

@ 20
321250  CS

¢ 25
321250 CS

HRSA100x 450BL
SSAB100x 45-60

23
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13
1
¢ 300
1
1
@ 100
1
SUS304
M20x 85
10
SUS304
M16x 75
4
RF
¢ 300
1
RF
@ 100
1
K
@ 200
1
K
@ 150
1
K
@ 200
K 1
K
@ 150
K 1
A
¢ 300
A 1
K
@ 300 K
2
( )(CIP )
¢ 300
1
DCV
¢ 300
DCIP 1

24
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13

25
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14 DCIP GX ¢ 300
1
OCIP)GX 1
¢ 300x 6.000
87
T GX
@ 300x ¢ 100
1
T GX
@ 300x @ 150
1
GX
@ 300x 22 1/2°
3
GX
¢ 300x 45°
4
GX
@ 300x 22 1/2°
1
GX
@ 300x 45°
8
T GX 2 7.5K
@ 300x @ 75
4
GX
¢ 300 , @)
2
2 7.5K
@ 75x 500
4

26
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14 DCIP GX ¢ 300
GX
¢ 300
14
G-LinkGX
¢ 300
T B-N 28
GX
¢ 300
T B-N 9
SUS304
M16x 75
48
GF 1 GF
@ 75
8
RF
@ 75
4
GX FCD
@ 300
1
@ 75
1
@ 75
3
@ 75 h=150
4
FAJD
1

27
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14 DCIP GX @ 300
4 @600
4
4 H=50
4
4 H=200
4
4 H=300
4
4 H=300
4
4 H= 40
4
® 300X F60 16
® 300X 660 4

28
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15 DCIP GX ¢ 150
GX
@ 150x 22 1/2°
2
GX
¢ 150 , 2
1
G-LinkGX
@ 150
T B-N 3
GX
@ 150
T B-N 3
GX FCD
@ 150
1
FAKD SBB-41HU-EP
CVONS-176G-55LU
1

29
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16 DCIP GX ¢ 100
1
(OCIP)GX 1
@ 100x 4.000
9
T GX
@ 100x ¢ 100
4
GX
@ 100x 11 1/4°
1
GX
@ 100x 45°
2
GX
@ 100x 22 1/2°
2
GX
@ 100x 45°
3
GX
@ 100x H300
1
GX
@ 100x H450
1
GX
@ 100
1
GX
@ 100 , @)
12

30
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16 DCIP GX ¢ 100
GX
@ 100
12
G-LinkGX
@ 100
T B-N 47
GX
@ 100
T B-N 8
GX FCD
¢ 100
3
GX FCD
¢ 100
1
FAKD SBB-41HU-EP
CVONS-17G-55LU
5
T ( Y(CIP )K
@ 150%x ¢ 100
1
( )(OCIP )
@ 100
1

31
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17 HPPE ¢ 100
(HPPE)
¢ 100x 5.000
EF 59
(HPPE)
¢ 100x 5.000
6
EF
@ 100
11
EF 11 1/4°
@ 100
1
EF 45°
@ 100
6
EF 45°
@ 100
2
EF
@ 100x ¢ 100
2
EF S (300H)
@ 100
1
EF S (450H)
@ 100
1
PC
@ 100
T 1
PC
@ 150x ¢@ 100
T 1

32
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17 HPPE ¢ 100
PV
@ 100
T 1
GX
@ 100
3
@ 100
3
FAGD SBB-41LU-EP
CVONS-17G-39LU
4
ER-1
3
( YHIVP )
@ 100
1

33
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18
HPPE
¢ 20x 5.000
2
HPPE
¢ 25x 5.000
1
HPPE
¢ 40x 5.000
1
EF HPPE
@ 20
5
EF HPPE
@ 25
1
EF90° HPPE
@ 20
10
EF90° HPPE
@ 25
4
EF90° HPPE
@ 40
3
HPPE
¢ 20 NOJ-SS-AW 715520
3
HPPE
¢ 25 NOJ-SS-AW 715520
3
HPPE
¢ 40 NOJ-SS-AW 715520
4

34
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18

@ 20

PV NOJ-PV S
@ 20

HI TS
@ 20

HI TS
@ 25

HI TS
@ 40

HI TS
@ 40x @ 20

HI
@ 20

HI
@ 25

HI
@ 40

EF HPPE
@ 100x @ 20

35
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18

EF HPPE
@ 100x @ 25

(HPPE )
@ 100x @ 40

@cIpP )
@ 100x @ 20

@cIpP )
@ 100x @ 25

@ 20
321250  CS

¢ 25
321250 CS

@ 40
404011 STAA

SVS0000139

HRSA100x 450BL
SSAB100x 45-60

LHV4G-52PK
¢ 30 @ 30 40

36
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19
1
@ 75
1
1
@ 100
3
1
¢ 300
1
K
@ 100
2
K
@ 100 K
1
K
@ 300 K
1
RF
@ 75
1
RF
@ 100
3
RF
¢ 300
1
SUS304
M16x 75
16
SUS304
M20x 85
10
K
@ 100
K 2
DCV
@ 100
DCIP 1

37
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20 DCIP GX ¢ 300
DCIP GX @ 300
1
15cm
338.9
2
15cm 30cm
918:7
2t 10km
2.1
4:06 m3
5
Ocm 10cm
0.28m3 152.2 m2
3
15cm
410:1 m2
6
« D
4t 1.8km
DID 77.2 m3
As
1815
7
0.28n3(  0.2)
825.8 m3
4
30,000m3
5.2 m3
8
( )
0.28m3 187.7 m3
9
( )
0.28m3 8.6 m3
10
( )
40 Omm (RC-40)
0.28m3 435:7 m3

38




59 2

20 DCIP GX @ 300
1
11
4t 0.5km
DID 822:3 m3
12
10t 9km
DID 822.3 m3
3 )
822:3 m3
13
( 1.8 )
24cm(3 )
40 Omm 141:5 m2
14
( 1.8 )
20cm(2 )
40 Omm 8.9 m2
15
( 1.8 )
2 @ )
40 Omm 41031 m2
16
( 1.8 )
10 @ )
40 Omm 1.6 m2
17
( 1.8
22cm(2 )
40 Omm 419 m2
18
( 1.8
17cm(2 )
40 Omm 141:5 m2
19
C X a )
50mm (13)
t  50mm 41031 m2
20
C ) Ha)
30mm (13)
t  50mm 1.6 m2
21
C ) Ha)
30mm (13)
t  50mm 1505 m2
22
( )( )
2.0 44252
23
( )( )
2.5 165.5

39
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20 DCIP GX ¢ 300
24
( )
2.25
1
25
( )
2.69
1
DCIP GX ¢ 300
26
( )
300mm
623.3
27
300mm
102
28
300mm
21
29
G-Link 300mm
35
30
300mm
1
31
75(80)mm
SJWWA 7.5K 6
32
300mm
SJWWA 7.5K 2
33
( )
300mm
27
34
( )IGED]
300mm
10
35
A3 30 60kg 30kg
12
36
3

40
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20 DCIP GX ¢ 300
37
4 600mm
3
38
4 600 50
3
39
4 600 200
3
40
4 600 300
3
41
4 600 300
3
42
4 600 40
3
43
3
( ) DCIP
@ 300% @ 300
1
T (
K @ 300x ¢ 300
1
1
300mm 6
629
44
@ 350
@ 300x 6000
629
30 x 20m
( ) 949
45
628
2 150mmx 50m
( ) 628

41
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20

DCIP GX @ 300

42
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21 DCIP GX @ 200
DCIP GX ¢ 200
1
15cm
17:1
2t 10km
0:1
0:07 m3
3
15cm
5.2 m2
6
C D
4t 1.8km
DID 0.8 m3
As
2
7
0.28n3(  0.2)
5:1 m3
8
( )
0.28m3 1.3 m3
10
( )
40 Omm (RC-40)
0.28m3 2.3 m3
11
4t 0.5km
DID 5:1 m3
12
10t 9km
DID 5:1 m3
3 )
5:1 m3
15
( 1.8 )
12
40 Omm 5.2 m2

43




59 2
21 DCIP GX ¢ 200
17
( 1.8
22cm(2 )
40 Omm 5.2 m2
19
C X a )
50mm (13)
t  50mm 5.2 m2
22
( )( )
2.0 0:4
46
( )
0.09
1
DCIP GX ¢ 200
47
( )
200mm
8.2
48
200mm
2
49
200mm
4
50
G-Link 200mm
5
51
( )
200mm
5
52
( )G
200mm
1
35
A3 30 60kg 30kg
1
53
200mm 5
8.7
54
@ 350
@ 200x 5000
8.7

44
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21 DCIP GX @ 200
30 x 20m
( ) 9
45
8.5
2 150mmx 50m
( ) 8.5

45




59

22 DCIP GX ¢ 150
DCIP GX ¢ 150
1
15cm
8.5
2t 10km
0:1
0:03 m3
3
15cm
3 m2
6
C D
4t 1.8km
DID 0.5 m3
As
111
7
0.28m3( 0.2)
4:3 m3
8
( )
0.28m3 0.7 m3
10
( )
40 Omm (RC-40)
0.28m3 2.8 m3
11
4t 0.5km
DID 4.3 m3
12
10t 9km
DID 4:3 m3
3 )
4:3 m3
15
( 1.8 )
12
40 Omm 3 m2

46
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22 DCIP GX ¢ 150
17
( 1.8
22cm(2 )
40 Omm 3 m2
19
C X a )
50mm (13)
t 50mm 3 m2
22
( )( )
2.0 1:8
55
( )
0.37
1
DCIP GX ¢ 150
56
( )
150mm
4:1
57
150mm
1
58
150mm
4
59
G-Link 150mm
4
60
( )
150mm
3
61
( )IGED]
150mm
1
35
A 3 30 60kg 30kg
1
62
150mm 5
4.2
63
@ 350
@ 150x% 5000
42

47
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22 DCIP GX ¢ 150
30 x 20m
( ) 34
45
4:2
2 150mmx 50m
( ) 4:2

48
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23 ® 100
¢ 100
1
15cm
12
2t 10km
0:1
0:05 m3
3
15cm
5:4 m2
6
C D
4t 1.8km
DID 0:9 m3
As
2.1
7
0.28m3( 0.2)
4.5 m3
8
( )
0.28m3 1.3 m3
10
( )
40 Omm (RC-40)
0.28m3 1.9 m3
11
4t 0.5km
DID 4.5 m3
12
10t 9km
DID 4.5 m3
3 )
4.5 m3
15
( 1.8 )
12 (1
40 Omm 5:4 m2

49




59 2
23 @ 100
17
( 1.8
22cm(2 )
40 Omm 5:4 m2
19
C X a )
50mm (13)
t 50mm 5:4 m2
¢ 100
64
( )
100mm
5.7
65
100mm
1
66
100mm
2
67
G-Link 100mm
4
68
( )
100mm
3
69
( )G
100mm
1
35
A3 30 60kg 30kg
1
@ 125
1
70
100mm 4
6.1
71
@ 350
@ 100x 4000
6.1
30 x 20m
( ) 3.4

50
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23 ¢ 100
45
6
2 150mmx 50m
) 6

51
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24 HPPE ¢ 100
HPPE ¢ 100
1
15cm
309:4
2
15cm 30cm
78.3
2t 10km
02
0:35 m3
5
Ocm 10cm
0.28m3 92:8 m2
3
15cm
23.4 m2
6
« D
4t 1.8km
DID 8.6 m3
As
202
7
0.28m3( 0.2)
104.2 m3
8
( )
0.28m3 24:.5 m3
10
( )
40 Omm (RC-40)
0.28m3 36 m3
11
4t 0.5km
DID 10452 m3
12
10t 9km
DID 104:2 m3

52




59 2
24 HPPE ¢ 100
3 )
104.2 m3
13
( 1.8 )
24cm(3 )
40 Omm 92:8 m2
15
( 1.8 )
12 (1 )
40 Omm 23.4 m2
17
( 1.8
22cm(2 )
40 Omm 23.4 m2
18
( 1.8
17cm(2 )
40 Omm 92:8 m2
19
C X a )
50mm (13)
t  50mm 23.4 m2
20
C ) Ha)
30mm (13)
t  50mm 92:8 m2
HPPE ¢ 100
72
( EF )
100mm
193
73
( )
2 100mm
3
74
( )
1 100mm
38
75
( )
100mm
1
76
100mm
2
69
( )G
100mm
1

53
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24 HPPE ¢ 100
35
A3 30 60kg 30kg
1
7
100mm
1
78
@ 100
193:.8
30 x 20m
( ) 114:1
45
193.8
2 150mmx 50m
( ) 193.8

54
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25 DCIP GX ¢ 100
DCIP GX ¢ 100
1
15cm
35:4
2t 10km
0:1
0:05 m3
3
15cm
6.9 m2
6
C D
4t 1.8km
DID 0:9 m3
As
2.2
7
0.28n3(  0.2)
12:5 m3
8
( )
0.28m3 2.2 m3
10
( )
40 Omm (RC-40)
0.28m3 1.6 m3
9
( )
0.28m3 5.8 m3
11
4t 0.5km
DID 6.6 m3
12
10t 9km
DID 6.6 m3
3 )
6.6 m3

55




59 2
25 DCIP GX ¢ 100
79
( 1.8 )
27cm(3 )
40 Omm 6.9 m2
15
( 1.8 )
12 (1 )
40 Omm 3.6 m2
17
( 1.8
22cm(2 )
40 Omm 3.6 m2
19
C X a )
50mm (13)
t  50mm 3.6 m2
20
C ) Ha)
30mm (13)
t  50mm 6.9 m2
DCIP GX ¢ 100
64
( )
100mm
18:1
65
100mm
2
66
100mm
6
67
G-Link 100mm
14
68
( )
100mm
9
69
( )G
100mm
1
35
A3 30 60kg 30kg
1
70
100mm 4
18.2

56
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25 DCIP GX ¢ 100
71
@ 350
@ 100x 4000
18:2
30 x 20m
( 102
45
17.8
2 150mmx 50m
( ) 17.8

57
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26
15cm
417
15cm 30cm
3
2t 10km
0:1
0:05 m3
Ocm 10cm
0.28m3 9:9 m2
15cm
0:3 m2
0:1 m3
C D
4t 1.8km
DID 0i5 m3
As
1.1
Co [ 1
0:1
0.28m3( 0.2)
6.8 m3
30,000m3
2 m3
( )
0.28m3 1.5 m3

58




59 2
26
9
( )
0.28m3 m3
10
( )
40 Omm (RC-40)
0.28m3 m3
11
4t 0.5km
DID m3
80
10t 9km
DID m3
3 )
m3
15
( 1.8 )
12 (1 )
40 Omm m2
14
( 1.8 )
20cm(2 )
40 Omm m2
13
( 1.8 )
24cm(3 )
40 Omm m2
16
( 1.8 )
10 (1 )
40 Omm m2
79
( 1.8 )
27cm(3 )
40 Omm m2
81
( 1.8
15cm(2 )
40 Omm m2
18
( 1.8
17cm(2 )
40 Omm m2
17
( 1.8
22cm(2 )
40 Omm m2
82
C X a )
30mm (13)
t  50mm m2

59




59 2
26
19
C X a )
50mm (13)
t 50mm m2
20
C HC Ha)
30mm (13)
t 50mm m2
21
C HC Ha)
30mm (13)
t 50mm m2
5
24-12-25(20) 55% m3
83
20mm 100mm
84
25mm 100mm
85
20mm 100mm
86
25mm 100mm
87
40mm 100mm
88
20mm
89
25mm
90
40mm
91
( EF D
20mm

60




59

26
92
( EF )
25mm
12
93
( EF )
40mm
4
94
(
20mm
8
95
(
25mm
11
96
(
40mm
2
97
(
40mm
1
98
20mm
9
99
25mm
10
100
40mm
4
101
20mm
9
102
25mm
9
103
40mm
3
104
20mm
3
105
25mm
4

61




59

26
106
40mm
107
40mm
108
PP 20mm
109
PP 25mm
110
VP 20mm
111
VP 25mm

62
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27
1
15cm
13:2
2t 10km
0:1
0:02 m3
5
Ocm 10cm
0.28m3 5.3 m2
6
C D
4t 1.8km
DID 0.2 m3
As
0.6
7
0.28m3( 0.2)
5:1 m3
4
30,000m3
4.8 m3
8
( )
0.28m3 3.5 m3
10
( )
40 Omm (RC-40)
0.28m3 4 m3
11
4t 0.5km
DID 9:9 m3
12
10t 9km
DID 99 m3
3 )
9:9 m3
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27
13
( 1.8 )
24cm(3 )
40 Omm 5.3 m2
18
( 1.8
17cm(2 )
40 Omm 5.3 m2
82
C X a )
30mm (13)
t  50mm 5.3 m2
22
( )( )
2.0 3.5
112
( )
0.47
1
32
300mm
SJWWA 7.5K 1
113
100mm
SJWWA 7.5K 1
114
300mm
3
115
200mm
1
116
150mm
1
117
300mm
SJWWA 7.5K 1
118
100mm
SJWWA 7.5K 1
119
( )
200mm
1
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27
120
( )
150mm
1
121
Fy  ( )
300mm ( )
2
( )(OCIP )
@ 300
1
DCV DCIP
@ 300
1
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28
1
15cm
12
2
15cm 30cm
24
2t 10km
0
0 m3
5
Ocm 10cm
0.28m3 4 m2
3
15cm
8 m2
122
« D
4t 1.8km
DID 1 m3
As
4
7
0.28m3( 0.2)
10 m3
4
30,000m3
7 m3
8
( )
0.28m3 2 m3
9
( )
0.28m3 1 m3
10
( )
40 Omm (RC-40)
0.28m3 8 m3
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28
11
4t 0.5km
DID 15:7 m3
12
10t 9km
DID 15:7 m3
3 )
15:7 m3
13
( 1.8 )
24cm(3 )
40 Omm 2 m2
14
( 1.8 )
20cm(2 )
40 Omm 2 m2
15
( 1.8 )
12 (1 )
40 Omm 8 m2
17
( 1.8
22cm(2 )
40 Omm 10 m2
18
( 1.8
17cm(2 )
40 Omm 2 m2
20
C ) Ha)
30mm (13)
t 50mm 4 m2
20
C ) Ha)
30mm (13)
t 50mm 4 m2
19
C X a )
50mm (13)
t 50mm 8 m2
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29
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30 DCIP GX ¢ 300
DCIP GX @ 300
1
15cm
1,009.6
2t 10km
1:3
2.87 m3
123
10cm 15cm
0.28m3 454:3 m2
6
C D
4t 1.8km
DID 54:5 m3
As
128
7
0.28n3(  0.2)
683.7 m3
8
( )
0.28m3 149.6 m3
9
( )
0.28m3 199.2 m3
10
( )
40 Omm (RC-40)
0.28m3 113.4 m3
11
4t 0.5km
DID 484:4 m3
12
10t 9km
DID 5037 m3
3 )
503.7 m3
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30 DCIP GX @ 300
124
( 1.8 )
15cm(2
40 Omm 454:3 m2
17
( 1.8
22cm(2
40 Omm 162 m2
125
( 1.8 )
37cm(4
40 Omm 292:2 m2
19
C X a )
50mm (13)
t  50mm 454:3 m2
22
( )(
2.0 498:6
23
( )(
2.5 2.2
126
( )(
3.0 3.9
127
( )
2.25
1
128
( )
0.53
1
129
( )
1.12
1
DCIP GX ¢ 300
6
15cm
36.7
2t 10km
0:1
0312 m3
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30 DCIP GX @ 300
130
10cm 15cm
0.28m3 16:3 m2
131
« D
4t 1.8km
DID 2.3 m3
As
5:4
132
0.28n3(  0.2)
31:6 m3
133
( )
0.28m3 5:4 m3
134
( )
0.28m3 12:2 m3
135
( )
40 Omm (RC-40)
0.28m3 2.9 m3
136
4t 0.5km
DID 19:3 m3
137
( 1.8 )
38cm(4 )
40 Omm 12:2 m2
138
( 1.8 )
15cm(2 )
40 Omm 4:1 m2
139
( 1.8 )
38cm(4 )
40 Omm 12:2 m2
140
( 1.8
22cm(2 )
40 Omm 4:1 m2
141
C X a )
70mm (13)
50 t 70mm 12:2 m2
142
C X a )
50mm (13)
t 50mm 4.1 m2
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30 DCIP GX ¢ 300
143
( )( )
2.0 7.8
144
( )( )
3.0 10:3
DCIP GX ¢ 300
26
( )
300mm
510:4
27
300mm
83
28
300mm
9
29
G-Link 300mm
20
31
75(80)mm
SJWWA 7.5K 8
33
( )
300mm
19
34
( )G
300mm
1
35
A3 30 60kg 30kg
1
36
3
145
( )
75mm
1
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30 DCIP GX ¢ 300
37
4 600mm
4
38
4 600 50
4
39
4 600 200
4
40
4 600 300
4
41
4 600 300
4
42
4 600 40
4
43
4
146
300mm 6
5108
44
@ 350
@ 300x 6000
5108
30 x 20m
( ) 769.9
45
509:6
2 150mmx 50m
( ) 509: 6
( )
@500 L=2.9
50 1
147
(PIP)
0.4 m3
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30 DCIP GX ¢ 300
148
1
DCIP GX ¢ 300
149
( )
300mm
17.8
150
300mm
4
151
G-Link 300mm
8
152
( )
300mm
1
153
300mm 6
17.8
154
@ 350
@ 300x 6000
17.8
30 x 20m
( ) 268
155
17:.5
2 150mmx 50m
( ) 175
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31 DCIP GX ¢ 300
1
DCIP GX @ 300
1
15cm
5.5
2t 10km
0:1
0:02 m3
123
10cm 15cm
0.28m3 2.3 m2
6
C D
4t 1.8km
DID 0.3 m3
As
0.6
156
1
9
( )
0.28m3 1.6 m3
10
( )
40 Omm (RC-40)
0.28m3 1.2 m3
11
4t 0.5km
DID 37 m3
12
10t 9km
DID 3.7 m3
3 )
3.7 m3
124
( 1.8 )
15cm(2 )
40 Omm 1.8 m2
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31 DCIP GX ¢ 300
17
( 1.8
22cm(2 )
40 Omm 2.3 m2
19
C X a )
50mm (13)
t  50mm 2.3 m2
5
24-12-25(20) 554 2 m3
7
2.9 m2
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32 DCIP GX ¢ 150
DCIP GX ¢ 150
1
15cm
5.2
2t 10km
0:1
0:01 m3
123
10cm 15cm
0.28m3 1:5 m2
6
C D
4t 1.8km
DID 0:1 m3
As
0:3
7
0.28m3( 0.2)
2 m3
8
( )
0.28m3 0:3 m3
9
( )
0.28m3 0:1 m3
10
( )
40 Omm (RC-40)
0.28m3 1 m3
11
4t 0.5km
DID 2 m3
80
10t 9km
DID 2 m3
3 )
2 m3

7
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32 DCIP GX ¢ 150
15
( 1.8 )
12 (1 )
40 Omm m2
17
( 1.8
22cm(2 )
40 Omm m2
19
C X a )
50mm (13)
t 50mm m2
DCIP GX ¢ 150
56
( )
150mm
58
150mm
59
G-Link 150mm
60
( )
150mm
61
( )IGED]
150mm
35
A 3 30 60kg 30kg
62
150mm 5
63
@ 350
@ 150% 5000
30 x 20m
( )
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32 DCIP GX ¢ 150
45
2.6
2 150mmx 50m
) 2.6
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33 HPPE@ 100
HPPE ¢ 100
1
15cm
666: 1
2t 10km
0:3
077 m3
5
Ocm 10cm
0.28m3 193:1 m2
123
10cm 15cm
0.28m3 6.5 m2
2.2 m2
6
« D
4t 1.8km
DID 7.5 m3
As
1638
7
0.28m3(  0.2)
186.9 m3
4
30,000m3
1:1 m3
8
( )
0.28m3 41:1 m3
9
( )
0.28m3 111:6 m3
10
( )
40 Omm (RC-40)
0.28m3 2.1 m3
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33 HPPE@ 100
11
4t 0.5km
DID 74.3 m3
80
10t 9km
DID 74.3 m3
3 )
74.3 m3
79
( 1.8 )
27cm(3 )
40 Omm 42.8 m2
14
( 1.8 )
20cm(2 )
40 Omm 6.3 m2
124
( 1.8 )
15cm(2 )
40 Omm 8.8 m2
157
( 1.8 a )
10
40 Omm 144 m2
17
( 1.8
22cm(2 )
40 Omm 12:9 m2
158
( 1.8 )
10 @ )
30 Omm 2.2 m2
19
C X a )
50mm (13)
t  50mm 6.5 m2
82
C X a )
30mm (13)
t  50mm 49:1 m2
20
C ) Ha)
30mm (13)
t 50mm 144 m2
159
8cm
100m2 2.2 m2
22
( )( )
2.0 2.2
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33 HPPE@ 100
160
(
0.23
1
HPPE ¢ 100
72
( EF D
100mm
331i5
73
( )
2 100mm
13
74
( )
1 100mm
76
75
(
100mm
4
76
100mm
11
161
100mm
1
162
150mm
1
163
100mm
1
164
Fy  ( )
100mm (
1
165
Fy  ( )
150mm (
1
69
( )(
100mm
3
35
A3 30 60kg 30kg
4

82
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33 HPPE@ 100
7
100mm
3
( Y(HIVP )
@ 100
1
78
@ 100
334:1
30 x 20m
( ) 19657
45
333:.6
2 150mmx 50m
( ) 3336
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34 DCIP GX @ 100
DCIP GX ¢ 100
1
15cm
100.5
2t 10km
0:1
0:14 m3
5
Ocm 10cm
0.28m3 1614 m2
123
10cm 15cm
0.28m3 13.5 m2
6
« D
4t 1.8km
DID 2.1 m3
As
4:3
7
0.28m3( 0.2)
30:L7 m3
4
30,000m3
0.6 m3
8
( )
0.28m3 6.2 m3
9
( )
0.28m3 17.8 m3
10
( )
40 Omm (RC-40)
0.28m3 1.6 m3
11
4t 0.5km
DID 14:4 m3

84
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34 DCIP GX ¢ 100
80
10t 9km
DID 14 m3
3 )
14 m3
14
( 1.8 )
20cm(2 )
40 Omm 3 m2
124
( 1.8 )
15cm(2 )
40 Omm 13 m2
166
( 1.8 a )
10 1
40 Omm 13 m2
125
( 1.8 )
37cm(4 )
40 Omm 8 m2
17
( 1.8
22cm(2 )
40 Omm 8 m2
19
C X a )
50mm (13)
t  50mm 13 m2
82
C X a )
30mm (13)
t 50mm 3 m2
20
C ) Ha)
30mm (13)
t  50mm 13 m2
DCIP GX ¢ 100
64
( )
100mm
45
65
100mm
12
66
100mm
9

85
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34 DCIP GX @ 100
67
G-Link 100mm
46
68
( )
100mm
33
69
( )IGED]
100mm
4
35
A3 30 60kg 30kg
5
( SUs) T ( )
90° 45° 22 1/2° 11 1/4° @ 150x ¢ 100
1
( )(OCIP )
@ 100
1
70
100mm 4
47.9
71
@ 350
@ 100x 4000
47.9
30 x 20m
( ) 27
45
47.3
2 150mmx 50m
( ) 47.3
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35
1
15cm
25.6
2
15cm 30cm
8
2t 10km
0:1
0:02 m3
5
Ocm 10cm
0.28m3 6.5 m2
0.2 m3
167
« D
4t 1.8km
DID 0.4 m3
As
0.5
Co [ 1
0.4
7
0.28m3( 0.2)
3.8 m3
4
30,000m3
2.8 m3
8
( )
0.28m3 1 m3
9
( )
0.28m3 3.8 m3
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35
168
4t 0.5km
DID m3
80
10t 9km
DID m3
3 )
m3
14
( 1.8 )
20cm(2 )
40 Omm m2
166
( 1.8 a )
10 1
40 Omm m2
79
( 1.8 )
27cm(3 )
40 Omm m2
17
( 1.8
22cm(2 )
40 Omm m2
81
( 1.8
15cm(2 )
40 Omm m2
19
C X a )
50mm (13)
t 50mm m2
82
C X a )
30mm (13)
t 50mm m2
20
C HC Ha)
30mm (13)
t 50mm m2
21
C HC Ha)
30mm (13)
t 50mm m2
5
24-12-25(20) 55% m3
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35
83
20mm 100mm
4
84
25mm 100mm
1
169
40mm 100mm
2
85
20mm 100mm
1
86
25mm 100mm
1
88
20mm
1
89
25mm
1
91
( EF )
20mm
8
92
( EF D
25mm
4
93
( EF D
40mm
4
94
(
20mm
15
95
(
25mm
5
96
(
40mm
3
98
20mm
14

89
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35
99
25mm
6
100
40mm
5
101
20mm
15
102
25mm
6
103
40mm
6
104
20mm
5
105
25mm
2
106
40mm
2
108
PP 20mm
3
109
PP 25mm
2
170
PP 40mm
2
110
VP 20mm
3
111
VP 25mm
2
171
VP 40mm
2

90




59

35

91
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36
1
15cm
1,529.2
2
15cm 30cm
938:8
2t 10km
3.7
7.44 m3
5
Ocm 10cm
0.28m3 165.8 m2
123
10cm 15cm
0.28m3 505:3 m2
3
15cm
418:5 m2
167
C D
4t 1.8km
DID 138.9 m3
As
3265
7
0.28m3( 0.2)
1,573.3 m3
4
30,000m3
2.3 m3
9
( )
0.28m3 666 m3
10
( )
40 Omm (RC-40)
0.28m3 651:8 m3
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36
168
4t 0.5km
DID 909 m3
12
10t 9km
DID 962 m3
3 )
962 m3
13
( 1.8 )
24cm(3
40 Omm 141 m2
14
( 1.8 )
20cm(2
40 Omm 7 m2
124
( 1.8 )
15cm(2
40 Omm 498 m2
15
( 1.8 )
12 (1 )
40 Omm 418 m2
16
( 1.8 )
10 (1 )
40 Omm 5 m2
79
( 1.8 )
27cm(3
40 Omm 11 m2
125
( 1.8 )
37cm(4
40 Omm 302 m2
17
( 1.8
22cm(2
40 Omm 621 m2
18
( 1.8
17cm(2
40 Omm 141 m2
19
C X a )
50mm (13)
t  50mm 917 m2
82
C X a )
30mm (13)
t  50mm 148 m2
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36
21
C ) Ha)
30mm (13)
t  50mm 13:4 m2
20
C ) Ha)
30mm (13)
t  50mm 3.5 m2
22
( )( )
2.0 1,093:4
23
( )( )
2.5 38
172
)
5.8
1
173
)
5.44
1
174
)
4.14
1
6
15cm
51:8
2t 10km
0:1
0:.17 m3
130
10cm 15cm
0.28m3 33.6 m2
175
« D
4t 1.8km
DID 4.6 m3
As
10:8
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36

132
0.28m3(  0.2)
76 m3
133
( )
0.28m3 35 m3
135
( )
40 Omm (RC-40)
0.28m3 10 m3
134
( )
0.28m3 23 m3
176
4t 0.5km
DID 53 m3
137
( 1.8 )
38cm(4
40 Omm 19 m2
138
( 1.8 )
15cm(2
40 Omm 14 m2
139
( 1.8 )
38cm(4
40 Omm 19 m2
140
( 1.8
22cm(2
40 Omm 14 m2
141
C X a )
70mm (13)
50 t 70mm 19 m2
142
C X a )
50mm (13)
t 50mm 14 m2
144
( )(
3.0 25
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36
177
300mm
1,125.7
178
200mm
7.1
179
150mm
8.8
180
100mm
88.7
181
75mm
2.6
182
)
100mm 5.5
5:4
183
100mm
4.6
121
Fy  (
300mm (
281
184
Fy  (
200mm (
1
165
Fy  (
150mm (
2
164
Fy  (
100mm (
22
185
(STW370) ( )
100mm
1
186
100mm
1
58:9 m3
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36
1.6 m3
1t
17
0:04 m3
4t
1
187
6
188
( )
75mm
1
189
30 60kg 30kg
11
190
(
4 600mm
4
191
(
2 600x 500mm
3
32
300mm
SJWWA 7.5K 1
113
100mm
SJWWA 7.5K 3
31
75(80)mm
SJWWA 7.5K 1
192
100mm
1
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36
161
100mm
2
114
300mm
1
DCV DCIP
@ 100
1
193
)
300mm 6.0
31
194
2 m3
195
(STW370) )
300mm

98
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37
1
15cm
28
2t 10km
0:1
0:08 m3
123
10cm 15cm
0.28m3 8 m2
6
C D
4t 1.8km
DID 0:9 m3
As
2.2
7
0.28m3( 0.2)
7 m3
4
30,000m3
3.3 m3
8
( )
0.28m3 1.7 m3
9
( )
0.28m3 2.8 m3
10
( )
40 Omm (RC-40)
0.28m3 2.8 m3
168
4t 0.5km
DID 5.7 m3
12
10t 9km
DID 5.7 m3

99




59 2
37
3 )
m3
124
( 1.8 )
15cm(2
40 Omm m2
17
( 1.8
22cm(2
40 Omm m2
125
( 1.8 )
37cm(4
40 Omm m2
19
C X a )
50mm (13)
t 50mm m2

100




59 2
38
1
15cm
184.4
2
15cm 30cm
35:9
2t 10km
1
0:58 m3
3
15cm
2,066 m2
3
15cm
3005 m2
8
« D
1.6km DID 172.7 m3
As
405.8
9
9mm 13mm
RM40 1,208:8 m2
196
( 1.8 a
0.01
40 Omm 1,157:.7 m2
10
( )1 30mm
(13)
1.4 3.0m 893:8 m2
11
( )1 50mm
(13)
3.0m 4233 m2

101
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38
12
( )1 50mm
(13)
3.0m 1,049 m2
13
( )1 70mm
(20)
3.0m 748 m2
14
( )1 50mm
(13)
3.0m 300 m2
15
( )1 70mm
(13)
3.0m 300 m2
197
7cm
594 m2
198
7cm
1,921 m2
199
7cm 12cm
1,761 m2
199
7cm 12cm
1,921 m2
16
( )
DID
0.2km 567 m3
As
1,334
200
15cm
1.5mm

1,769

102




59 2

38
201
45cm
1.5mm
329
202
30cm
1.5mm
68
203
15cm
1.5mm
134
204
45cm
1.5mm
64
40
1
6
15cm
26
17
15cm
108 m2
18
« D
1.6km DID 16 m3
As
38
19
9mm 13mm
RM40 108 m2
20
( )1 50mm
(13)
3.0m 108 m2
21
( )1 50mm
(20)
3.0m 108 m2
22
( )1 50mm
(20)
3.0m 108 m2

103
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38

104
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39

105
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40

@ 80

650mm

106




59

300mm

6

100

300mm

128

333

@ 300

156

667

107
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12

10km

108




59

109




59

10km

10km

110




59

111




59

0.28m3,

Ocm

10cm

100

m2

0.28m3(

0.2)

112
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©ID

4t

1.8km

10

m3

4t

113
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0.28m3(

0.2)

100

m3

0.28m3(

0.2)

114
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0.28m3

100

m3

0.28m3(  0.2)

60 80kg

133

m3

115
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0.28m3

100

m3

0.28m3(  0.2)

60 80kg

133

m3

116
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10 40 Omm (RC-40)
0.28n3 , )
100 m3
+
0.28m3(  0.2)
22
C )
60 80kg
RC-40
127 m3
1

117




59

11

©ID

4t

0.5km

10

m3

4t

118
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12

©ID

10t

9km

100

m3

10t

119
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13 1.8 ) 24cem(3 )
40 Omm , )
m2
205
1.8 )a
0.1
40 Omm m2
205
1.8 )@
0.1
40 Omm m2
206
1.8 )a
0.04
40 Omm m2

120
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14 1.8 20cm(2 )
40 Omm , )
m2
205
1.8 )a
0.1
40 Omm m2
205
1.8 )@
0.1
40 Omm m2

121
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15 ( 1.8 ) 2 )
40 Omm )
m2
207
( 1.8 a )
0.12
40 Omm 1 m2

122
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16 ( 1.8 ) 10 1 )
40 Omm )
m2
205
( 1.8 a
0.1
40 Omm 1 m2

123
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17 ( 1.8 22em(2 )
40 Omm , )
m2
208
1.8 pI¢!
0.1
40 Omm 1 m2
209
1.8 pI ¢!
0.12
40 Omm 1 m2

124
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18 ( 1.8 17em(2 )
40 Omm , )
m2
208
1.8 )@@
0.1
40 Omm 1 m2
210
1.8 )@@
0.07
40 Omm 1 m2

125
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19 )( a ) 50mm (13)
(t 50mm )
100 m2
(13)
12:573
PK-3 -
( ) 0.5 0.6t
( )
40 60kg

126
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20 o Ha ) 30mm (13)
(t 50mm )
100 m2
(13)
7.095

PK-3 -
( ) 0.5 0.6t

( )
40 60kg

127




59

21 o Ha ) 30mm (13)
(t 50mm )
100 m2
(13)
7.26

PK-3 -
( ) 0.5 0.6t

( )
40 60kg

128
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22 ( )(
2.0
100
211
2.0
100
212
2.0
100
213
(
1 2.0
100

129
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23 ( )(
2.5
100
214
2.5
100
215
2.5
100
216
(
2 3.5
100

130




59

24

90




59

25

90




59

26

)

300mm

10

4 4.5t

2.9t

133
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27

300mm

134




59

28

300mm

135
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29

G-Link

300mm

136
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30

300mm

137
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31

(

cJWWA 7.5K

75(80)mm

138
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32

(

cJWWA 7.5K

300mm

139




59

33

)

300mm

140
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34

)(

)

300mm

4 4.5t

2.9t

141
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35

30

60kg

30kg

142
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36

4 4.5t

2.9t

143
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37

4

600mm

144




59

38

) 4

600

50

145
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39

) 4

600

200

146
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40

) 4

600

300

147
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41

) 4

600

300

148




59

42

) 4

600

40

149
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43
23
096/ m3
50-150mm
109 m3
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14 )1 50mm 13)
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(D) ()
« D
[ 1
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[A1] = 11 (13) [34]=1 PK-
[J6] =1

384




59

15 ( )1 70mm (13)
3.0m m2
) (D)
[ 1 2.3 6.0m
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8 20t
[ 1
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« D
« D
« D
13)

PK-3 -
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15 ( )1 70mm (13)
3.0m m2
) (D)
« D
[ 1

[J2] = 70.000 mm [J1]/= 4 3.0m
[AL] = 11 (13) [J4] = 3 PK-3
[J6] = 1
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16 ) DID
0.2km m3
(D) (D)
10

« )
[ 1
[311 =1 DID [32] = 0. 2km
[41 = 1
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17 15cm

() ()

( N1
0.45m3( 0.35m3)

« )

1
[311 = 1 [321 =1
[J31 =1 [J4]|= 4 15cm
[J6] =1 [g71=1
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18 C )
(L.6km DID m3
) (D)
10
C )
[ 1

[011 =1 ( [321 =1

[331=1 DID DID [JE] =1 1.6km

[3J]1 =1
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19 omm  13mm
RM40 m2
(D) ()
[ 1 2
3.1
12
10t 2.1m
[ 1
8 20t
« D
RM-40
1
[J1] = 2 [02] = 4 9mm 13mm
[J3] =9 RM40 [J4] =1
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20 ( )1 50mm (13)
3.0m m2
) (D)
[ 1 2.3 6.0m
[ 1
8 20t
[ 1
10 12t
« )
« )
« )
13

PK-4 -
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20 ( )1 50mm (13)
3.0m m2
) (D)
« )
[ 1

[J2] = 50.000 mm [91] = 4 3.0m
[A1] = 11 13) [34] = 1 PK-
[J6] = 1
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21 )1 50mm (20)
3.0m m2
) (D)
[ 1 2.3 6.0m
[ 1
8 20t
[ 1
10 12t
« D
« D
« D
(20)

PK-4 -
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21 )1 50mm (20)
( 3.0m m2
(D) (D)
« D
[ 1

[J2] = 50.000 mm [91] = 4 3.0m
[AL] = 12 (20) [34] = 1 PK-
[J6] = 1
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22 ( )1 50mm (20)
3.0m m2
) (D)
[ 1 2.3 6.0m
[ 1
8 20t
[ 1
10 12t
« D
« D
« D
(20)

PK-3 -
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22 ( )1 50mm (20)
3.0m m2
) (D)
« D
[ 1

[J2] = 50.000 mm [J1]/= 4 3.0m
[AL] = 12 (20) [J4] = 3 PK-3
[J6] = 1
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23
m3
(D) ()
60 80kg
1
[J1] = 6 [J21 =1
[J3] =1 [J4] =1
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24
(24-12-25(20)  55% m3
(D) (D)
L
90 110m3/
C )
C )
C )

24-12-25(20)

55%
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24
(24-12-25(20)  55% m3
(D) (D)
1

1] = 1 [39] = 1

[N1] = 27 24-12-25(20) W/C55% [4] =1 10m3  100m3

5] = 1 [J6] = 1

[B] = 1 [N3] = 1

[Nv] =1
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3 DP=0.75 |T73ENo.35
HTERE ¢ 300 H=1.070 [#&HIME = 0.70 m 5.27 5.27
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7 DP=1.30 |T73&No.35
R3¢ 300 | H=1.920 [4REIE = 1.60 m 1.72 1.72
8 DP=1.30 |T73&No.37
BraxE ¢ 300 H=1.620 |#HIME = 0.90 m | 157.31 154.41 + 2.90
9 DP=0.85 |Hii&No. 41
B 6 300 H=1.170 |#EHIfE = 0.70 m 2.40 2.40
JNEF 625.45 m
[DCIP ¢200]
10 DP=0.90 |T73&No.35
R 9200 | H=1.120 |#RHEIE = 0.60 m 8.13 8.13
11 DP=1.30 |T73&No.35
R 9200 | H=1.520 |#BHEIE = 0.90 m 0.46 0.46
INEF 8.59 m
[DCIP ¢ 150]
12 DP=1.33 |T13&No.35
R ¢ 150 H=1.500 [#&HIME = 0.60 m 2.45 2.45
13 DP=1.50 |T73&No.35
R ¢ 150 H=1.670 [#&HIME = 0.90 m 1.81 1.81
NEF 426 m
[FLo ¢100]
14 DP=0.90 |T73&No.35
R 100 | H=1.020 |#REIE = 0.60 m 6.00 6.00
JNEF S 6.00 m
[HPPE ¢ 100]
15 DP=0.85 |T73ENo.35
R ¢ 100 H=0.970 [#&HIME = 0.60 m | 39.15 39.15
16 DP=0.85 |T13ENo.37
HERE ¢ 100 H=0.970 [#&HIME = 0.60 m | 154.74 154.74
JNEF 193.89 m

BOP | R KGE 3]




X%ilf@ﬁ?)ﬁp%

BN UI0)

]

) S ¥iva =N = >

A lmwean| mom g | ) BB i oK
[DCIP ¢ 100]
17 DP=0.90 |T73iENo.#x3

R 100 | H=1.020 |#REIIE = 0.60 m 1.68 1.68
18 DP=1.30 |T7iENo.#x3

R 9100 | H=1.420 |#REIIE = 0.60 m 9.99 9.99
19 DP=0.85 |Hii&No.35

R ¢ 100 H=0.970 [#&HIME = 0.60 m 4.37 4.37
20 DP=1.35 |Hii&No.35

R ¢ 100 | H=1.470 |#REIIE = 0.60 m 1.68 1.68

NEF 1772 m

[FHiELT]
23 iiENo.1

AiE LT H=1.500 |#HIME = 1.00 m 2.00 2.00
24 i1ENo0.35

I L H=1.500 |##AIIE = 1.00 m 8.00 200 + 200 + 200 + 2.00
25 iENo.37

AE LT H=1.500 |#HIME = 1.00 m 2.00 2.00

JNEF 12.00 m

BOP | R KGE 3]




DP)| & & l S - i

AP lmman| mom o w | ER room &
[DCIP ¢ 300]
921 DP=1.30 |T73&No.37

Rk 7k ¢ 300 | H=1.920 |#REIHE = 1.40 m 1.90 1.900
99 DP=1.30 |T73&No.37

Rk 7k ¢ 300 | H=1.920 |#REIHE = 1.70 m 1.60 1.600

bEF 3.50 m

BOP | R KGE 3]



DCIP ¢ 300 --T4E5}

) + T % A4 7 .
L oA 12l sl 4|56 7] s8]0 ;
(t=5cm) [(t=5cm) (t=5cm) [(t=3cm)
, " As t=15cmPLF 7.60] 11.90 314.62| 4.80[ 338.9 m
A At t *
éﬁ = Hﬁ 5 W L (t=17cm) |(t=17cm) |(t=17cm) |(t=17cm) |(t=17cm)
As t=15~30cmEl T 10.54| 19.98]|872.58] 9.04| 6.64 918.7 m
SHEERREIEIE 5cm
B Wy A
AS ) Wr ¥ K A 5 SEAER SIS 17em
SHEERE IR 3em 4.06 m*
S0 o e U3 ) T | L 10emBL T 3.60] 5.35 141.57| 1.68] 152.2 m®
t=15~40cmbh F 3.68] 6.99/392.66| 4.06| 2.75 410.1 m*
BB Hl T (/) | Syrky 0.28m’ 3.42| 8.40| 3.32| 7.34(569.35| 7.52| 2.28/222.27| 1.91| 825.8 m®
AN D HEE T (L) 3.15 2.14 5.2 m®
JE M gL | AsHZ L= 9.6km 0.18] 0.26] 0.62| 1.18] 66.75| 0.69] 0.46] 7.07| 0.05] 77.2 m®
|53 M AL 2 | Asg 77.26 X 2.35 t/m’ 181.5 t
A AE T (W) L= 8.9km 3.87| 4.39] 3.32| 7.34(569.35| 6.67| 4.29|222.27| 0.87| 822.3 m®
oA EORE L | NyrERY0.28m 2.43] 1.77] 1.12| 2.13[129.82| 1.34| 1.84| 46.81| 0.51] 187.7 m®
e 7 B R L L | ~yzdwy0.28m 0.95[ 2.86(318.05| 4.06| 2.22/107.60 435.7 m’
A+ R L L | ~Nyzky 0.28m? 2.70| 4.01 0.85 1.04 8.6 m’
FAELAMA ,
T oE B O T | t=24cm (FiH) 141.57 141.5 m’®
FAEYLAA .
T B A T | t=20cm (Hij#) 3.60[ 5.35 8.9 m’
FAEYLA A .
T oE ¥ B T | t=12cm(#H) 3.68| 6.99/392.66 4.06| 2.75 410.1 m’
FAEYLAA )
T oE ¥ & T | t=10cm (FiH) 1.68] 1.6 m’
AR TG ,
E @ B T | t=22cm(#H) 3.60| 5.35 3.68| 6.99|392.66] 4.06| 2.75 419.0 m’
AR TR ,
B B OB T | t=17cm(#H) 141.57 141.5 m*
FHERRIET A= ,
i 8 1H F B T | t=5cm(&#H) 3.68] 6.99|392.66] 4.06] 2.75 410.1 m®
FHERRIET A= ,
i 8 1B £ B T |t=3cmEH) 3.60] 5.35 141.57 150.5 m*
AR E T Ay ’
i 8 B £ B T |t=3mOkyE) 1.68 1.6 m*
) W BBl KA T CiA A
+ 2 T. | H=2.0m 1% 5.95 436.29 442.2 m
) W BBl KA T CiA A
+ 2 T. | H=2.5m 28% 2.00 4.52 1.72[157.31 165.5 m

YR B B KE AR 3E]




DCIP ¢ 300 + T 3l&&

HAT

1 i -l
AWK 53 = T.O
BEERE  $300 DP= 1,300 1800
L 1 <
fiiENo. 1 o
= ns | EERIEAS
| AR R
o | YA g
Lo % NS i
s © TR 1)
> (+#)
P OFAET E
ANTJHEH]
(L)
3 R <
o~
BEaR (DCIP) ¢ 300
[ = 2.000 m4V
T g &t B = ¥ &
O R OB W L 2.000 2 + 1.800 X 2 - 7.600 7.60 m
Al S IRCERCEE L PR A T 1.800 X 2.000 - 3.600 3.60 m”
I E T () 1.800 0.950 X 2.000 - 3.420 3.42 m®
ANFT#HE TCER) [ 1.800 0.920 - 7/4 X 0.320 2 ) X 2000 -  3.151 3.15 m*
53 w7 pEet & 3.600 0.050 - 0.180 0.18 m*
BT (W) 3.420 3.151 - 2.700 - 3.871 3.87 m*
BoA o E L T |( 1.800 0.720 - /4 X 0.320 2 ) X 2.000 - 2431 2.43 m*
» E + # K L L 1.800 0.750 X 2.000 - 2700 2.70 m*
t=20cm ‘
T B ¥ % T 1.800 2.000 - 3.600 3.60 m”
t=22cm ‘
B O B T 1.800 2.000 - 3.600 3.60 m”
t=3cm ‘
) 18 IH B T 1.800 X 2.000 - 3.600 3.60 m”
H=2.50m
+ ® T = 2.000 2.00 m

YOP | o By KB A E ]




DCIP ¢ 300 + T 3l&&

2T 2

KU 1B 1H
HrEX® $300 DP= 1,300 900
L 1 <
fiiENo. 1 o
S As R As
AR R
| FEONARA g
o i
[aN]
© o
_j o~
2 o
— Bewdrdl - RAeL I
(tw)
D PR S
‘s (DCIP) ¢ 300
L= 5.950 m34Y
T ff &t B X &
2 AR B Mr T 5.950 2 - 11.900 11.90 m
A % R BUCEE L SR HI T 0.900 X _  5.355 5.35 m”
BB E T+ ) 0.900 1.570 X 5.950 - 8.407 8.40 m*
53 w7 pEet & 5.355 0.050 - 0.267 0.26 m*
OB T (W) 8.407 4.016 - 4.391 4.39 m*
H AW HE KL T 0.900 0.420 - /4 X 0.320 2 ) X 5950 - 1.770 1.77 m’
» E + # K L L 0.900 0.750 X 5.950 - 4.016 4.01 m*
t=20cm ‘
T B ¥ % T 0.900 5.950 - 5.355 5.35 m”
t=22cm ‘
B O B T 0.900 5.950 - 5.355 5.35 m”
t=3cm ‘
. & 1A B T 0.900 X _  5.355 5.35 m”
H=2.00m
+ B T = 5.950 5.95 m

YOP | o By KB A E ]




DCIP ¢ 300 + T 3l&&

2473

KU 1B 1H
PRk 6300 DP= 750 700
L 1 <
11ENo.35 e
o As R As
AR R
| FEOLAREG S
o i
o~
S
> S ;
-8 : . o
BEmARE | AR ULAREA o
(tw)
D PR S
‘e (DCIP) ¢ 300
L= 5.270 m4Y
T & it C ey ¥ B
2 AR B Mr T 5.270 2 - 10.540 10.54 m
A % R BUCEE L SR HI T 0.700 X -~ 3.689 3.68 m’
BB E T+ ) 0.700 0.900 X 5.270 - 3.320 3.32 m*
53 w7 pEet & 3.689 0.170 - 0.627 0.62 m*
OB T (W) 3.320 - 3.320 3.32 m*
H AW HE KL T 0.700 0.420 - /4 X 0.320 2 ) X 5270 -  1.125 1.12 m’
e 7 W K L L 0.700 0.260 X 5.270 - 0.959 0.95 m*
t=12cm
T B ¥ % T 0.700 5.270 - 3.689 3.68 m”
t=22cm ‘
B O B T 0.700 5.270 - 3.689 3.68 m”
t=5cm ‘
R ## 1B £ B T 0.700 X -~ 3.689 3.68 m”

YOP | o By KB A E ]




DCIP ¢ 300 + T 3l&&

ZAT 4

KU 1B 1H
B 6300 DP= 900 700
L 1 <
11ENo.35 e
= ne  TEBRIEAs
AR R
| FEOLAREG S
o i
[aN]
N o
=8 :
- By A ODARE =
(k)
Dﬁé@ S
grx’s (DCIP) ¢ 300
[ = 9.990 m4V
T g &t B = ¥ &
2 AR B Mr T 9.990 2 - 19.980 19.98 m
Al S IRCERCEE L PR A T 0.700 X 9.990 - 6.993 6.99 m*
BB E T+ ) 0.700 1.050 X 9.990 - 7.342 7.34 m’
53 iz pEet & 6.993 0.170 - 1.188 1.18 m’
OB T (W) 7.342 - 7.342 7.34 m’
HoAE R OE R L T 0.700 0.420 - /4 X 0320 2 ) X 9990 -  2.133 2.13 m’
e 7 W K L L 0.700 0.410 X 9.990 - 2.867 2.86 m*
t=12cm
T B ¥ % T 0.700 9.990 - 6.993 6.99 m*
t=22cm ‘
B O B T 0.700 9.990 - 6.993 6.99 m*
t=5cm ‘
R % 1B # B L 0.700 X 9.990 - 6.993 6.99 m*

YOP | o By KB A E ]




DCIP ¢ 300 + T 3l&&

&47 5 ﬂ ‘é’u /E IEI
HrEX® $300 DP= 1,300 900
o
Tfi1ENo.35 ; ©
= ne  TEBRIEAs
AR R
| A GNARE 8
o i
[aN] hi
© S i
=2 :
- By A ODARE =
(k)
D PR S
L\ _giak% (DCIP) ¢ 300
[, = 436.290 m4Y
T g &t B = =
2 AR B Mr T 436.290 X 2 - 872.580 872.58 m
Al S IRCERCEE L PR A T 0.900 X 436.290 - 392.661 392.66 m®
BB E T+ ) 0.900 X 1.450 X 436.290 - 569.358 569.35 m’
53 iz T il 392.661 X 0.170 - 66.752 66.75 m’
OB T (W) 569.358 - 569.358 569.35 m®
BA M E R L T [( 0900 X 0420 - x/4 X 0320 2 ) X 436.290 - 129.829 129.82 m*
e on MR L L 0.900 X 0.810 X 436.290 - 318.055 318.05 m®
t=12cm
T B ¥ % T 0.900 X 436.290 - 392.661 392.66 m®
t=22cm ‘
B O B T 0.900 X 436.290 - 392.661 392.66 m*
t=5cm
= 5 H £ B T 0.900 X 436.290 - 392.661 392.66 m*
H=2.00m
+ ® T = 436.290 | 436.29 m

YOP | o By KB A E ]




DCIP ¢ 300 + T 3l&&

ZAT 6

KU 1B 1H
HrEx® $300 DP= 1,700 900
L 1 <
11ENo.35 e
= ne  TEBRIEAs
AR R
| A GNARE 8
o i
[N} hi
=1 o i o
N R P AEYLAREA =
— %W@ﬁu ; —
D PR S
‘s (DCIP) ¢ 300
L= 4.520 m4Y
T g &t B = ¥ &
2 AR B Mr T 4.520 2 9.040 9.04 m
Al S IRCERCEE L PR A T 0.900 X 4.520 4.068 4.06 m*
BB E T+ ) 0.900 1.850 X 4.520 7.525 7.52 m’
53 w7 pEet & 4.068 0.170 0.691 0.69 m*
OB T (W) 7.525 0.854 6.671 6.67 m®
HoAE R OE R L T 0.900 0.420 — /4 X 0320 2 ) X 4.520 1.345 1.34 m*
» E + # K L L 0.900 0.210 X 4.520 0.854 0.85 m*
e oM OR L L 0.900 1.000 X 4.520 4.068 4.06 m*
t=12cm
T B ¥ % T 0.900 4.520 4.068 4.06 m*
t=22cm ‘
B O B T 0.900 4.520 4.068 4.06 m*
t=5cm ‘
R % 1B # B L 0.900 X 4.520 4.068 4.06 m*
H=2.50m
+ B T 4.520 4.52 m

YOP | o By KB A E ]




DCIP ¢ 300 + T 3l&&

&47 7 ﬂ ‘é’u /E IEI
AWK o3I - T.Q
BEERE  $300 DP= 1,300 1600
. i <
i1 No.35 i e
= ne  TEBRIEAs
AR R
o | AR GLARG S
s @ Hemams |
S (twp) !
L AEYLARER §
ISiE
(L)
3 R 5
o~
BEaRE (DCIP) ¢ 300
L= 1.720 m4Y
T g &t B = ¥ &
O R OB W L 1.720 2 + 1.600 X 2 ~ 6.640 6.64 m
Al S IRCERCEE L PR A T 1.600 X 1.720 - 2752 2.75 m*
BB E T+ ) 1.600 0.830 X 1.720 - 2984 2.28 m*
ANFT#HE TCER) [ 1.600 0.830 — /4 X 03202 ) X 1.720 -  2.145 2.14 m*
53 iz pEet & 2.752 0.170 - 0.467 0.46 m*
BT (W) 2.145 2.145 - 4.290 4.29 m*
B E E L T |( 1.600 0.720 — 7/4 X 0320 2 ) X 1.720 -  1.843 1.84 m®
A R LT - m®
e 7 W K L L 1.600 0.810 X 1.720 - 2.229 2.22 m*
t=12cm
T B ¥ % T 1.600 1.720 - 2752 2.75 m*
t=22cm ‘
B K B T 1.600 1.720 - 2752 2.75 m*
t=5cm ‘
R % 1B # B L 1.600 X 1.720 - 2752 2.75 m*
H=2.50m
+ B T = 1.720 1.72 m

YOP | o By KB A E ]




DCIP ¢ 300 + T 3l&&

2478

KU 1B 1H
HrEX® $300 DP= 1,300 900
L =
mi1ENo.37 o«
2 As FEBREAs
AR S
| AR g
o i
[aN]
© o H
- o~ i 4
o i ©
— BEmARE | AR ULAREA
(tw)
D PR S
L\ _#i#% (DCIP) 6300
[L= 157.310 m4Y
T ff &t B X W &
2 AR B Mr T 157.310 2 - 314.620 314.62 m
Al S IRCERCEE L PR A T 0.900 X 157.310 - 141.579 141.57 m*
BB E T+ ) 0.900 1.570 X 157.310 - 222.279 222.27 m®
53 w7 pEet & 141.579 0.050 - 7.078 7.07 m®
OB T (W) 222.279 - 222.279 222.27 m®
B A HE EL T | 0.900 0.420 - m/4 X 0.320 2 ) X 157.310 = 46.811 46.81 m*
F® A+ # K L L 0.900 X 157.310 - m®
e 7 B K L L 0.900 0.760 X 157.310 - 107.600 107.60 m®
t=24cm
T B ¥ % T 0.900 157.310 - 141.579 141.57 m*
t=17cm ‘
B O B T 0.900 157.310 - 141.579 141.57 m*
t=3cm
= 5 H £ B T 0.900 X 157.310 - 141.579 141.57 m*
H=2.50m
+ B T = 157.310 157.31 m

YOP | o By KB A E ]




DCIP ¢ 300 + T 3l&&

5470 9 ﬂ ‘é’u /E IEI
B 6300 DP= 850 700
L i (e}
= As | BEREIEAS
| FAEOARA S
o
S LR S
— = ;
— Wt dmE
(t#)
D T S
\ graxid (DCIP) ¢ 300
L= 2.400 m4Y
T g &t B = ¥ &
2 AR B Mr T 2.400 2 = 4.800 4.80 m
Al S IRCERCEE L PR A T 0.700 X 2.400 = 1.680 1.68 m®
BB E T+ ) 0.700 1.140 X 2.400 = 1.915 1.91 m’
53 w7 pEet & 1.680 0.030 = 0.050 0.05 m*
OB T (W) 1.915 1.041 - 0.874 0.87 m*
HoAE R OE R L T 0.700 0.420 - /4 X 0320 2 ) X 2400 -  0.512 0.51 m’
» E + # K L L 0.700 0.620 X  2.400 - 1.041 1.04 m’
t=10cm
T B ¥ % T 0.700 2.400 = 1.680 1.68 m®
t=3cm ‘
R % 1B # B L 0.700 X 2.400 = 1.680 1.68 m*

YOP | o By KB A E ]




DCIP ¢ 200 - T4F

+ T % A4 7

T f& gl B i
10 11
(t=17cm) |(t=17cm)
i % R W W T | As t=15~30cmBAT | 16.26] 0.92 17.1 m
AS B W W K AL Sy | GRERREITE 17cm 0.07 m*
Al e AR BCEE LI I T | t=15~40emBL T 4.87| 0.41 5.2 m*
R H T (£ /) | Syrky 0.28m? 4.63| 0.55 5.1 m®
JBE w7 iE #% | As¥Z L= 9.6km 0.82] 0.07 0.8 m*
53 M AL oy | AsHT 0.89 X 2.35 t/m’ 2.0t
B T (+ ) L= 8.9km 4.63] 0.55 5.1 m*
AW E E L T | Ny2EkY0.28m’ 1.25] 0.11 1.3m’
e 7 8 RE L L | Surky0.28m? 1.99] 0.33 2.3 m*
HAEULAMEG
T B O T | t=12cm () 4.87] 0.41 5.2 m’
ARG
B B M T | t=22cm(HH) 487 0.41 5.2 m*
AR ET ATy
B B £ B T | t=5cm(8:H) 4.87] 0.41 5.2 m’
) B AR M 7 CiA
+ w3 T | H=2.0m 1B 0.46 0.4 m

YR s B KE AR SE]




DCIP 200 +T3t&EE

24710

Hil (- I=!
PR 6200 DP= 900 600
[ SV 1 o
& No.35 ; e
§ As AR As
| KR S
L EAEYLARA S
o i
[aN]
=g z
> Gt Ll ' N
WM | A ODAR =
(b))
D A S
e (DCIP) ¢ 200
L= 8.130 m¥%4Y
T i & B = &
a2 R B Mr LT 8.130 2 - 16.260 16.26 m
& %8 R BRCEE L 4 I T 0.600 X 8.130 - 4.878 4.87 m’
A IR E T (= m) 0.600 0.950 X 8.130 - 4.634 4.63 m*
[543 w7 T b 4.878 0.170 - 0.829 0.82 m*
A L B G i ) 4.634 - 4.634 4.63 m*
A WBE E LT 0.600 0.320 - /4 X 0.220 2 ) X 8130 -  1.251 1.25 m’
o S N > D 0.600 0.410 X 8.130 - 1.999 1.99 m’
t=12cm
T B O M T 0.600 8.130 - 4.878 4.87 m*
t=22cm ‘
kB B & T 0.600 8.130 - 4.878 4.87 m*
t=Hcm
i 18 IH B T 0.600 X 8.130 - 4.878 4.87 m*

YO e R KB A ]




DCIP 200 +T3t&EE

A7 11 1 % IH
HrakE 6200 DP= 1,300 900
[ SV 1 o
& No.35 ; e
§ As AR As
LRI S
L EAEYLARA S
o i
[aN]
Lo (e) i
— Q i
- BN | FEULAREA =
(tap)
Dﬁi@ S
wraxts (DCIP) ¢ 200
L= 0.460 m¥%Y
T i & B = % &
a2 R B Mr LT 0.460 X 2 - 0.920 0.92 m
A R ECEE U I T 0.900 X 0.460 ~0.414 0.41 m®
B bk oHEE T+ ) 0.900 X 1.350 X 0.460 - 0.558 0.55 m*
[543 iz T ik 0.414 X 0.170 - 0.070 0.07 m*
A L B G i ) 0.558 — - 0.558 0.55 m*
BHoA o E L T |( 0900 X 0320 - x/4 X 022 2) X 0460 -  0.114 0.11 m’
o S N > D 0.900 X 0.810 X 0.460 ~0.335 0.33 m*
t=12cm
T B O M T 0.900 X 0.460 - 0.414 0.41 m*
t=22cm ‘
kB B & T 0.900 X 0.460 - 0.414 0.41 m*
t=Hcm
. 5 B £ B T 0.900 X 0.460 - 0.414 0.41 m*
H=2.00m
+ ] T = 0.460 0.46 m

YO e R KB A ]




DCIP ¢ 150 - T4F

+ T % A4 7

T f& gl B i
12 13
(t=17cm) |(t=17cm)
O R ) W T As t=15~30cmBL T 4.90| 3.62 8.5 m
AS B W W K AL Sy | GRERREITE 17cm 0.03 m’
Al e AR BCEE LI I T | t=15~40emBL T 1.47] 1.62 3.0 m*
R H T (£ /) | Syrky 0.28m? 1.95| 2.44 4.3 m’
JBE w7 iE #% | As¥Z L= 9.6km 0.24] 0.27 0.5 m’
53 M AL oy | AsHT 0.51 X 2.35 t/m’ 1.1t
B T (+ ) L= 8.9km 1.95| 2.44 4.3 m’
AW E E L T | Ny2EkY0.28m’ 0.34] 0.41 0.7 m’
e 7 8 RE L L | Surky0.28m? 1.23] 1.62 2.8 m*
HAEULAMEG
T B O T | t=12cm () 1.47] 1.62 3.0 m®
ARG
B B M T | t=22cm(HH) 1.47] 1.62 3.0 m®
AR ET ATy
B B £ B T | t=5cm(8:H) 1.47] 1.62 3.0 m®
) B AR M 7 CiA
+ w3 T | H=2.0m 1B 1.81 1.8 m

YR s B KE AR SE]




DCIP ¢ 150 T+ T 3tE=E

AT 12 w1 % IH
RS 6150 DP= 1,330 600
[ SV 1 o
& No.35 ; e
§ As AR As
LRI S
L EAEYLARA S
o i
()
Lo (e) i
— <2 i
~ WM | A ODAR S
(b))
Dﬁi@ <
gaxis (DCIP) ¢ 150
L= 2.450 m¥%Y
T i & B = % &
a2 R B Mr LT 2.450 X 2 - 4.900 4.90 m
& %8 R BRCEE L 4 I T 0.600 X 2.450 - 1.470 1.47 m*
B bk oHEE T+ ) 0.600 X 1.330 X 2.450 - 1.955 1.95 m’
[543 iz T ik 1.470 X 0.170 - 0.249 0.24 m*
A L B G i ) 1.955 - 1.955 1.95 m’
HoAr H E L T |( 0600 X 0270 - x/4 X 0170 2 ) X 2450 - 0.341 0.34 m’
o S N > D 0.600 X 0.840 X 2.450 - 1.234 1.23 m*
t=12cm
T B O M T 0.600 X 2.450 - 1.470 1.47 m*
t=22cm ‘
kB B & T 0.600 X 2.450 - 1.470 1.47 m*
t=Hcm
i 18 IH B T 0.600 X 2.450 - 1.470 1.47 m*

YO e R KB A ]




DCIP ¢ 150 T+ T 3tE=E

2A7 13 w1 % IH
HraksE o150 DP= 1,500 900
[ SV 1 o
& No.35 ; e
§ As Eﬁé%ﬁEAs
LRI S
L EAEYLARA S
o i
D~
© o i
" =3 i
2 i =
— FEWAEH] B AEYLARA S
(tap) —
Dﬁi@ 2
wraxts (DCIP) ¢ 150
L= 1.810 m%4Y
T  fE 5 B =K o=
a2 R B Mr LT 1.810 X 2 - 3.620 3.62 m
Al S IRCE R L PR Y T 0.900 X 1.810 - 1.629 1.62 m*
A IR E T (= m) 0.900 X 1.500 X 1.810 - 2.443 2.44 m®
[543 iz T ik 1.629 X 0.170 - 0.276 0.27 m*
A L B G i ) 2.443 - 2.443 2.44 m®
B AR HE R L L | 0900 X 0.280 - x/4 X 0170 2) X 1.810 -  0.415 0.41 m*
o S N > D 0.900 X 1.000 X 1.810 - 1.629 1.62 m’
t=12cm
T B O M T 0.900 X 1.810 - 1.629 1.62 m*
t=22cm ‘
kB B & T 0.900 X 1.810 - 1.629 1.62 m*
t=Hcm
. 5 B £ B T 0.900 X 1.810 - 1.629 1.62 m*
H=2.00m
+- ] T = 1.810 1.81 m

YO e R KB A ]




KLy ¢ 100 T 43

+ T ¥ 4 7 )
T Py bt 5] 7
14
. " As t=10cmPL T m
iO%E R OB B T -
As t=15~30cmLL T 12.00 12.0 m
AS G) WF ) K gy | SESHEINE Sen
EZEAREINTE 17cm 0.05 m*
_ N 2
S 4 B I g L ) T | ET L0emELE m
t=15~40cmLA F 5.40 5.4 m’
B 3Rl T (& ') | Ny 0.28m? 4.59 4.5 m*
3 M 1H # | As#Z L= 9.6km 0.91 0.9 m*
3 iz AL S| AsHT 091 X 2.35 t/m’ 2.1t
O T () L= 8.9km 4.59 4.5 m*
oA B E EL L SysEkY0.28m° 1.39 1.3m’
e H O #H R L T | SyzEdv0.28m’ 1.94 1.9 m*
B &+ 8 E L L | NysEkY0.28md m’
YA
T B B M T | t=27cm(FRHE) m?
FAEYAA
T B B & T | t=24cm(&H) m?
YA
T B B M T | t=12cm(33H) 5.40 5.4 m’
HAR R
B OB o T | t=22cm(FH) 5.40 5.4 m*
AR
L OE B 8 T | t=17em(iH) m’
BRI ET ATy
" B B £ JB T | t=5cm(&EH) 5.40 5.4 m*
TR T A
i B IH £ B L | t=3cmOkHE) m?

YR s B KE AR SE]




KLy ¢ 100+ TEEE

247 14

Hil (- I=!
PR 6100 DP= 900 900
[ SV 1 o
& No.35 ; e
§ As AR As
| KR S
L EAEYLARA S
o i
3
- 2 i
* HemamE | EEYLARE g
(b))
D A <
i (DCIP) ¢ 100
L= 6.000 m%Y
T i & B = &
a2 R B Mr LT 6.000 2 - 12.000 12.00 m
& %8 R BRCEE L 4 I T 0.900 X 6.000 - 5.400 5.40 m*
A IR E T (= m) 0.900 0.850 X 6.000 - 4.590 4.59 m*
[543 w7 T b 5.400 0.170 - 0918 0.91 m*
A L B G i ) 4.590 - 4.590 4.59 m*
=N == D 0.900 0.270 - /4 X 0.120 2 ) X 6.000 -  1.390 1.39 m®
o S N > D 0.900 0.360 X 6.000 - 1.944 1.94 m’
t=12cm
T B O M T 0.900 6.000 - 5.400 5.40 m*
t=22cm ‘
kB B & T 0.900 6.000 - 5.400 5.40 m*
t=Hcm
i 18 IH B T 0.900 X 6.000 - 5.400 5.40 m*

YO e R KB A ]




HPPE ¢ 100 = T4

+ T ¥ 4 7 )
T  fE gl B H
15 16
(t=5cm)
s 4t p oG g T | A t=10emMUT R 309.48 309.4 m
As t=15~30cmLL T 78.30 78.3 m
AS G) WF ) K gy | SESHEINE Sen
EZEAREINTE 17cm 0.35 m*
_ N 2
S0 1 B L g ) T | £ 10emBA T 92.84 92.8 m
t=15~40cmLA F 23.49 23.4 m*
B bk B B T (2 #) | SorAky 0.28m? 18.79 85.41 104.2 m*
3 M 1H # | As#Z L= 9.6km 3.99 4.64 8.6 m®
3 iz AL o | AsHT 8.63 2.35 t/m’ 20.2 t
A T () L= 8.9km | 18.79 85.41 104.2 m®
oA B E EL L SysEkY0.28m° 5.89 18.67 24.5 m*
e H O #H R L T | SyzEdv0.28m’ 7.28 28.78 36.0 m*
B &+ 8 E L L | NysEkY0.28md m’
HAEULAMEGA
T B ¥ B L | t=27cm(FiH) m?
FAEYA
T OB B M T | t=24cm(FH) 92.84 92.8 m*
HAEULAMEG
T B B M T | t=12cm(33H) 23.49 23.4 m’
FAR
B OB o T | t=22cm(FH) 23.49 23.4 m*
Bk
B ¥ M T | t=17cm(HiH) 92.84 92.8 m’
BRI ET ATy
" B B £ JB T | t=5cm(&EH) 23.49 23.4 m*
TR T A
B B £ B T | t=3emUsH) 92.84 92.8 m’

YR s B KE AR SE]




HPPE ¢ 100+ T &&=

A7 15 w1 % IH
RS 6100 DP= 850 600
[ SV 1 o
& No.35 ; e
§ As gﬁéﬁﬁEAs
L AR S
L EAEYLARA S
_ :
D~
(o)) o !
2 e . o
FEWAEH] B AEYLARA =
(b))
Dﬁi@ <
axts (HPPE) o100
L= 39.150 m¥%4Y
T  fE # B = &
a2 R B Mr LT 39.150 X 2 - 78.300 78.30 m
SHAE R EUEE LR A T 0.600 X 39.150 - 23.490 23.49 m*
A IR E T (= m) 0.600 X 0.800 X 39.150 - 18.792 18.79 m*
[543 iz T ik 23.490 X 0.170 - 3.993 3.99 m’
A L B G i ) 18.792 - 18.792 18.79 m*
A E K L T [( 0600 X 0270 - x/4 X 0.120 2 ) X 39.150 -  5.899 5.89 m’
e o # R LT 0.600 X 0.310 X 39.150 - 7.281 7.28 m’
t=12cm
T B ¥ & T 0.600 X 39.150 - 23.490 23.49 m*
t=22cm ‘
kB B & T 0.600 X 39.150 - 23.490 23.49 m*
t=Hcm
= 1 IH B T 0.600 X 39.150 - 23.490 23.49 m*

YO e R KB A ]



HPPE ¢ 100+ T &&=

247 16

Hil (- I=!
RS 6100 DP= 850 600
(e}
TiiENo.37 : >
= ns  TEBRIEAS
L AR =
L EAEYLARA g
_ :
D~
(o)) o !
2N e . o
FEWAEH] B AEYLARA =
(b))
D A 5
axts (HPPE) o100
[, = 154.740 m34Y
T i & A = % &
a2 R B Mr LT 154.740 2 - 309.480 309.48 m
& %8 R BRCEE L 4 I T 0.600 X 154.740 - 92.844 92.84 m®
B bk oHEE T+ ) 0.600 0.920 X 154.740 - 85.416 85.41 m’
BE w7 T b 92.844 0.050 - 4.642 4.64 m*
A L B G i ) 85.416 - 85.416 85.41 m’
A WBE E LT 0.600 0.220 - m/4 X 0.120 2 ) X 154.740 - 18.675 18.67 m*
o S N > D 0.600 0.310 X 154.740 - 28.781 28.78 m’
t=24cm
T B O M T 0.600 154.740 - 92.844 92.84 m®
t=17cm .
kB B & T 0.600 154.740 - 92.844 92.84 m*
t=3cm
i 18 IH B T 0.600 X 154.740 - 92.844 92.84 m®

YO e R KB A ]




DCIP ¢ 100 +T4EE}

||

+ T ¥ 4 7 4
T  fE gl B H
17 18 19 20
. " As t=10cmPL T m
LR (t=5¢cm) | t=5cm)|(=17cm) |(t=17¢m)
As t=15~30cmEL T 3.36| 19.98| 8.74| 3.36 354 m
AS 8] I @ A g 5y | AHEEREISTE Sen
EZEAREINTE 17cm 0.05 m*
_ N 2
S0 1 B L g ) T | £ L0emsAT 1.00] 5.99 6.9 m
t=15~40cmLA F 2.62| 1.00 3.6 m’
B 3Rl T (& ') | Ny 0.28m? 0.97[ 8.21] 2.09] 1.31 12.5 m®
3 M 1 # | As#Z L= 9.6km 0.05] 0.29] 0.44 0.17 0.9 m*
3 iz AL S| AsHT 0.95 X 2.35 t/m’ 2.2t
LA () L= 8.9km 0.47| 2.81] 2.09] 1.31 6.6 m®
B EREL T SyrEy0.28m° 0.20] 1.20] 0.65| 0.20 2.2m’
e ofmn #OR L T | SyrEky 0.28m? 0.81] 0.86 1.6 m*
A&+ # R L L | Syskv0.28m? 0.50[ 5.39 5.8 m’
HAEULAMEGA
T oBE B M T | t=27cm(H) 1.00[ 5.99 6.9 m’
FAEYA
T B B & T | t=24cm(&H) m?
HAEULAMEG
T B ¥ B T | t=12cm () 2.62[ 1.00 3.6 m’
FAR
B OB o T | t=22cm(FH) 2.62] 1.00 3.6 m*
Bk
E B B M L|t=17cm(FH) m”
BRI ET ATy
I B B £ J8 T | t=5cm(&H) 2.62] 1.00 3.6 m*
TR T A
B B £ B T | t=3emUsH) 1.00[ 5.99 6.9 m’

YR s B KE AR SE]




DCIP ¢ 100+ T3&E&E

2A7 17 w1 % IH
A 6100 DP= 900 600
[ SV 1 o
fiiENo. %3 i «
o e TI/EERIEAS
| FAEOLARA S
S
(9N ()
3 o ¥4+ =
= st )
(+w)
D A 5
wraxts (DCIP) ¢ 100
L= 1.680 m%4Y
T i & B = % &
a2 R B Mr LT 1.680 X 2 - 3.360 3.36 m
& %8 R BRCEE L 4 I T 0.600 X 1.680 - 1.008 1.00 m*
B bk oHEE T+ ) 0.600 X 0.970 X 1.680 - 0.977 0.97 m*
[543 iz T ik 1.008 X 0.050 - 0.050 0.05 m*
A L B G i ) 0.977 — 0.504 - 0.473 0.47 m*
HoA M E L T |( 0600 X 0220 - x/4 X 01202 ) X 1.680 -  0.202 0.20 m’
» 4 +# 2 LT 0.600 X 0.500 X 1.680 - 0.504 0.50 m*
t=27cm
T B O M T 0.600 X 1.680 - 1.008 1.00 m*
t=3cm .
R % IH # B L» 0.600 X 1.680 - 1.008 1.00 m*

YO e R KB A ]



DCIP ¢ 100+ T3&E&E

2A7 18 w1 % IH
RS 6100 DP= 1,300 600
[ SV 1 o
fiiENo. %3 i «
2 As AEFRIE As
D YA S
Q o
S Frk 1t S
- 5
— el
(+1)
D A 5
wraxts (DCIP) ¢ 100
L= 9.990 m%4Y
L " ; i & # R
a2 R B Mr LT 9.990 2 - 19.980 19.98 m
& %8 R BRCEE L 4 I T 0.600 X 9.990 - 5.994 5.99 m*
A IR E T (= m) 0.600 1.370 X 9.990 - 8.211 8.21 m*
BE w7 T b 5.994 0.050 - 0.299 0.29 m*
A L B G i ) 8.211 5.394 - 2.817 2.81 m*
=N == D 0.600 0.220 - /4 X 0.120 2 ) X 9990 -  1.205 1.20 m’
4 MR L L 0.600 0.900 X 9.990 - 5.394 5.39 m’
t=27cm
T B O M T 0.600 9.990 - 5.994 5.99 m*
t=3cm .
R % IH # B L» 0.600 X 9.990 - 5.994 5.99 m*

YO e R KB A ]




DCIP ¢ 100+ T3&E&E

2A7 19 w1 % IH
A 6100 DP= 850 600
[ SV 1 o
& No.35 ; e
§ As AR As
L AR S
L EAEYLARA S
_ .
D~
(o)) o !
2 e . o
FEWAEH] B AEYLARA =
(b))
Dﬁi@ <
i (DCIP) ¢ 100
L= 4.370 m34Y
T i & B = % &
a2 R B Mr LT 4370 X 2 - 8.740 8.74 m
& %8 R BRCEE L 4 I T 0.600 X 4.370 - 2,622 2.62 m’
B bk oHEE T+ ) 0.600 X 0.800 X 4.370 - 2.097 2.09 m*
[543 iz T ik 2.622 X 0.170 - 0.445 0.44 m®
A L B G i ) 2.097 - 2.097 2.09 m*
HoA o E L T |( 0600 X 0270 - x/4 X 0.120 2) X 4370 -  0.658 0.65 m’
o S N > D 0.600 X 0.310 X 4.370 - 0.812 0.81 m*
t=12cm
T B O M T 0.600 X 4.370 - 2.622 2.62 m”
t=22cm ‘
kB B & T 0.600 X 4.370 - 2.622 2.62 m”
t=Hcm
i 18 IH B T 0.600 X 4.370 - 2,622 2.62 m”

YO e R KB A ]



DCIP ¢ 100+ T3&E&E

2A7 20 w1 % IH
RS 6100 DP= 1,350 600
; 3
S ne  TTERRIEAS
L AR S
L EAEYLARA S
o i
o~
<t () i
— = i
~ WM | A ODAR g
(b))
Dﬁi@ 5
i (DCIP) ¢ 100
L= 1.680 m%4Y
T i & B = &
a2 R B Mr LT 1.680 X 2 - 3.360 3.36 m
& %8 R BRCEE L 4 I T 0.600 X 1.680 - 1.008 1.00 m*
A IR E T (= m) 0.600 X 1.300 X 1.680 - 1.310 1.31 m’
[543 iz T ik 1.008 X 0.170 - 0.171 0.17 m*
A L B G i ) 1.310 - 1.310 1.31 m’
HoA M E L T |( 0600 X 0220 - x/4 X 01202 ) X 1.680 -  0.202 0.20 m’
o S N > D 0.600 X 0.860 X 1.680 ~ 0.866 0.86 m*
t=12cm
T B O M T 0.600 X 1.680 - 1.008 1.00 m*
t=22cm ‘
kB B & T 0.600 X 1.680 - 1.008 1.00 m*
t=Hcm
i 18 IH B T 0.600 X 1.680 - 1.008 1.00 m*

YO e R KB A ]




KeKkE T

+ T % 4 7

T M A H /N
1 2 3 4 5 6 7 8 9 10
(t=3cm) [(t=5cm)|(t=3cm) |(t=3cm)[(t=3cm) [(t=5cm) |(t=17cm) [(t=5cm) [(t=3cm) |(t=5cm)
O R OB W T | As t=15cmPLF 2.70| 0.90] 3.60] 0.90| 1.80| 13.46] 1.56| 5.40| 4.56] 3.90 38.7m
SRR 1 7em
SN LR EIWTIE 5em
gy W A ‘
AS U)K L 5T | seseksonsg som 0.05 m*
O O 9 W T | Co t=15cmBLF m
. N - 2
S0 i B e U3 g T | L 10emBAT 0.87| 0.29] 1.17[ 0.29] 0.58[ 3.02 1.21] 1.02] 0.87 9.3 m
t=15~30cmLL F 0.35 0.3 m*
aryJU—bRELT | AN m’
B iE Hl T (") | SyraY 0.2m? 0.45[ 0.14] 0.60] 0.15[ 0.30] 2.42] 0.23[ 0.97| 0.84| 0.70 6.8 m’
AN 71 #EHI (/) 0.43[ 0.14] 0.58] 0.14] 0.29 1.5 m
AsHT  Fhki 0.02| 0.01] 0.03 0.01] 0.15] 0.05] 0.06 0.04
oM AsHT ik 0.01 0.03 0.4 m’
Coli o m®
t
AsHT HIE 0.37 X 2.35 t/m’ 0.9
AN t
Be # 2L A AsHT #E 0.04 X 2.15 t/m’ 0.1
t
Coli o X 2.35 t/m’
B AL T+ ) 0.62| 0.29] 1.19] o0.11] 0.33] 1.51] 0.23] 0.97[ 0.20[ 0.30 5.7 m®
BA MBS R L T | SysEiy0.28m 0.26] 0.08] 0.34] 0.08] 0.17[ 0.30[ 0.03] 0.12[ 0.10[ 0.08 1.5 m’
% E R L I | SuzRv 0.28m° 0.26 0.18] 0.26] 0.90 0.63[ 0.39 2.6 m*
e om o #ORE L L NwskY0.28m? 0.10[ 0.36 0.12| 0.37 0.9 m*
FAEDLARA ,
T B K M T | t=12cm(EH) 0.29 0.35 0.6 m®
FAEDLARA ,
T B K M T | t=20cm(EH) 0.87 3.02 3.8 m*
FAEDLARA ,
T B K M T | t=24cm(EH) 1.17 1.21 2.3 m’
FAEDLARA ,
T B K’ O T | t=10cm(GFH) 0.29 1.02 1.3 m?
FAEDLARA ,
T B K M T | t=2Tcm(FH) 0.58 0.87 1.4 m®
F AR R ]
E B ¥ M T | t=15cm(HEH) m®
F AR R ]
E B ¥ M T | t=17cm(EH) 1.17 1.21 2.3 m’
F AR R ]
B ¥ % L | t=22cm(FH) 0.87] 0.29 3.02] 0.35 4.5 m®
FHAERBRIE T Ay ]
K B 1H £ B T | t=3cm(#5H) 0.87 1.17 3.02 1.21 6.2 m®
FHAERRIE T Ay ]
I 1B £ B T | t=5cm(#5H) 0.29 0.35 0.6 m®
AL 7 A= ]
B IH & B T | t=3cm@H58) 0.29 1.02 1.3 m’
FHAERRIE T Ay ]
B B R FE T t=3cmCk#) 0.58 0.87 1.4 m*
NF1T5% ]
2 v 7 Y — b T | 18-8-25(20)E ) m’

PP BB R KB AR 2]




KeKkE T

+ T % 4 7
T il A H /NG H
11 12 13
(t=5cm)
O R OB W T | As t=15cmPLF 3.00 3.0 m 41.7 m
AR BITE 1 Tem
v | EHEERREIETE Sem
AS U)K L 5T | seseksonsg som m*|  0.05 m’
(t=10cm)
O R B W T | Co t=15cmPLF 3.00 3.0 m 3.0 m
— N . 2 2
a4 5 T LA T t=10cmPL F 0.67 0.6 m 9.9 m
t=15~30cmbL T m® 0.3 m’
a7 —hMREEL T [ AN 0.06 0.1 m* 0.1 m*
B k3R H T (R W) | NorERY 0.2m? m’ 6.8 m*
UNDZE NN ) 0.30[ 0.27 0.5 m* 2.0 m*
AsHTZ BRI 0.03
Be # & it AsHT  HkL 0.0 m* 0.4 m*
CoH's 0.06 0.1 m* 0.1 m*
t
AsHT HIE 0.03 X 2.35 t/m’ 0.1
t t
Be # 2L &l AsHZ M8 X 2.15 t/m’ 1.1
t t
Coti5 0.06 X 2.35 t/m’ 0.1 0.1
AR T () 0.23[ 0.14 0.3 m’ 6.0 m®
AW E R L I Syriy0.28m® m’ 1.5m’
¥ £+ R L T | SysEkY 0.28m? 0.06 m’ 2.6 m*
e om o #ORE L L NwskY0.28m? m® 0.9 m*
P AEEA R t ,
T OB ¥ % T | t=12cm(3H) m”* 0.6 m*
P AEEA R t ,
T B K M T | t=20cm(EH) 0.67[ 0.67 1.3 m’ 5.1 m*
P AEEA R t ,
T B ¥ M T | t=24cm(FEH) m® 2.3 m’
P AEEA R t ,
T B ¥ O T | t=10cm(HHE) m”* 1.3 m*
P AEEA R t ,
T B B B T | t=2lecm(GHHE) m’ 1.4 m*
AR I , ,
B OB B T | t=15ecm(¥H) 0.67 0.6 m® 0.6 m®
AR , ,
B B M T | t=17cm(#EiH) m”* 2.3 m*
AR , ,
B OB M T t=22cm(#iH) m”* 4.5 m*
AR AR 7 A ] ]
R 8 1H R B T | t=3cm(@;H) m? 6.2 m*
AR AR 7 A ] ]
W E B R B T|t=5emmH 0.67 0.6 m* 1.2 m*
AR 7 A= ] ]
8 1B £ B T | t=3cmsH) m’ 1.3 m®
A BRI T Ao t ,
f 8 H £ B T |t=3cm@sH) m® 1.4 m*
NTIHTR% ] ]
2 v 7 Y — b+ T | 18-8-25(20) & 47 0.06 0.1 m* 0.1 m*

PP BB R KB AR 2]




feKE L TEHEE

HAT 1 Hil B IH
A% $100 DP= 850 450W X 650L
(e} (e}
H#5E (No.1) > ; >
(T RIVERFLED) As AR R As
L R ]
S HERIRE | FEEYLARR S
(+m)
LO
S o
= FAE =
(e}
S S
- NI HEH! —
(e} (e}
= =
. HIER AR HPPE ¢ 100
N = 3 fEATHY
T  fE # B = ¥ &
a2 R B Mr LT 0.450 X 2 X 3 = 2.700 2.70 m
& %8 R BRCEE L 4 I T 0.450 X 0.650 X 3 = 0.877 0.87 m’
B bk oHEE T+ ) 0.450 X 0.650 X 0.520 X 3 = 0.456 0.45 m®
{ 0.450 X 0.650 X 0.525 — ( 7 /4 X0.125 2 X 0.650 ) }
AN H T(E") X = 0.436 0.43 m*
[543 iz T ik 0.450 X 0.650 X 0.030 X 3 = 0.026 0.02 m*
AR T (W) 0.456 + 0.436 — 0.26 = 0.629 0.62 m*
B { 0.450 X 0.325 X 0.650 — (7 /4 X0.125 * X 0.650 ) }
B A WHE EL T X = 0.261 0.26 m*
» 4 +# 2 LT 0.450 0.300 X 0.650 X 3 = 0.263 0.26 m*
t=20cm
T B O M T 0.450 0.650 X 3 = 0.877 0.87 m’
t=22cm ‘
kB B M T 0.450 0.650 X 3 = 0.877 0.87 m’
t=3cm
i 18 IH B T 0.450 0.650 X 3 = 0.877 0.87 m’

YO e R KB A ]




feKE L TEHEE

HAT 2 Hil B IH
A% $100 DP= 850 450W X 6501
. =3 : =3
H5E (No.35) 0 ; o
(T RIVERFLED) As AR R As
L KRR ]
o w E S T o
= BEMRIRE] | AR AR S
(+m)
Lo H
S i . o
= | AEYNAR <
(e}
= S
- NI HEH! —
(e} (e}
= =
. HIER AR HPPE ¢ 100
N = 1 fési T 24 0
T  fE 5 B = o=
a2 R B Mr LT 0.450 X 2 X 1 = 0.900 0.90 m
& %8 R BRCEE L 4 I T 0.450 X 0.650 X 1 = 0.292 0.29 m*
B bk oHEE T+ ) 0.450 X 0.650 X 0.500 X 1 = 0.146 0.14 m*
{ 0.450 X 0.650 X 0.525 — ( 7 /4 X0.125 2 X 0.650 ) }
AN #E T(E®) X 1 = 0.145 0.14 m*
[543 iz T ik 0.450 X 0.650 X 0.050 X 1 = 0.014 0.01 m*
A L B G o ) 0.146 + 0.145 = 0.291 0.29 m*
B { 0.450 X 0.325 X 0.650 — (7 /4 X0.125 * X 0.650 ) }
oA # R LT X 1 = 0.087 0.08 m*
e o # R LT 0.450 X 0.360 X 0.650 X 1 = 0.105 0.10 m*
t=12cm
T B O M T 0.450 X 0.650 X 1 = 0.292 0.29 m*
t=22cm ‘
kB B M T 0.450 X 0.650 X 1 = 0.292 0.29 m*
t=Hcm
i 18 1 B T 0.450 X 0.650 X 1 = 0.292 0.29 m*

YO e R KB A ]




feKE L TEHEE

HAT 3 Hil B IH
A% $100 DP= 850 450W X 650L
. =3 : =3
H5E (No.37) o 5 )
(T RIVERFLED) As AR R As
| R 2
S HERIRE | FEEYLARR 3
(+m)
1o i
= L FEYLARE =
(e}
= S
Nkl —
SRS (+45) Lo e
o 7 FRA D g 3
(e} (e}
= =
. HIER AR HPPE ¢ 100
N = 4 fési T 24 0
T  fE 5 B = ¥ &
a2 R B Mr LT 0.450 X 2 X 4 = 3.600 3.60 m
& %8 R BRCEE L 4 I T 0.450 X 0.650 X 4 = 1.170 1.17 m®
B bk oHEE T+ ) 0.450 X 0.650 X 0.520 X 4 = 0.608 0.60 m*
{ 0.450 X 0.650 X 0.525 — ( 7 /4 X0.125 2 X 0.650 ) }
AN #E T(E®) X 4 = 0.582 0.58 m*
[543 iz T ik 0.450 X 0.650 X 0.030 X 4 = 0.035 0.03 m*
A L B G o ) 0.608 + 0.582 = 1.190 1.19 m’
B { 0.450 X 0.325 X 0.650 — (7 /4 X0.125 * X 0.650 ) }
B AW HERE LT X 4 = 0.348 0.34 m*
e o # R LT 0.450 X 0.310 X 0.650 X 4 = 0.362 0.36 m*
t=24cm
T B O M T 0.450 X 0.650 X 4 = 1.170 1.17 m®
t=17cm .
kB B M T 0.450 X 0.650 X 4 = 1.170 1.17 m®
t=3cm
i 18 1 B T 0.450 X 0.650 X 4 = 1.170 1.17 m®
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feKE L TEHEE

HAT 4 Hil B IH
A% $100 DP= 850 450W X 650L
. =3 : =3
(T RIVERFLED) As PR AR As
L AR g
S Wt 1
(+m) -
D~
S
(e}
= S
NI HEH! —
SRS (+45) Lo e
o d AR N 3
(e} (e}
= =
. HIER AR HPPE ¢ 100
N = 1 fési T 24 0
T  fE # B = ¥ &
a2 R B Mr LT 0.450 X 2 X 1 = 0.900 0.90 m
& %8 R BRCEE L 4 I T 0.450 X 0.650 X 1 = 0.292 0.29 m*
B bk oHEE T+ ) 0.450 X 0.650 X 0.520 X 1 = 0.152 0.15 m*
{ 0.450 X 0.650 X 0.525 — ( 7 /4 X0.125 2 X 0.650 ) }
AN #E T(E®) X 1 = 0.145 0.14 m*
[543 iz T ik 0.450 X 0.650 X 0.030 X 1 = 0.008 0.01 m*
AR T (W) 0.152 + 0.145 — 0.18 = 0.116 0.11 m*
B { 0.450 X 0.325 X 0.650 — (7 /4 X0.125 * X 0.650 ) }
oA # R LT X 1 = 0.087 0.08 m*
» 4 +# 2 LT 0.450 X 0.620 X 0.650 X 1 = 0.181 0.18 m*
t=10cm
T B O M T 0.450 X 0.650 X 1 = 0.292 0.29 m*
t=3cm
. 5 B £ B T 0.450 X 0.650 X 1 = 0.292 0.29 m*
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feKE L TEHEE

HAT 5 1] % A
KE ¢ 100 DP= 850 450W X 650L
= : =
il (R A) = 5 &
(T RIVERFLED) As FERRLEE As
. ERARA 2
S ekt 1
(+75) -
1o 4+ I
<
= S
- Aﬁ@w S
= =

B A% HPPE ¢ 100

N = 2 fEHPTYY
T  fE # B = ¥ o=
a2 R B Mr LT 0.450 X 2 X 2 = 1.800 1.80 m
& %8 R BRCEE L 4 I T 0.450 X 0.650 X 2 = 0.585 0.58 m”
B bk oHEE T+ ) 0.450 X 0.650 X 0.520 X 2 = 0.304 0.30 m*
{ 0.450 X 0.650 X 0.525 — ( 7 /4 X0.125 2 X 0.650 ) }
AN #E T(E®) X 2 = 0.291 0.29 m*
[543 iz T ik 0.450 X 0.650 X 0.030 X 2 = 0.017 0.01 m*
AR T (W) 0.304 + 0.291 — 0.26 = 0.332 0.33 m*
B { 0.450 X 0.325 X 0.650 — (7 /4 X0.125 * X 0.650 ) }
oA # R LT X 2 = 0.174 0.17 m*
» 4 +# 2 LT 0.450 X 0.450 X 0.650 X 2 = 0.263 0.26 m*
t=27cm
T B O M T 0.450 X 0.650 X 2 = 0.585 0.58 m”
t=3cm
. 5 B £ B T 0.450 X 0.650 X 2 = 0.585 0.58 m”
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feKE L TEHEE

HAT 6 Hil B IH
450W
. =3 : =3
#ijE (No.1) e i <«
() As | A/EBRIEAS
3 L R ]
L EAEYLARG S
2 o A 1
= (-£4b) -
¥4+ =
D D S
(=7.4-0.45/2 X 3)
FEAKE
L= 6.730 m4Y
T i & B = % &
a2 R B Mr LT 6.730 2 - 13.460 13.46 m
& %8 R BRCEE L 4 I T 0.450 6.730 - 3.028 3.02 m*
B bk oHEE T+ ) 0.450 0.800 X 6.730 - 2.422 2.42 m*
[543 iz T b 0.450 0.050 X 6.730 - 0.151 0.15 m*
A L B G i ) 2.422 0.908 - 1.514 1.51 m’
=N == D 0.450 0.100 X 6.730 - 0.302 0.30 m*
4 MR L L 0.450 0.300 X 6.730 -~ 0.908 0.90 m*
t=20cm
T B O M T 0.450 6.730 - 3.028 3.02 m*
t=22cm ‘
kB B & T 0.450 6.730 - 3.028 3.02 m*
t=3cm .
i 18 IH B T 0.450 6.730 - 3.028 3.02 m*
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feKE L TEHEE

BAT T Hil B IH
450W
E (e}
HjE (No.35) — i e
() As | A/EBRIEAS
1 L AR ]
L EAEYLARG S
() .
D o T 1|
© 8 (Ew) -
L FAETDAREAT o
D D S
(=1-0.45/2 X 1)
FEAKE
L= 0.780 m%4Y
T i & B = % &
a2 R B Mr LT 0.780 X 2 - 1.560 1.56 m
& %8 R BRCEE L 4 I T 0.450 X 0.780 - 0.351 0.35 m”
A IR E T (= m) 0.450 X 0.680 X 0.780 - 0.238 0.23 m*
[543 iz T ik 0.450 X 0.170 X 0.780 - 0.059 0.05 m*
A L B G i ) 0.238 - 0.238 0.23 m*
B oA # R LT 0.450 X 0.100 X 0.780 - 0.035 0.03 m*
e /7 W R L L 0.450 X 0.360 X 0.780 - 0.126 0.12 m*
t=12cm
T B O M T 0.450 X 0.780 - 0.351 0.35 m”
t=22cm ‘
kB B & T 0.450 X 0.780 - 0.351 0.35 m”
t=Hcm
i 18 IH B T 0.450 X 0.780 - 0.351 0.35 m”
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feKE L TEHEE

HAT 8 Hil B IH
450W
. (e} (e}
H5E (No.37) 0 ; )
() As | A/EBRIEAS
4 fF L PRI S
L EAEYLARG 3
2 o A 1
= (Ew) -
L FAETDAREAT =
D D S
(=3.6-0.45/2 X 4)
FEAKE
L= 2.700 m4Y
T i & B = % &
a2 R B Mr LT 2.700 X 2 - 5.400 5.40 m
& %8 R BRCEE L 4 I T 0.450 X 2.700 - 1.215 1.21 m*
B bk oHEE T+ ) 0.450 X 0.800 X 2.700 - 0.972 0.97 m*
[543 iz T ik 0.450 X 0.050 X 2.700 - 0.060 0.06 m*
A L B G i ) 0.972 - 0.972 0.97 m*
B oA # R LT 0.450 X 0.100 X 2.700 - 0.121 0.12 m*
e /7 W R L L 0.450 X 0.310 X 2.700 - 0.376 0.37 m*
t=24cm ‘
T B O M T 0.450 X 2.700 - 1.215 1.21 m*
t=17cm .
kB B & T 0.450 X 2.700 - 1.215 1.21 m*
t=3cm .
i 18 IH B T 0.450 X 2.700 - 1.215 1.21 m*
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feKE L TEHEE

ZAT 9 Hil B 1H
450W
- -
H538 (—fi%) & a &
(MEERHR) As P AEARLEE As
L | EEGLARA g

o ey
D D S
(=2.5-0.45/2X1)
FaAKE

L= 2.280 mY

T fh i i 2V B =
O AR @ W T 2.280 X 2 - 4.560 4.56 m
BHAS R ICE LI H 0.450 X 2.280 - 1.026 1.02 m*
B R H (A 0.450 X 0.820 X 2.280 - 0.841 0.84 m’
JFE Lz SCE 0.450 X 0.030 X< 2.280 - 0.030 0.03 m’
LR T(E®) 0.841 — 0.636 - 0.205 0.20 m’
BADHEREL T 0.450 X 0.100 X 2.280 - 0.103 0.10 m’
¥ £ £ E L T 0.450 X 0.620 X 2.280 - 0.636 0.63 m’
T~ JE t_ll”t%mﬂ% T 0.450 X 2.280 - 1.026 1.02 m*
K 1 IEBC% Jg T 0.450 X 2.280 - 1.026 1.02 m*
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ZAT 10 Hil 1B 13
450W
538 (GRA) B 3
PEERER) As - AEFRIE As
2 i AR 2
S G N3 :
D PR S
(=2.4-0.45/2X2)
FaAKE
L = 1.950 m¥%b
T Fit i i 2V ¥ =
O AR @ W T 1.950 X 2 - 3.900 3.90 m
B E IR HEE U A T 0.450 X 1.950 - 0.877 0.87 m’
B R H (A 0.450 X 0.800 X< 1.950 - 0.702 0.70 m*
JFE Lz SCE 0.450 X 0.050 X< 1.950 - 0.043 0.04 m*
AW T (EW) 0.702 — 0.395 - 0.307 0.30 m*
BoA R LT 0.450 X 0.100 X 1.950 - 0.088 0.08 m*
¥ 4 + R L T 0.450 X 0.450 X 1.950 - 0.395 0.39 m*
T Et_zl”tzécmﬂ% T 0.450 X 1.950 - 0.877 0.87 m’
" 18 IEBC% Jg& T 0.450 X 1.950 - 0.877 0.87 m’
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feKE L TEHEE

2AT 11 Hil (- I=!
450
=3 E =3
EHIN (As) e i e
H=500 As P AR RLEE As
| R 3
L EAEYLARG S
o i
S o ANHEH] =
s (+m) =
L R4t S
FEKAE
L= 1.500 m%4Y
T i & B = % &
a2 R B Mr LT 1.500 X 2 = 3.000 3.00 m
& %8 R BRCEE L 4 I T 0.450 X 1.500 = 0.670 0.67 m*
AN #E T(E®) 0.450 X 0.450 X 1.500 = 0.303 0.30 m*
[543 iz T ik 0.670 X 0.050 = 0.033 0.03 m*
A L B G i ) 0.303 - 0.067 = 0.236 0.23 m*
» 4 +# 2 LT 0.450 X 0.100 X 1.500 = 0.067 0.06 m*
t=20cm
T B O M T 0.450 X 1.500 = 0.675 0.67 m”
t=15cm .
kB B & T 0.450 X 1.500 = 0.675 0.67 m”
t=ocm
= & T 0.450 X 1.500 = 0.675 0.67 m”
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feKE L TEHEE

AAT 12 Hil (- I=!
450
FHIA (Co)
H=500 § Co Co §
- FEGLARE 2
S o Aﬁ%%é o
TS (fw) 3
AL g
FEKAE
L= 1.500 m%4Y
T i & B = % &

a2 R B Mr LT 1.500 2 = 3.00 3.00 m
oY —hREEL T 0.450 0.100 X 1.500 = 0.06 0.06 m*
AN #E T(E®) 0.450 0.400 X 1.500 = 0.27 0.27 m*
[543 iz T b 0.450 0.100 X 1.500 = 0.06 0.06 m*
A L B G i ) 0.270 0.130 = 0.14 0.14 m*
» 4 +# 2 LT 0.450 0.200 X 1.500 = 0.13 0.13 m*
t=20cm .
S i3 T 0.450 1.500 = 0.67 0.67 m”
L 7Y—R L (AN SFTE%) 0.450 0.100 X 1.500 = 0.06 0.06 m*
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feKE L TEHEE

2A7 13 Hil B IH
450
THIN (1)
H=500
g A gt
(+w)
e KA
[ = 3.000 m34Y) CEEE T
r at B = ¥ B
AN #E T (L) 0.450 X 0.500 X 3.000 = 0.675 0.67 m*
=+ E LT 0.450 X 0.500 X 3.000 = 0.675 0.67 m*
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+ T % 4 7

T  fE A H B
21 22
(t=5cm)(t=bcm)(t=5cm)
s 4 B4 W T | A t=15emBIT 6.60] 6.60 13.2 m
As t=15~30cmLL m
AS @J Hfﬁ_ {% 7k @ 67\ @%%W@J[ﬁﬁ}?—c 5cm
SHEERREIMIE 17cm 0.02 m*
_ NES 2
S0 P T g g T | £ L0emBL T 2.66| 2.72 5.3 m
t=15~40cmLL m?
B BRHE H T (/) | Ny rkRy 0.28m’ 2.52] 2.58 5.1 m®
ANJTHEE T (/) 2.37| 2.45 4.8 m’
& ) S #% | AsHS L= 9.6km 0.13] 0.13 0.2 m’
JE iz AL 2y | AsHS 0.26 X 2.35 t/m’ 0.6 t
AR T (- ) L= 8.9km 490 5.03 9.9 m’
AW HEREL T SysEiy0.28m° 1.76] 1.82 3.5 m’
oA 8 OR LT | ANyzhy 0.28m’ 2.02] 2.06 4.0 m®
FAETLAA ,
T g ¥ % T | t=24cm(d#3H) 2.66 2.72 5.3 m®
ARG ,
F o ¥ % T t=17cm(EH) 2.66 2.72 5.3 m*
RSB T A ‘
I #H B £ B T | t=3cm(@EH) 2.66] 2.72 5.3 m*
BRI AT AR
+ B T | H=2.0m 1B% 1.90] 1.60 3.5 m
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BERREME tTHAESE

A7 21 Hi 5 IH
RErK 1A +=T.3
BEER4E 6300 DP= 1,300 1400
H S
ﬁ?iENOB’? i 7]
S As L HERRLEE As
| EARIE S
TR 1)
2 (Ewp)
= | P ULARET g
& :
>
S K] FEOLAREA 3
™ (+mh)
(e} (e}
S 3 o
AR S
= :
R i
e (DIP) ¢ 300
[ = 1.900 m4Y
L | ; 5 e o
O R B B T 1.900 2 + 1400 X 2 - 6.600 6.60 m
AR R EREE LR EI T |( 1.400 X 2 ) X 1.900 - 2.660 2.66 m®
oAk e EH T+ w) 1.400 0.950 X 1.900 - 2.527 2.52 m’
AN 1B () [ 1.400 0.950 - m/4 X 0320 2 ) X 1.900 = 2.374 2.37 m’
53 iz S i 2.660 0.050 - 0.133 0.13 m’
W T (W) 2.527 2.374 - 4.901 4.90 m*
H A s R L T | 1.400 0.720 - =/4 X 0320 2 ) X 1.900 -  1.762 1.76 m’
e 1 #OR L L 1.400 0.760 X 1.900 - 2.021 2.02 m*
t=24cm
T B B T 1.400 1.900 - 2,660 2.66 m’
t=17cm
U = S T 1.400 1.900 - 2,660 2.66 m’
t=3cm
fl | 1H £ B T |( 1.400 X 2 ) X 1.900 - 2,660 2.66 m®
H=2.00m
+ ® T = 1.900 1.90 m
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BERREME tTHAESE

HAT 22 Hi 5 IH
RErK1EAK+T@
BEERAE 6300 DP= 1,300 1700
H S
ﬁ?iENOB’? i ™
AR S
TR 1)
= (W)
= | P ULARET g
& :
>
S K] FEOLAREA 3
™ (+mh)
(e} (e}
S 3 o
AR S
= :
R i
e (DIP) ¢ 300
[ = 1.600 m4Y
L | ; 5 e o
O R B B T 1.600 2 + 1.700 X 2 - 6.600 6.60 m
AR RREREE LI EI T | 1.700 X 2 ) X 1.600 - 2.720 2.72 m®
oAk e EH T+ w) 1.700 0.950 X 1.600 - 2.584 2.58 m’
AN 1B () [ 1.700 0.950 - m/4 X 0320 2 ) X 1.600 =  2.455 2.45 m’
53 iz S i 2.720 0.050 - 0.136 0.13 m’
W T (W) 2.584 2.455 - 5.039 5.03 m*
H A8 R L T | 1.700 0.720 - =/4 X 0320 2 ) X 1.600 - 1.829 1.82 m’
e 1 #OR L L 1.700 0.760 X 1.600 - 2.067 2.06 m*
t=24cm
T B B T 1.700 1.600 - 2720 2.72 m’
t=17cm
U = S T 1.700 1.600 - 2720 2.72 m®
t=3cm
fl #E H £ B T |( 1.700 X 2 ) X 1.600 - 2720 2.72 m®
H=2.0m
+ ® T = 1.600 1.60 m
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RE L T4

A )
T Py bt E| 7
23 24 25
(t=5cm) (t=5cm)
s 4 B4 W T | A t=15emBIT 6.00 R 6.00 12.0 m
As t=15~30cmbL F 24.00 24.0 m
AS @J Hfﬁ_ {% 7k @ 67\ @%%W@J[ﬁﬁ}?—c 5cm

SHEERREIMIE 17cm 0.10 m*
_ R 2

S0 P T g g T | £ L0emBL T 2.00 2.00 4.0 m
t=15~40cmEL T 8.00 8.0 m®

IR H T (£ W) | Sy 0.28m? 1.90| 6.64] 1.66 10.2 m®
ANJTHEE T (/) 0.83] 5.99[ 0.83 7.6 m*
3 %) H | AsHZ L= 9.6km 0.10] 1.36] 0.34 1.8 m’
JE iz AL 2y | AsHS 1.80 X 2.35 t/m’ 4.2 t
AR T (+Ew) L= 8.9km 1.23] 11.99] 2.49 15.7 m®
AW HEREL T SysEiy0.28m° 0.43| 1.75] 0.43 2.6 m’
oA 8 OR LT | ANyzhy 0.28m’ 6.48| 1.52 8.0 m’
4 R LT | Nyshy 0.28m’ 1.50 1.5 m’
FEGIARA ,

T OB OB # T t=12em(fH) 8.00 8.0 m?
FEGIAREA ,

T B ¥ # T | t=20cm(¥f5H) 2.00 2.0 m?
AAULAREA ,

T OB ¥ O # T t=24cm(F3H) 2.00 2.0 m?
R TG ,

B OB O# T t=17cm(H) 2.00 2.0 m?
ARG ,
F o ¥ % T t=22cm(EH) 2.00 8.00 10.0 m?
RSB T A ‘
W 8 10 £ B T | t=3m(EH) 2.00 2.00 4.0 m?
RSB T Ao ‘
W 8 1B £ B T | t=5cm(&H) 8.00 8.0 m?
T AT 7 NI AGER S | R B TS 1okmze | 4.06 +0.07 +0.03 +0.05 +0.35 +0.05 +0.05 +0.02 +0.10| 4.78 m’
478 +2= 239 = 3 B 3AE

YR B B KE AR 3E]




A T THESE

247 23 £l # 15
f% e
1000
; (e}
2 As FEBREAS
LRI S
é . o
o 5 FA DA S
s < A PR )
e} (L)
L ORAETL E
BN
(b))
g AR S
i o8]
\/4 (DCIP) ¢ 300
L = 2.000m¥%b '

T  fE 5 B =K o=
a2 R B Mr LT 2.000 X 2 + 1.000 X 2 - 6.000 6.00 m
& %8 R BRCEE L 4 I T 1.000 X 2.000 - 2.000 2.00 m*
A IR E T (= m) 1.000 X 0.950 X 2.000 - 1.900 1.90 m’
AN #EE T CE/) | 1.000 X 0500 - /4 X 0320 2) X 2000 -  0.839 0.83 m*
[543 iz T ik 2.000 X 0.050 - 0.100 0.10 m*
A E T () 1.900 + 0.839 - 1.500 - 1.239 1.23 m’
B AR R L L [( 1.000 X 0.300 - x/4 X032 2) X 2000 -  0.439 0.43 m*
» 4 +# 2 LT 1.000 X 0.750 X 2.000 - 1.500 1.50 m’

t=20cm
T B O M T 1.000 X 2.000 - 2.000 2.00 m*

t=22cm ‘
kB B M T 1.000 X 2.000 - 2.000 2.00 m*
t=3cm
i 18 1 B T 1.000 X 2.000 - 2.000 2.00 m*
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A +THESE

247 24

) Hil (- I=!
HAIEOCDO®®
1000
; (e}
S ne  TEERIEAs
L AR S
_ AR S
s @ Bt o 1
e} (wb)
A GhAR =
BN
(b))
g AR S
5 o
M (DCIP) ¢ 300
L = 8.000 m¥%b '

T i & B = &
a2 R B Mr LT 8.000 X 2 + 1.000 X 8 - 24.000 24.00 m
SHAE R EUEE LR A T 1.000 2 X 8.000 - 8.000 8.00 m”
A IR E T (= m) 1.000 X 0.830 X 8.000 - 6.640 6.64 m®
AN E () 1.000 X 0.830 - 7/4 X 0320 2) X 8.000 - 5996 5.99 m’
[543 iz T ik 8.000 X 0.170 - 1.360 1.36 m’
AP T (+ ) 5.996 + 5.996 - 11.992 11.99 m®
B A HE R L L | 1.000 X 0.300 - x/4 X032 2) X 8000 - 1.756 1.75 m’
¥4 R L L - m®
o S N > D 1.000 X 0.810 X 8.000 - 6.480 6.48 m®

t=12cm
T B OB M T 1.000 X 8.000 - 8.000 8.00 m”

t=22cm ‘
B B M T 1.000 X 8.000 - 8.000 8.00 m”
t=Hcm
i 18 IH B T 1.000 X 8.000 - 8.000 8.00 m”
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247 25 £l # 15
D
1000
L ; (e}
o As AEFRIE As
L AR =
5 \ o
o 5 FA DA 3
s @ A PR )
e} (wb)
A GhAR S
BN
(b))
S AW =
5 o
M (DCIP) ¢ 300
L= 2.000 m%Y '

T  fE # T = o=
a2 R B Mr LT 2.000 X 2 1.000 X 2 - 6.000 6.00 m
SHAE R EUEE LR A T 1.000 2 X 2.000 - 2.000 2.00 m*
A IR E T (= m) 1.000 X 0.830 X 2.000 - 1.660 1.66 m’
AN E () 1.000 X 0500 - 7/4 X 0.320 2 ) X 2.000 -  0.839 0.83 m*
[543 iz T ik 2.000 X 0.170 - 0.340 0.34 m*
AP T (+ ) 1.660 + 0.839 - 2.499 2.49 m*
B AR HE R L L 1.000 X 0.300 - 7/4 X 0.320 2 ) X 2.000 -  0.439 0.43 m*
e /5 B R L L 1.000 X 0.760 X 2.000 - 1.520 1.52 m’

t=24cm ‘
T B O M T 1.000 X 2.000 - 2.000 2.00 m*

t=17cm .
kB B M T 1.000 X 2.000 - 2.000 2.00 m*

t=3cm
) 18 1 B T 1.000 2 X 2.000 - 2.000 2.00 m*
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W=1800
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(1) s=1/500

No. 37 %f&& ¢ 100 W=0. 60m DP=0. 85m L=154. 74m

No.35 %3100 No.35
=0. 60m W:

#HEH100
0,

No. 35 %73 ¢ 100
60m

DP=0. 85m
L=4.3Tm

DP=0. 85m
L=39. 15m "

No. 1 #i& ¢ 300

No. 1 Mk 53D ¢ 300
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QOREEHE
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Hh 100X 11 1/4° & 1 1
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Hh $ 100X 45° & 2 1 1
GXJE

5% h A ¢ 100X22 1/2° | 2 )
GXJE

5% h A ¢ 100 X 45° | 3 3
GXJE

LT $ 100X H300 & 1 1
GXJE

LT $ 100 X H450 & 1 1
GXJE

ISk $ 100 | 1 1
GXJE

i ¢ 100 | 2] 9 3

OfF - Rox 88
GXJE

7AF 6100 1 12 4 8
GXJE
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GXJE
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EF R &S~ VN ¢ 100 X 300H 1 1 1
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4 i B R Tk HAL | 6/25 | 8/25  9/25 | 10/25
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TTY 675 1 1 1
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K2 i ek fim At
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$ 300 GX ) & 3 &
T e
8/25 | 9/25 / / /
5.600 | 5.800
4.800 | 1.200 5.600 B
1.500 | 5.200 @ @ = (0400 )
3.100 | 1.500 4.800 1.200 B
4.200 © @ = ( 0.000 )
. 1.500 o) @1.500 1.200 v 1.200 y 2.100 — (0,000 )
@ @3.100 1.000 y 1.900 — (0,000 )
£
)| ® @5.800 — (0200 )
- ® @1.200 v 2.100 y 2.400 — (0300)
@ @5.200 — ( 0.800 )
@1.500 v 3.600 — (0900 )
© @4.200 v 1.700 — (0100)
@1.500 v 1.200 y 2.200 — (1100)
B 15.000 | 19.400
2100 | 2.100 ©
1.200 | 1.000
1.700 | 1.200 @
2.400 | 3.600
1.900 | 1.200 ®
2.200
z 1.200
®
£
2
o @)
3 ( 3.800 )
L T () IRER, VEOKT
LiRbE R L= 56.200 m
2HEER L= 3.800 m
SMMEEE L=0O+@= 60.000 m
4.9 HEE AR = 10 &
5.5 Blkr T 19 A
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¢ 100 GX 8] & 3§ =

ElTiE:s=s )
MABHER
8/25 | 10/25 / / /
0.800 | 1.000
0.800 | 3.300 . 0.800 y B
1.000 | 2.500 = §§> ( 0.400)
2.300 | 1.000 . 0.800 v v 0.800 _
o ® §§> ( 0.600 )
1.900 . 1.000 B
. o ® §§> = ( 0.000 )
o @Q&mv v 0.800 y 0.800 — (0100)
£
57 o) @gomv 1.000 y 1.000 v 1.000 — (0000 )
3.300 y _
i ©) @> = (0.700 )
@ @2.500 v v 0.800 — (0700)
® ¢§>1J000 v v 1.000 y 0.900 — (1100)
® @gﬂmv v 0.800 y 1.000 — (0500)
@ @gmmv 1.000 y 1.100 — (0,000 )
7 4.900 | 13.200 @1.800 v v 1,100 Lo
0.800 | 1.000 :
0.800 | 1.000
0.800 | 1.000 ©
0.800 | 1.100
0.800 | 0.900
1.000 | 1.000
z 1.000 ©
1.100 o
£
2 ®
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®
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3 ( 5.200 )
i | ©.000°] 8.100 () IRER, VEOKT
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SHEEERE L=D+@= 36.400 m — R6TLEB®ES
4. 905 FE S A% = 8 A
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HPPE ¢ 100 §] %& 34 &

[ i % - .
MABbER
10/25 | / / / /
"G
% 2.300 = 0.000
D 4.400 v = 0.600
4.500 v
= 0.500
. @
® 1.000 v 1.800 y — 2.200
£
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. ® 3.900 y 1.000 y — 0.100
S
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@
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4.500
1.000 v
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DCIP ¢ 30095 %5 B ke T
4 i IR NI = HAL| %% & i =
VHERE L= 527.249 -17.588 ([ T = 509.661
BOEE L= 528.756 -17.896 " = 510.860
) 51\?%1’# (JF%%WZ) (HLER) (tE:815p)
BE IR L ¢ 300 m 510.4 | 510.860 - 0.400
GXHET (B%) Aeff %R
W T ® 300 m| 83| 87 - 4
GXftF (FRIBE) Aeff %R
HET T ¢ 300 M 9 9 - 0
GX##T (G-Link) BN 7R
W T ® 300 m| 20| 28 - 8
753 75K Atk =R
HET T ¢ 75 M 8 - 0
T — B BERx%
= as) | ¢ 300 M 19| 19 + TR T
Aeff !
B Fp R iE ¢ 300 Hk 1 1 - 0
HTFRE O LN %I
AR E L ¢ 75 & AT 3 3 - 0
P EXNN Aeff =R
ERIPRRE L b 75 i AT 1 1 - 0
Aeff !
LY ERRE T - S a3t (G0 1 1 -0
Mz45 Aeff &R
kR BRI R P Ty AT 4 4 -0
RVTFL L R)—T T ® 300 m 510.8 | (& L E)
BHRT—7 L ® 300 m 769.9 | (E.LE) 1EFTIC X 1L.50PEX
KR — FpdE — Rk
HRER S —RGR T WHI fi§15cm A L4k m 509.3 [509.661 — 0.400 — 0.000
— A IR BN Al
5 HEHE T SR (B ) HEHES 00A m 2.9 [508.0 X 7.9t X 4501, 74
HEE R T = 1
T m 04| =732
FEIE R YR L = 1

PP e BKE
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DCIP ¢ 3009 % GidLi)

4 N IR NI = HAL| %% & 1 =
SEmsEE L= 17.588 = 17588 m
BOER L= 17.896 = 17.896 m

PIATERT (HER) G (H605)
BE IR L ¢ 300 m 17.8 | 17.896 - 0.000
GXHET (B%)
HEF T ® 300 ] 4
GX##T (G-Link)
HEF T ® 300 ] 8
AN =T VAT (R4 )
HEFE LT ¢ 300 A 1| BEsRANNE
R)T=F L R)—TF T ¢ 300 m 17.8 | (B L)
BHRT—7 L $ 300 m 27.1 (L) LERTIC DX 1L.5EE X
KEE — FiedE- Rk
HRER S —RGR T WHI fi§15cm A L4k m 17.6 |17.588 — 0.000 — 0.000

YO e B KA S




DCIP ¢ 1505 % =L
4 N IR NI = HAL| %% & i =
VHERE L= 2.614 = 2614 m
BOERE L= 2.615 = 2615 m
RIAPE T (Ftk) (&L E)
BE IR L ¢ 150 m 26| 2.615
GXHkT (BIZE)
HEF T o 150 ] 3
GX##T (G-Link)
HEF T ® 150 ] 3
TR — ek BEER
PrE B ® 150 M 21 1 + 1
) FpEkiE L ¢ 150 5 1
fEE) P ERRE T JEE - FES A 2 (G0 1
RY=F LA —F T $ 150 m 2.6 |(BDLE)
BHRT—7 L ® 150 m 2.0 [ LE) 1EATIC DX 1.5 &
KIEE — FpE-HIT
HRER S —RGR T WHI fi§15cm A L4k m 262614 — 0.000 — 0.000

YO e B KA S




DCIP ¢ 10095 % BT

4 e 2R N HAL| $& & I =
SEEIEE L= 3.619 + 3.619 + 6.768 + 22.649 + 10.669 = 47.324 m
BONMEE L= 3.619 + 3619 + 6.768 + 23.099 + 10.894 = 47999 m

,%Q\%EH‘ (1%%19&) (ELE) (FE:89p) (CEIT5%)
S ERAT L ¢ 100 m 456 | 47.999 - 1.650 — 0.691
GXHtF (B) o R
HEFT $ 100 A 12 9 + 3
GXHETF (BIEE)
T L ¢ 100 M 9
GXif#T (G-Link)
AT T ¢ 100 | 46
DU T R— B B
FEEAE LI 1 ¢ 100 A 331 22 + 11
L gRERIE T ¢ 100 P 4
LI ERRE T JEE - FEREA 3 &30 5
DCIPH
FWAREITTE THE ¢ 150 X ¢ 100 i AT 1
DCIPH
RWrkAG) ek E 1L $ 100 (&30 1
Ry FL 2 —7 T ¢ 100 m 479 | (BLE)
BHRT—7 T $ 100 m 27.2 | (D) 1EPNZ>E1.5[AEX
KFEE — - 5T
HHERY —RER T WHL g 15cm # L4k m 45.0 147.324 — 1.650 — 0.691

YO e B KA S




HPPE ¢ 1005 % B ke T
4 i IR NI = HAL| %% & 1 =
SEmIEE L= 149.694 + 5.014 + 171.980 + 6.976 = 333.664 m
BOMERE L= 149.694 +  5.200 + 172124 + 7.120 = 334.138 m
(HLER) (HE:8157)
RV F L AR T ¢ 100 m 331.5 | 334.138 - 2.580
Bl BEEX
RY)TF LG T ¢ 100 M 1] 11 +
RY=FL kT T 6100 @EHES 20 | P 13
RYVTF LT T 0100 FEHAS 10 AT 76
RY=F L H
HEF T $ 100 AW=HNAKT A 4 (VP& T
HEF T $ 100 RrsRSHilin A 1 |PC¥'af b
HEF T ¢ 150 RrsRSHilin A 1 [PCV'af b %
L BERX
HeE g T ¢ 100 | 1 + 1
T — o BERR
PRE B $ 100 M 1 + 1
T — B BERR
PrE B $ 150 M 1 + 1
H-E ke $ 100 EoY 3
fEE) P ERRE T JE - FEREA 3G (G0 4
A= ] (G0 3
VPH
AW ARG R ¢ 100 & P 1
BHRT—7 L $ 100 # LIk m 196.7 | (& LE) 1PN >E 1501 E &
KR — FpefE-JIT
HRER S —RGR T WHI fi§15cm A L4k m 333.7 | 333.664 - 2.580
P B KE A 2E ]




e KEOREFE BT
4 i IR NI = HAL| %% & i =
$ 100X ¢ 20
4y KFe A T (HPPEH) WKEHAE D (G0 4
$ 100X ¢ 25
4y KFe A T (HPPEH) WKEHAE D AT 1
$ 100X ¢ 40
4y K Fe A T (HPPEH) WKEHAE D [EE0 2
$ 100X ¢ 20
4y K Fe A T (DCIPA) WKEHAE D &P 1
$ 100X ¢ 25
4y K Fe A T (DCIPA) WKEHAE D (G0 1
a7 BT 5004 F & AT 2
RYzFL B Aaak T ¢ 20 m 8.8
RYzFL B Aaak T ¢ 25 m 4.0
RYzFL B Aaak T ¢ 40 m 4.0
YL F L BT L 620  @EEES 20 | @iFT 15
RVZTF L BT T 25 REHEA 20 &P 5
RV TF L BT T 040 REEEA 210 &P 3
TSHEF T $20 1A%V [EEh 14
TSHEF T $25 1[4V [EEh 6
TSHEF T $40 1[4y [EE0 5
RY)TF LG T ¢ 20 i 15 |3a/#
RY)TF LYW T ¢ 25 i 6 30/
RY)TF LYW T ¢ 40 i 6 30/
WEE L = B T $ 20 ] 5 |BEaRAE K ) e
WEE L = B T ¢ 25 ] 9 |BEaRss Kk e
gL = B T ¢ 40 ] 9 |BEaRss Kk e
® 20
(KRR E T (PP-VPH) AR OERMNETe P2 3
® 25
(KRR E T (PP-VPH) AR OERMNE T P2 2
® 40
(KRR E T (PP-VPH) AR OERMNE T P2 2

YO e B KA S




BERR BB E R (1/3) B-RHE T
4 g 2R NI & 1 =
AU EAVERERE I L é 300 1125.7 1100.8+9.5+9.5+5.9
AU EAVERERE I L ¢ 200 7.1 7.1
AU EAVERERE I L $ 150 8.8 3.8+5.0
AU EAVERERE I L $ 100 88.7 |4.0+19.3+2.5+6.5+5.7+2.5+4.5+1.3+7.8
+2.3+10.7+5.3+8.2+8.1
AU EAVERERE I L 675 2.6 2.6
MEmET $ 100 5.4 5.4
EeEHET $ 100 4.6 4.6
e =anln
BERR SRk UIT 1 ¢ 300 281 1125.7 / 4
e =anln
BERR S8R5 B T ¢ 200 1 7.1/ 4
G =anln
BERZ S8R B T ¢ 150 2 88 / 4
e =anlin
BERR SRk UIWT 1 ¢ 100 22| 88.7 / 4
e =anlin
BERZ SR DI T ¢ 100 1 54/ 4
e =anln
BERR I BT L ¢ 100 1 46 /4
PRSIy 64,277  1125.7 % 57.1 kg/m
272 7.1 X 38.4 kg/m
256 8.8 X 29.2 kg/m
1,800 88.7 % 20.3 kg/m
66.6
$300 ¢ 100
Sy 1.8 31.9X53.0+5.4X12.2
BeELSE 15.30 4.6X3.34
HTFREO
EPR X~ ® 75 T 6
ZER IR E L $ 75 T 1
FEMET Lz (&30 11 SATHI SR ITBERR B LB IS
A ZERIPERE L HF4%=  H=640 (&30 4
A ZERIPERE L 25 H=640 Sl 3

YO e B KA S




BESR B HEFH (2/3) B fE T
4 g R sk HAr| #% & fi ==

757 7.5K

W T ¢ 75 m] 1 BITF : 1T
757 7.5K

T T ¢ 100 5] 3 FITT - 3& T
757 7.5K

T T ¢ 300 5] 1 FITTF : 1EPr
AT = T3 VAT (X 18 F)

HEF L ¢ 100 M 2 At
AT =TI VAT (R Bk F)

T T ¢ 100 m] 1 AhiE
AT =TI VAT (R 2R F)

T T ¢ 300 ] 1 AhihE
DCIPHH

DCVTLik T H%H ¢ 100 AT 1

YO e B KA S




BESR B #E % (3/3) 7 [ i T
4 R 2R N R HAL| % & i %
WERMET ® 300 m 31.9 31.9
B ) —NEEL -
bo— NEEE T $600  7L—h— i 2.6 7t /4 X(0.7*-0.6%) X 25.5m
EE O
BER R DI T ¢ 300 H Tp osle /o4

YO e B KA S




AELTRHEERE BT

THOP)| & 3%

A G| m m e | T B ; oo
[DCIP ¢ 300]
1 DP=1.20 |Hii&No.6
PR ¢ 300 H=1.520 |#@HIfE = 0.90 m | 26.66 26.66
9 DP=1.30 |Hii&No.6
PR ¢ 300 H=1.620 |#&HIfE = 0.90 m | 295.84 62.14 + 117.45 + 80.69 + 35.56
3 DP=1.70 |Hii&No.6
PR ¢ 300 H=2.020 |#@HIfE = 0.90 m 2.26 2.26
4 DP=1.30 |ii&No.22
TR 6 300 H=1.620 |{EHIHE = 0.90 m | 176.14 176.14
5 DP=2.37 |fii&No.22
Bk ¢ 300 H=2.690 |#&HIfE = 0.90 m 3.94 2.30 + 1.64
6 FAF=7V—F & No.22
WA ¢ 300 H=3.100 [##iliE = ¢1.50 | m | 1.50 1.50

/it 506.34 m

[DCIP ¢150]

7 DP=1.25 |ii&No.22

AR 6150 | H=1.420 [#REI6E = 0.60 m 1.11 1.11
3 DP=1.30 |ii&No.22

TR 6150 | H=1.470 [#REI6E = 0.60 m 1.50 1.50

BE 261 m

[HPPE ¢ 100]
9 DP=0.85 |fii#iNo.1

HrakE ¢ 100 | H=0.970 |#EiEI6E = 0.60 m 5.36 1.35 + 4.01
10 DP=1.30 |fii#iNo.1

TR 100 | H=1.420 [#RE6E = 0.60 m 0.65 0.65
11 DP=0.85 |fii&No.22

HFrakE ¢ 100 | H=0.970 |#EiEI6E = 0.60 m | 10.98 498 + 6.00
12 DP=0.85 |ffii&No.#*1

HERE ¢ 100 H=0.970 |#EHItE = 0.60 m 240.03 1823 + 4770 + 2010 + 1660 + 11.00 + 7570 + 4.93

+ 1039 + 4.30 + 9.67 *+ 2141

13 DP=0.85 |11 No.#*3
HBrEkE ¢ 100 H=0.970 |#EHItE = 0.60 m 71.34 7.00 + 650 + 1200 + 7.35 + 7.30 + 1166 + 4.30 + 5.50
+ 501 + 3.72 + 1.00
14 DP=0.85 |11 No.#*9
WIERE 6100 | H=0.970 |#RHEIIE = 0.60 m | 3.80 3.80
15 DP=1.30 |Hii&No.1
Rk 1k 7K H=1.620 |#EHItE = 1.20 m 1.20 1.20
16 DP=0.85 |Hii&No.1
Rk 1k 7K H=1.170 |#EHItE = 1.20 m 1.10 1.10

/et 334.46 m

[DCIP ¢100]

DP=0.85 |fii#iNo.1

1T gene 5100 | 11=0.970 |#MiE — 060 | m | 196 | 1.96
18 .. DP=1.20 |fii#iNo.1
RS 100 | H=1.320 [#REI6E = 0.60 m 2.07 2.07
19 .. DP=1.30 |Hii&No.6
HrakE ¢ 100 | H=1.420 |#EEI6E = 0.60 m | 14.01 3.62 + 3.62 + 6.77
20 .. DP=0.85 |fii&No.22
HrakE ¢ 100 | H=0.970 |#EiEI6E = 0.60 m 8.50 3.87 + 3.38 + 1.25

921 DP=0.85 |fii&No.#*1
AR 6100 | H=0.970 |4E5IE = 0.60 m | 21.68 7.96 + 1372

99 DP=1.20 |fii#iNo.1
AWK 5y H=1.570 |#EHIIE = 1.00 m 1.07 1.07

AEE - 49.29 m

B s B KB AR SE ]




AELTEHERAE

THOOP)| & % O OB || s = - -
BB e wom ey | BOE CEEE S
23 18 No.6
AT H=1.500 |#EHIIE = 1.00 m 4.00 2.00 + 2.00
24 Hi1ENo.22
AT H=1.500 |#EHIIE = 1.00 m 4.00 2.00 + 2.00
NG 8.00 m
KL
[DCIP ¢ 300]
o5 DP=1.30 |ii&No.22
HRE 6 300 H=1.620 |#@HIfE = 0.90 m 4.64 3.05 + 1.59
2% DP=1.30 |lECAZ#
HRE 6 300 H=1.620 |#@HIfE = 0.90 m 3.21 3.21
97 DP=2.10 |lECAZ#
HRE 6 300 H=2.420 |#@HIfg = 0.90 m | 10.36 10.36
JEF 18.21 m
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B EBE fj&% f)a E; iﬁ@%ﬁj BRI T
DP B e I ROS wr e = o .
A G| m m e | T B ; L
[DCIP ¢ 300]
1 DP=1.30 |fii#iNo.1
BESRA 6 300 H=1.620 |#@HIfE = 0.90 m 1.80 1.80
9 DP=1.30 |Hii&No.6
BERRAE ¢ 300 H=1.620 |#&HIfE = 0.90 m | 284.90 176.40 97.80 + 10.70
3 DP=1.57 |Hii&No.6
BESR4 6 300 H=1.890 |#@HIfE = 0.90 m | 23.20 23.20
4 DP=1.80 |Hii&No.6
BESRA 6 300 H=2.120 |#@HIfE = 0.90 m | 19.30 19.30
5 DP=1.30 |ii&No.22
BESR4 6 300 H=1.620 |#@HIfE = 0.90 m | 159.10 149.90 9.20
6 DP=1.80 |ii&No.22
BESRA 6 300 H=2.120 |#@HIfE = 0.90 m | 26.40 26.40
7 DP=2.00 |fii&No.22
S 6 300 H=2.320 |#&&IME = 0.90 m 2.70 2.70
3 DP=0.85 |fii&No.35
BESRA 6 300 H=1.170 |#@HIfg = 0.70 m 4.80 4.80
9 DP=1.40 |ii&No.35
BERRAE ¢ 300 H=1.720 |#&HIfE = 0.90 m | 444.00 128.40 313.30 + 2.30
10 DP=1.30 |fii&No.37
BERRAE ¢ 300 H=1.620 |#&&IME = 0.90 m | 78.50 76.50 2.00
11 DP=1.40 |ii&No.37
BERRAE ¢ 300 H=1.720 |#&&IME = 0.90 m | 78.90 78.90
12 DP=0.85 |fii&No.#*1
BERRAE ¢ 300 H=1.170 |#&&IME = 0.70 m 2.40 2.40
JhEF 1126.00 m
[DCIP ¢ 200]
13 DP=0.90 |ii&No.35
BEERS 6200 | H=1.120 |4E5IE = 0.60 m 5.20 5.20
14 DP=1.40 |#ii&No.35
BERRAY 6200 | H=1.620 [#REIfE = 0.90 m 1.90 1.90
NG 7.10 m
[DCIP ¢150]
15 DP=1.25 |Hii&iNo.22
BEZRAY 6150 | H=1.420 [#REIHE = 0.60 m 4.00 4.00
16 DP=1.50 |#ii&No.35
BERRAY 6150 | H=1.670 [#REIfE = 0.90 m 3.80 3.80
17 DP=1.30 |fii&No.#*1
BERRAY 6150 | H=1.470 [#REI6E = 0.60 m 1.00 1.00
BE 8.80 m

RN VLY SRS

eS|




BE 3% & W %jj:%&% f)a E; 4%@@% J&Fﬁwz
DP)[ 4f & T o | v = ~ N .
BB lmmean] wom g | P BOE G 5K
[[DCIP-VP+SP ¢ 100]
18 .. DP=0.85 |fii#iNo.1
BEERS 6100 | H=0.970 |4E5IE = 0.60 m 2.90 2.90
19 DP=1.30 |fii#iNo.1
BEER 6100 | H=1.420 |4E5IE = 0.60 m 6.50 450 + 2.00
20 . . DP=1.00 |Hii&No.6
BEERS 6100 | H=1.120 |[4E5IIE = 0.60 m 9.00 450 + 1.30 + 3.20
o1 . DP=1.30 FﬁiEI\Lo.ﬁ
BEERS 100 | H=1.420 i@ﬁﬂﬁlﬁ = 0.60 m | 20.50 250 + 650 + 440 + 250 + 4.60
29 DP=1.57 |Hii&No.6
BEERS 6100 | H=1.690 |4E5IiE = 0.90 m 1.30 1.30
93 DP=0.85 |Hii&iNo.22
BEER 6100 | H=0.970 |4E5IE = 0.60 m 7.40 2.30  + 5.10
on DP=1.30 |ii&No.22
BEER 6100 | H=1.420 |4E5IE = 0.90 m | 10.50 .00 + 9.50
o5 DP=1.80 |fii&No.22
BEERS 6100 | H=1.920 |4E5IE = 0.90 m 9.40 2.70  + 6.70
2% DP=1.30 |fii&No.35
BEERS 6100 | H=1.420 |4E5IE = 0.60 m 4.20 4.20
o7 DP=1.50 |ii&No.35
BEERS 6100 | H=1.620 |4E5IE = 0.90 m 2.90 2.90
28 DP=1.30 |fii&No.#*1
BEERS 6100 | H=1.420 |4E5IE = 0.60 m 4.30 4.30
99 DP=1.50 |fii&No.#*1
BEER 6100 | H=1.620 |4E5IE = 0.90 m 1.10 1.10
30 . . DP=0.90 |Hii&No.#*3
BEER 6100 | H=1.020 |4E5IE = 0.60 m 8.20 8.20
31 DP=1.30 |Hii&No.#*3
BEERAE 6100 | H=1.420 |4E5IE = 0.60 m | 10.50 6.90 + 3.60
39 DP=1.80 |fii&No.22
R 17K H=2.120 |#&&IME = 1.20 m 1.50 1.50
it 100.20 m
[DCIP ¢ 75]
33 DP=1.50 |ii&No.35
BEERAE 675 H=1.590 |#&&IME = 0.90 m 2.60 2.60
NE 2.60 m

RN VLY SRS
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BE 3% & WL i%&% f)a E; ?ﬁ%ﬁj R T
DP)[ 4f & T[] e = B N ]

S e, e ; L
[HP ¢ 600]
34 DP=2.00 |fii&No.22

SR ¢ 600 H=2.700 |{EHIHE = 1.30 m 11.20 8.80 + 2.40
35 DP=2.00 |IECAS

KR ¢ 600 H=2.700 |#@HIfg = 1.30 m | 14.70 14.70

JEF 2590 m
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DCIP ¢ 300 +T 43 B I T
T % 4 7 i
T f& # B 7t
1 2 3 4 5 25 26 27
(t=12cm) [(t=12cm) |(t=12cm) [(t=12cm) |(t=12cm)
s % g g g T | A t=lsemMT 53.32[591.68 4.52|352.28] 7.88 1009.6 m
As t=15~30cmlL m
A g BT e TS
AS G) WF )k A gy | SESREIE L2em
2.87 m*
t=10cmlA T m2
A Ak =1
Al i i I S LA T t=10~15cmLh F 23.99| 266.3] 2.03[158.52| 3.54 454.3 m’
t=15~40cmEL F m?
o H T (=) | SyrRy 0.28m? 33.59(399.38| 3.86/237.78| 9.11 683.7 m’
A FHE T+ ") m®
3 M 1 # | As#Z L= 9.6km 2.87] 31.95] 0.24| 19.02| 0.42 54.5 m’
3 iz AL 4 | AsHT 54.50 X 2.35 t/m’ 128.0 t
Bl ~NE xS ,
. L= 0.5km | 20.87[231.64| 1.76/225.10] 5.03 484.4 m’
=3 L 7
?ﬁik@]:(j:f/) {ﬁ%%%“@ﬁ:}ﬂﬂ
L= 8.9km | 20.87[231.64 1.76/225.10] 5.03] 5.93| 4.24| 21.16 515.7 m®
AW E E L T | NysEkY0.28m’ 7.93] 88.03| 0.67| 52.41| 0.62 149.6 m*
e 7 8 RE L L | Surky0.28m? 110.96] 2.48 113.4 m*
¥ 4+ BORE L L | SusRY 0.28m’ 12.711167.74]  2.09| 12.68] 4.07 199.2 m*
HAYAMA
T B B M T | t=15cm(FH) 23.991266.25| 2.03[158.52 3.54 454.3 m®
ARG
o % & T | t=37cm(@H) 23.99]266.25| 2.03 292.2 m*
AR )
B O M T | t=22cm(FiH) 158.52| 3.54 162.0 m
FAEBRET ATy
" H & B L | t=5cm(H) 23.99/266.25| 2.03[158.52 3.54 454.3 m®
R B R 7= A R~
+ B T | H=2.0m 1B% 26.66(295.84 176.14 498.6 m
) R AR AR
+ = T | H=2.5bm 2% 2.26 2.2m
R B R 7= A R~
+ B T | H=3.0m 2B% 3.94 3.9 m

YR s B KE AR SE]




DCIP ¢ 300 +T 43+ AR I T
+ T ¥ 4 7 )
T f& gl B i
25 26 27
(t=12cm) [(t=15cm) |(t=15cm)
s % g g g T | A t=lsemMT 9.28] 6.42] 20.72 36.4 m
As t=15~30cmlL m
AS @J Eﬁﬁ. (% 7k m /77\ %ﬁ%hﬁ@][iﬁ@ 120m
EZEAREINTE 15cm 0.12 m*
t=10cmlA T m2
s b %
Al i i I S LA T t=10~15cmLh F 4.17( 2.88] 9.32 16.3 m®
t=15~40cmEL F m?
o H T (=) | SyrRy 0.28m? 6.26] 4.24| 21.16 31.6 m*
A FHE T+ ") m®
3 M 1H # | As#Z L= 9.6km 0.50| 0.43] 1.39 2.3 m*
3 iz AL S| AsHs 232 X 2.35 t/m’ 5.4 t
] B~ & X5
A T () L= 0.5km 5.93| 4.24| 21.16 31.3 m’
B ERE L | SyrEky0.28m° 1.38] 2.02| 13.99 17.3 m*®
e H O#H R L T | Syzdv0.28m’ 2.92 2.9 m’
A&+ # R L L | Syuskv0.28m? 0.33 0.3 m*
HAEULAMEG
T B ¥ T | t=38cm(HE) 2.88[ 9.32 12.2 m®
FAEYAA
T B B M T | t=15cm(#H) 4.17 4.1 m*
Bk
B ¥ M T | t=38cm(HiH) 2.88[ 9.32 12.2 m®
ARG
B OB o T | t=22cm(FH) 4.17 4.1 m*
AR ET AT
B B £ B T | t=7cm(8:H) 2.88[ 9.32 12.2 m®
FERRLE T Ay
" B B £ JB T | t=5cm(&EH) 4.17 4.1 m*
R B R 7= A R~
+ B T | H=2.0m 1B% 4.64| 3.21 7.8 m
) B LA M 7 CiA
+ = T. | H=3.0m 2B 10.36 10.3 m
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DCIP ¢ 300 +TEl&EE B T
5470 1 ﬂ ‘é’u /E IEI
HrEX® $300 DP= 1,200 900
L 1 <
HiiENo.6 i 0
§ As FEBREAs
| EARIAE S
| FEOLAREG 2
o i
[aN]
Lo o
= 2
- WebimE . AL 2
(tw)
D PR S
‘s (DCIP) ¢ 300
L= 26.660 m>Y
T & it C ey ¥ B
2 AR B Mr T 26.660 2 - 53.320 53.32 m
Al S IRCERCEE L PR A T 0.900 X 26.660 - 23.994 23.99 m*
I E T () 0.900 1.400 X 26.660 - 33.501 33.59 m’
53 iz pEet & 23.994 0.120 - 2.879 2.87 m*
OB T (W) 33.591 12.716 - 20.875 20.87 m®
B E E L T |( 0.900 0.420 - /4 X 0320 2 ) X 26.660 -  7.933 7.93 m’
¥ 4 R L L 0.900 0.530 X 26.660 - 12.716 12.71 m®
t=15cm
ToB K % T 0.900 26.660 - 23.994 23.99 m*
t=37cm ‘
EoB B & T 0.900 26.660 - 23.994 23.99 m*
t=5cm
. & 1A B T 0.900 X 26.660 - 23.994 23.99 m®
H=2.00m
+ ® T = 26.660 26.66 m

YOP | o By KB A E ]




DCIP ¢ 300 +TEl&EE B T
5470 2 ﬂ ‘é’u /E IEI
HrEX® $300 DP= 1,300 900
L =
HiiENo.6 i 0
§ As HAEBRE As
| R S
| FEOLAREG 2
o i
[aN] hi
© (e} i
- S i
I} i -
— Bewdrdl - RAeL 3
(k)
D PR S
-\ _#iE% (DCIP) ¢ 300
[ = 295.840 m4Y
T g &t ) = ¥ &
2 AR B Mr T 295.840 X 2 - 591.680 591.68 m
Al S IRCERCEE L PR A T 0.900 X 295.840 - 266.256 266.25 m*
I E T () 0.900 X 1.500 X 295.840 - 399.384 399.38 m’
53 iz T il 266.256 X 0.120 - 31.950 31.95 m®
OB T (W) 399.384 — 167.741 - 231.643 231.64 m®
B A E R L T [( 0900 X 0420 - n/4 X 0320 2 ) X 295840 - 88.034 88.03 m’
» E + # K L L 0.900 X 0.630 X 295.840 - 167.741 167.74 m®
t=15cm
T B ¥ % T 0.900 X 295.840 - 266.256 266.25 m*
t=37cm ‘
B O B T 0.900 X 295.840 - 266.256 266.25 m”
t=5cm
) 18 IH B T 0.900 X 295.840 - 266.256 266.25 m”
H=2.00m
+ ® T = 295.840 | 295.84 m

YOP | o By KB A E ]




DCIP ¢ 300 +TEl&EE B T
5470 3 ﬂ ‘é’u /E IEI
HrEx® $300 DP= 1,700 900
L H (e}
Mi1ENo.6 i ©
§ As FEBREAs
AR S
| A GNARE 3
o i
s o
XTI -
— Bewdrdl - RAeL 3
(tw) —
D PR S
‘e (DCIP) ¢ 300
L= 2.260 m4Y
T ff &t B X W &
2 AR B Mr T 2.260 2 - 4.520 4.52 m
A % R BUCEE L SR HI T 0.900 X ~2.034 2.03 m*
I E T () 0.900 1.900 X 2.260 - 3.864 3.86 m*
53 w7 pEet & 2.034 0.120 - 0.244 0.24 m*
OB T (W) 3.864 2.095 - 1.769 1.76 m’
HoAE R OE R L T 0.900 0.420 - /4 X 0320 2 ) X 2260 -  0.672 0.67 m*
» 4 + 8 R LT 0.900 1.030 X 2.260 - 2.095 2.09 m*
t=15cm
T B ¥ % T 0.900 2.260 - 2.034 2.03 m*
t=37cm ‘
B O B T 0.900 2.260 - 2.034 2.03 m*
t=5cm ‘
. & 1A B T 0.900 X ~2.034 2.03 m*
H=2.50m
+ ® T = 2.260 2.26 m

YOP | o By KB A E ]




DCIP ¢ 300 +TEl&EE B T
5470 4 ﬂ ‘é’u /E IEI
HrEx® $300 DP= 1,300 900
L =
B No.22 i ©
§ As HAEBRE As
AR R
| FEOLAREG 2
o i
[aN] hi
<l 8 : . o
- 8 P AEYLAREA S
— FEARAE ] !
B T e+ o
D PR S
‘e (DCIP) ¢ 300
[, = 176.140 m4Y
T & it C ey ¥ B
2 AR B Mr T 176.140 2 - 352.280 352.28 m
Al S IRCERCEE L PR A T 0.900 X 176.140 - 158.526 158.52 m*
BB E T+ ) 0.900 1.500 X 176.140 - 237.789 237.78 m®
53 w7 pEet & 158.526 0.120 - 19.023 19.02 m*
OB T (W) 237.789 12.682 - 225.107 225.10 m®
HA W E E L T [(0.900 0.420 - m/4 X 0.320 2 ) X 176.140 - 52.414 52.41 m®
» E + # K L L 0.900 0.080 X 176.140 - 12.682 12.68 m*
e on MR L L 0.900 0.700 X 176.140 - 110.968 110.96 m*
t=15cm
T B ¥ % T 0.900 176.140 - 158.526 158.52 m*
t=22cm ‘
B O B T 0.900 176.140 - 158.526 158.52 m*
t=5cm
R % 1B # B L 0.900 X 176.140 - 158.526 158.52 m*
H=2.00m
+ B T = 176.140 176.14 m

YOP | o By KB A E ]




DCIP ¢ 300 +TEl&EE B T
&47 5 ﬂ ‘é’u /E IEI
HrEx® $300 DP= 2,370 900
L H (e}
Mi1ENo0.22 i ©
S As HAEBRE As
AR R
| A GNARE 3
2 |
< g i . o
I | PR AR DA S
Q) %m@ﬁu ,
D PR S
#rax® (DCIP) ¢ 300
L= 3.940 m3¥%4Y
T g &t B = ¥ &
2 AR B Mr T 3.940 X 2 - 7.880 7.88 m
Al S IRCERCEE L PR A T 0.900 X 3.940 - 3.546 3.54 m’
BB E T+ ) 0.900 X 2.570 X 3.940 - 9.113 9.11 m*
53 iz T il 3.546 X 0.120 - 0.425 0.42 m*
OB T (W) 9.113 — 4.077 - 5.036 5.03 m*
H AWM HE R L LT 0.900 X 0.420 - /4 X 0320 2 ) X 3.940
ek Ph#EoL7U— A 0.543 - 0.629 0.62 m*
» E + # K L L 0.900 X 1.150 X 3.940 - 4.077 4.07 m*
e oM OR LT 0.900 X 0.700 X 3.940 ~ 2482 2.48 m*
t=15cm
T B ¥ % T 0.900 X 3.940 - 3.546 3.54 m’
t=22cm ‘
B K B T 0.900 X 3.940 - 3.546 3.54 m’
t=5cm
R % 1B # B L 0.900 X 3.940 - 3.546 3.54 m’
H=3.00m
+ ® T = 3.940 3.94 m

YOP | o By KB A E ]




DCIP ¢ 300 +TEl&EE B T

ZAT 6

K T AT

DCIP ¢ 300 + TitHEE(FAF—71L—k7h) &R

YOP | o By KB A E ]




DCIP ¢ 300 +TEl&EE R LT
&47 25 ﬂ ‘é’u /E IEI
HrEX® $300 DP= 1,300 900
(e}
E LO
S ne  TEBRIEAs
| EARIAE S
| A GNARE 3
o i
2 s ; -
- 8 P AEYLAREA S
— %m@ﬁu ,
D PR S
‘e (DCIP) ¢ 300
L= 4.640 m4Y
T g &t B = ¥ &
2 AR B Mr T 4.640 2 - 9.280 9.28 m
Al S IRCERCEE L PR A T 0.900 X 4.640 - 4.176 4.17 m*
BB E T+ ) 0.900 1.500 X 4.640 - 6.264 6.26 m®
53 w7 pEet & 4.176 0.120 - 0.501 0.50 m*
OB T (W) 6.264 0.334 - 5.930 5.93 m®
HoAE R OE R L T 0.900 0.420 - /4 X 0320 2 ) X 4640 -  1.380 1.38 m*
» 4 + 8 R LT 0.900 0.080 X 4.640 - 0.334 0.33 m*
e 7 B K L L 0.900 0.700 X 4.640 - 2923 2.92 m*
t=15cm
T B ¥ % T 0.900 4.640 - 4.176 4.17 m*
t=22cm ‘
B O B T 0.900 4.640 - 4.176 4.17 m*
t=5cm ‘
R % 1B # B L 0.900 X 4.640 - 4.176 4.17 m*
H=2.00m
+ ® T = 4.640 4.64 m
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DCIP ¢ 300 +TEl&EE R LT
&47 26 ﬂ ‘é’u /E IEI
HrEX® $300 DP= 1,300 900
S
=
= As R As
AR 2
| FEGLARA =
o i
S o
i
— TR 1) \
Cbayy | FHER
‘s (DCIP) ¢ 300
L= 3.210 m4Y
T & it C ey ¥ B
2 AR B Mr T 3.210 2 - 6.420 6.42 m
A % R BUCEE L SR HI T 0.900 X ~ 2.889 2.88 m’
I E T () 0.900 1.470 X 3.210 - 4.246 4.24 m*
53 w7 pEet & 2.889 0.150 - 0.433 0.43 m*
OB T (W) 4.246 - 4.246 4.24 m*
HoAE R OE R L T 0.900 0.790 - ©/4 X 0320 2 ) X 3.210 -  2.024 2.02 m*
_ m®
t=38cm ‘
T B ¥ % T 0.900 3.210 - 2.889 2.88 m’
t=38cm ‘
B O B T 0.900 3.210 - 2.889 2.88 m’
t=7cm ‘
. & 1A B T 0.900 X -~ 2.889 2.88 m’
H=2.00m
+ B T = 3.210 3.2l m

YOP | o By KB A E ]




DCIP ¢ 300 + T 3l&& KEhE LT
&470 27 E ‘é’IJ /E IEI
HrEX® $300 DP= 2,100 900
Hi1ENo.6 =
= N HEBRIEAs
mARERG | 3
AR 3
o i
3 g
o KR 1 AR
() S

L = 10.360 m*4Y

D

‘e (DCIP) ¢ 300

T & 7t B o
WO AR W W T 10.360 2 - 20.720 20.72 m
BHAS R ICE LI H T 0.900 X - 9.324 9.32 m’
B MR H T () 0.900 2.270 X 10.360 - 21.165 21.16 m*
BE M & i 9.324 0.150 - 1.398 1.39 m*
LR T (h®) 21.165 - 21.165 21.16 m*

H A HE R L T | 0.900 1.590 - m/4 X 0.320 2 ) X 10.360 - 13.991 13.99 m*

_ m®
t=38cm

T B ¥ % T 0.900 10.360 - 9.324 9.32 m*
t=38cm

B O B T 0.900 10.360 - 9.324 9.32 m*
t=7cm

. & 1A B T 0.900 X - 9.324 9.32 m*
H=3.00m

+ ® T = 10.360 10.36 m
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DCIP ¢ 300 +TFEE (FA4F-—7L— b)) BEEL

T & TR 1% B E2V ¥ =
A7 6  ifiiENo. 22 7447V} ¢ 1500
ISR LT
2SR BT T t=15cmLh 0.684 %8 = 5.47 5.5 m
AS Y& K ML 5y t=12cm 0.02 nf
s Lyl ) t=15emPh F 2X0.684*X (1+y2) = 2.26 2.3 nd
FERA T 2.26X0. 12 = 0.27 0.3
BEM LSy AsH 7 0.27X2.35 = 0.63 0.6 t
SHLERET
a7 J— kT [18-8-25(20) &fF|  m/4X1.50X1.50X0. 15 = 0.27 0.3 m
tT PREIERE 7 /4X1.50°=1.77
5 A F—E5y S 354y 1.29m X 1. 77 = 2.28uf 2.3 m
VX E Y 1.69m X 1. 77 = 2.99 nf 3.0 m
A7 VLR B 1=2. 7 = 3.00m 3.0m
IAF=7" V- t=2.7 3. 00-1. 50 = .50 m 1.5m
777 hL F)LH)L ;3 0.09X 7 X (1.50+0.09) X3.00 = 1.35 ni 1.3 nd
MR T AR YLAREA 1.77X0. 70 = 124 1.2 nd
HRET AT 1.77X0.93- 7 /4X0.32°X0.75 = 1.59 nd 1.6 m
TE AT ﬁit;l?g%% =4 1) o A = 177 1.8 nf
t=22cm
AR T FAERRA =4 1) o A = 177 nd 1.8 nf
RiEIHRE T ﬁitg*?f%s =EH S UK L mi i = 2.26 ni 2.3 nd
B~ & X 3 AN CREME T+ 1) -HR L &4 1)
7B T (ER) [ (R & S~ 2. 28+2. 99-1. 59 = 3.69 nf 3.7 o

B e By KB AR SE ]




DCIP ¢ 300 LTHEE (FA4F7—7 L — b)) BREET
T fE JEAR~TE B 2y 2 &=
ST (ER) ¢ 1500
B R 3.00 m
MWERE 1.50 m
AR 1.50 m
s 175. Tkg/mX 1. 50/1000 = 0.264 nf 0.264 t
A 175. Tkg/m X 1. 50/1000 = 0.264 ni 0.264 t
BEETT
ME%E Tk U —A# SHBLr—yy )"« 9477 V=hHEH ¢ 1500 1
Eify = 750 ke 0.75 t
7 TAHRBHPH T 1=/ H X8 H-1 (%) = 7 [ 7 [
EoiET
U
27 U — b1 [18-8-25(20) Fif| 7 /4X1.50%X0.90- 7 /4X0.32°X1.16 = 1.497 ni
SR
1.00X0.80X0.80- 7 /4X0.32°X1.21 = 0.543 ni 2.0 ni
P T 1.00X0. 80X 2+0.80X0.80X2 = 2 880 ni 2.9 nf

B e By KB AR SE ]




DCIP ¢ 150 +T 435t BT
+ T % 4 7
T Py bt E| 7
7 8
(t=12cm) |(t=12cm)
i ¥ AR B W T [ As t=15~30cmbA T 2.22| 3.00 5.2 m
AS ) Wb ¥ K AL 5y | sEREIETE 17cm 0.01 m*
BAERREREE LR E T | t=10~15cmBL T 0.66] 0.90 1.5 m*
IR H T (R W) | Sy 0.28m? 0.86| 1.21 2.0 m®
13 ) S % | AsHS L= 9.6km 0.07| 0.10 0.1 m’
JE iz AL 2y | AsHS 0.17 X 2.35 t/m’ 0.3t
‘ B 55~ (B & 5 ~ L5y

R T (- ) L= 8.9km 0.86] 1.21 2.0 m’
AW RE LT SysEy0.28m’ 0.15] 0.20 0.3 m’
oA 8 OR LT | ANyzhy 0.28m’ 0.46] 0.63 1.0 m’
4 R LT | Nyshy 0.28m’ 0.01] 0.07 0.1 m*

FAUNAREA ,
T g ¥ % T t=12cm(EH) 0.66 0.90 1.5 m*

ARG ,
F o ¥ % T t=22cm(H) 0.66 0.90 1.5 m*

TR T A ‘
I # B £ B T | t=5cm(dH) 0.66] 0.90 1.5 m*

YR B B KE AR 3E]




DCIP ¢ 150 + T & E B T
&47 7 ﬂ ‘é’u /E IEI
HrEX® 150 DP= 1,250 600
H (e}
Ti1ENo.22 i -
S As HAEBRE As
AR R
| FEOLAREG 2
o i
3 2 ; -
- & P AEYLAREA S
— %W@ﬁu ,
N (e]
D P T 2
% (DCIP) ¢ 150
[ = 1.110 m%4Y
T & it C ey ¥ B
2 AR B Mr T 1.110 2 - 2.220 2.22 m
SAERREREE LR EI T | 0.600 2 ) X 1.110 - 0.666 0.66 m”
I E T () 0.600 1.300 1.110 - 0.865 0.86 m*
53 w7 pEet & 0.666 0.120 - 0.079 0.07 m*
OB T (W) 0.865 - 0.865 0.86 m*
BoA R E E L T |(0.600 0.270 - /4 X 0.170 2 ) X 1.110 =  0.154 0.15 m*
» 4 + 8 R LT 0.600 0.030 1.110 - 0.019 0.01 m*
e oM OR L L 0.600 0.700 1.110 - 0.466 0.46 m*
t=15cm
T B ¥ % T 0.600 1.110 - 0.666 0.66 m”
t=22cm ‘
B O B T 0.600 1.110 - 0.666 0.66 m”
t=5cm ‘
) 18 IH B T [ 0.600 2 ) X 1.110 - 0.666 0.66 m”
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DCIP ¢ 150 + T & E B T
&47 8 ﬂ ‘é’u /E IEI
HrEX® 6150 DP= 1,300 600
H (e}
Ti1ENo.22 i -
S As HAEBRE As
AR R
| FEOLAREG 2
o i
5 2 ; -
- A P AEYNAREA S
— %W@ﬁu ,
N (e]
D P T 2
% (DCIP) ¢ 150
[ = 1.500 m34Y
T & it C ey ¥ B
2 AR B Mr T 1.500 2 - 3.000 3.00 m
SAERREREE LR EI T | 0.600 2 ) X 1.500 -~ 0.900 0.90 m*
BB E T+ ) 0.600 1.350 1.500 - 1.215 1.21 m’
53 w7 pEet & 0.900 0.120 - 0.108 0.10 m*
OB T (W) 1.215 - 1.215 1.21 m’
BoA R E E L T |(0.600 0.270 - /4 X 0.170 2 ) X 1.500 -  0.208 0.20 m’
» 4 + 8 R LT 0.600 0.080 1.500 - 0.072 0.07 m*
e oM OR L L 0.600 0.700 1.500 -~ 0.630 0.63 m*
t=15cm
T B ¥ % T 0.600 1.500 - 0.900 0.90 m*
t=22cm ‘
B O B T 0.600 1.500 - 0.900 0.90 m*
t=5cm ‘
) 18 IH B T [ 0.600 2 ) X 1.500 -~ 0.900 0.90 m*

YOP | o By KB A E ]




HPPE ¢ 100 T

BT

+ T % 4 7

T f& #m H i
9 10 11 12 13 14 15 16
(t=5cm) [(t=5cm) [(t=12cm) [(t=3cm) [(t=5cm) | 1% — |(t=Hcm) |(t=Hcm)
s 4 g W) g T | A 1= 15emBT 10.72| 1.30| 21.96/480.06]|142.68|nv%>4 4.80| 4.60 666.1 m
As t=15~30cmLL m
ARAERREITE 3cm
) Wy A
AS U1 BT 8 K AL O3 | s o Som
HEERREIMTE 12cm 0.77 m®
_ NES 2
S5 o B e U3 ) T | L 10emBL T 3.21] 0.39 144.01| 42.80 1.44] 1.32 193.1 m
t=10~15cmbL F 6.58 6.5 m®
A H—ay% 7 ey /R | mEE s 2.28 2.2 m*
R T () | Ry sk 0.28m? 2.95| 0.53| 5.59]135.37] 39.37| 1.96[ 0.93] 0.26 186.9 m’
PN I | I 0.92] 0.25 1.1m’
3 %) H | AsHZ L= 9.6km 0.16] 0.01| 0.79] 4.32] 2.14 0.07| 0.06 7.5 m’
S — 3 —
P o n 4 AsHT 3.23 X 2.35 t/m = 7.59
AsHT 432 X 2.15 t/m* = 9.28 16.8 t
‘ B~ (R X5~ ALy Hh
B T () L= 8.9km 1.99| 0.24]| 3.42| 46.08| 20.11| 1.61] 0.76] 0.10 74.3 m®
AP MR L T | XysEy0.28m 0.64| 0.07| 1.32] 28.96] 8.61| 0.45| 0.59] 0.54 41.1 m’
oA 8 OR LT | ANyshy 0.28m’ 2.17 2.1 m’
& LB R L LT | SyrkY 0.28m’ 0.96] 0.29 89.29] 19.26] 0.34] 1.08] 0.39 111.6 m’
FAAMA ,
T ¥ T | t=27cm(83H) 42.80 42.8 m*
FAEEAA ,
T g ¥ % T | t=20cm(d#H) 3.21] 0.39 1.44] 1.32 6.3 m’
A ,
T B ¥ # T | t=15cm(¥fH) 6.58 2.28 8.8 m’
A ,
T OB OB # T t=10cm(H5H) 144.0 144.0 m*
A ,
B OB M T | t=37cm(EFH) m?
ARG ,
B B % T | t=2cm(EH) 3.21] 0.39] 6.58 1.44] 1.32 12.9 m*
B ,
B OB # T t=10cm(H5H) 2.28 2.2 m?
AR ET ATy ‘
W 8 10 £ B T | t=5cm(&H) 6.58 6.5 m*
AR ET ATy ‘
W I £ B T | t=3cm(HiH) 3.21] 0.39 42.80 1.44 1.32 49.1 m*
AR E T Aoy |
W 8 1B £ B T | t=3emHE) 144.01 144.0 m*
Avh—ny%y )7 0y ) T | t=8cm P 2.28 2.2 m*
+ 7 T | H=2.00m 1B 1.20 1.2 m

YR B B KE AR 3E]




HPPE ¢ 100+ T 3B E B T
5470 9 ﬂ ‘é’u /E IEI
B 6100 DP= 850 600
L H (e}
fiiENo. 1 o
= ns | EERIEAS
AR R
| AR g
E !
[op} o
& =
Bewdrdl - RAeL =
(k)
D PR 3
FrEks (HPPE) ¢ 100
[ = 5.360 m4V
T & it C ey ¥ B
2 AR B Mr T 5.360 2 - 10.720 10.72 m
Al S IRCERCEE L PR A T 0.600 X 5.360 - 3.216 3.21 m’
BB E T+ ) 0.600 0.920 X 5.360 - 2958 2.95 m*
53 w7 pEet & 3.216 0.050 - 0.160 0.16 m*
OB T (W) 2.958 0.964 - 1.994 1.99 m’
HoAE R OE R L T 0.600 0.220 — /4 X 0.120 2 ) X 5.360 -  0.646 0.64 m’
» E + # K L L 0.600 0.300 X 5.360 - 0.964 0.96 m*
t=20cm
T B ¥ % T 0.600 5.360 - 3.216 3.21 m’
t=22cm ‘
B O B T 0.600 5.360 - 3.216 3.21 m’
t=3cm ‘
) 18 IH B T 0.600 X 5.360 - 3.216 3.21 m’
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HPPE ¢ 100+ T 3B E B T
5470 10 ﬂ ‘é’u /E IEI
HrEX® $ 100 DP= 1,300 600
. i <
fiiENo. 1 o
= ns  DEERIEAS
AR R
| AR g
o i
g o
,_j o~
ik o
— Bewdrdl - RAeL I
(k)
D PR 3
FrEks (HPPE) ¢ 100
L= 0.650 m4Y
T & it C ey ¥ B
2 AR B Mr T 0.650 2 - 1.300 1.30 m
Al S IRCERCEE L PR A T 0.600 X 0.650 - 0.390 0.39 m*
BB E T+ ) 0.600 1.370 X 0.650 - 0.534 0.53 m*
53 w7 pEet & 0.390 0.050 - 0.019 0.01 m*
OB T (W) 0.534 0.292 - 0.242 0.24 m*
HoAE R OE R L T 0.600 0.220 - /4 X 0.120 2 ) X 0.650 -  0.078 0.07 m’
» E + # K L L 0.600 0.750 X  0.650 - 0.292 0.29 m*
t=20cm
T B ¥ % T 0.600 0.650 - 0.390 0.39 m*
t=22cm ‘
B O B T 0.600 0.650 - 0.390 0.39 m*
t=3cm ‘
) 18 IH B T 0.600 X 0.650 -~ 0.390 0.39 m*
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HPPE ¢ 100+ T 3B E B T
&47 11 ﬂ ‘é’u /E IEI
R 6100 DP= 850 600
L H (e}
Mi1ENo0.22 i ©
= ne  TEBRIEAs
AR R
| FEOLAREG 2
E !
D IJOD 5
* Bl | AR YLAREE 2
(twy)
Dﬁé@ 3
FrEks (HPPE) ¢ 100
L= 10.980 m4Y
T & it C ey ¥ B
2 AR B Mr T 10.980 2 - 21.960 21.96 m
Al S IRCERCEE L PR A T 0.600 X 10.980 - 6.588 6.58 m”
I E T () 0.600 0.850 X 10.980 - 5.599 5.59 m*
53 iz pEet & 6.588 0.120 - 0.790 0.79 m*
OB T (W) 5.599 2.174 - 3.425 3.42 m®
HoAE R OE R L T 0.600 0.220 - /4 X 0.120 2 ) X 10.980 -  1.325 1.32 m*
e 7 W K L L 0.600 0.330 X 10.980 - 2174 2.17 m*
t=15cm
T B ¥ % T 0.600 10.980 - 6.588 6.58 m”
t=22cm ‘
B O B T 0.600 10.980 - 6.588 6.58 m”
t=5cm
R % 1B # B L 0.600 X 10.980 - 6.588 6.58 m”
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HPPE ¢ 100+ T 3B E B T
&47 12 ﬂ ‘é’u /E IEI
B 6100 DP= 850 600
. i <
B No. 771 . 3]
= ne | TIEMBIEAS
| EAELARG g
S S
S ° A+ S
= AR
(k)
D PR 3
FrEks (HPPE) ¢ 100
[ = 240.030 m4Y
T & it C ey ¥ B
2 AR B Mr T 240.030 X 2 - 480.060 480.06 m
Al S IRCERCEE L PR A T 0.600 X 240.030 - 144.018 144.01 m*
BB E T+ ) 0.600 X 0.940 X 240.030 - 135.376 135.37 m®
BE iz T il 144.018 X 0.030 - 4.320 4.32 m*
OB T (W) 135.376 — 89.291 - 46.085 46.08 m*
BAE M E R L T [( 0600 X 0220 - x/4 X 0.120 2 ) X 240.030 - 28.969 28.96 m’
» E + # K L L 0.600 X 0.620 X 240.030 - 89.291 89.29 m’
t=10cm
T B ¥ % T 0.600 X 240.030 - 144.018 144.01 m*
t=3cm ‘
R % 1B # B L 0.600 X 240.030 - 144.018 144.01 m*
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HPPE ¢ 100+ T 3B E B T
&47 13 ﬂ ‘é’u /E IEI
R 6100 DP= 850 600
L H (e}
miENOjﬁB . ™
S As R As
L FELARA =
S (e
S o A+ I
= MR
(tw)
D PR 3
FrEks (HPPE) 6 100
L= 71.340 m3%4Y
T & it C ey ¥ B
2 AR B Mr T 71.340 2 - 142.680 142.68 m
Al S IRCERCEE L PR A T 0.600 X 71.340 - 42.804 42.80 m*
I E T () 0.600 0.920 X 71.340 - 39.379 39.37 m®
53 w7 pEet & 42.804 0.050 - 2.140 2.14 m*
OB T (W) 39.379 19.261 - 20.118 20.11 m®
BoA R E E L T |(0.600 0.220 - /4 X 0.120 2 ) X 71.340 -  8.610 8.61 m*
» 4 + 8 R LT 0.600 0.450 X 71.340 - 19.261 19.26 m*
t=27cm
ToB K % T 0.600 71.340 - 42.804 42.80 m*
t=3cm ‘
R ## 1B £ B T 0.600 X 71.340 - 42.804 42.80 m*
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HPPE ¢ 100+ T 3B E B T
5470 14 ﬂ ‘é’u /E IEI
B 6100 DP= 850 600
(e}
FﬁiENOjﬁ?) i ee}
o e i AVA—HYRV T
— A5 U/ﬂe/ﬁi LI .
LRI g
| AR 2
S
D () (e
© A+ >
* AR ”
(k)
D PR 3
FrEks (HPPE) 6 100
[ = 3.800 m4V
T & it C ey ¥ B
L B—ay¥ ) 7 ny s 0.600 3.800 - 2.280 2.28 m*
A E T () 0.600 0.860 X 3.800 - 1.960 1.96 m’
OB T (W) 1.960 0.342 - 1.618 1.61 m’
BoA 8 E L T (0600 0.220 — x/4 X 0.120 2 ) X 3.800 -  0.458 0.45 m’
» E + # K L L 0.600 0.150 X 3.800 - 0.342 0.34 m*
t=15cm
T B ¥ % T 0.600 3.800 - 2.280 2.28 m’
t=10cm ‘
B O B T 0.600 3.800 = 2.280 2.28 m*
t=8cm ‘
fvA—nyXy ) 7 uy )T 0.600 X 3.800 - 2.280 2.28 m®

YOP | o By KB A E ]




HPPE ¢ 100+ T 3B E B T
5470 15 ﬂ ‘é’u /E IEI
RWrk A+ T.O
BEERE 6100 DP= 1,300 1200
H (e}
iENo. 1 ; @
= ns  DEERIEAS
| EARIAE S
\ o
- | FHELLARG g
o © TR AR
2} (+m)
P OFAET E
ISiE
(L)
S FT <
<A
BEE% (HPPE) ¢ 100
L= 1.200 m4Y
T g &t B = ¥ &
O R OB W L 1.200 2 + 1.200 X 2 ~ 4.800 4.80 m
Al S IRCERCEE L PR A T 1.200 X 1.200 - 1.440 1.44 m®
BB E T+ ) 1.200 0.650 X 1.200 - 0.936 0.93 m*
ANFT#HE TCER) [ 1.200 0.650 - /4 X 0.120 2 ) X 1.200 =  0.922 0.92 m*
53 w7 pEet & 1.440 0.050 - 0.072 0.07 m*
LW T (W) 0.922 0.922 - 1.080 - 0.764 0.76 m*
BoA R E R L T |( 1.200 0.420 — x/4 X 0.120 2 ) X 1.200 -  0.591 0.59 m’
& R LT 1.200 0.750 X 1.200 - 1.080 1.08 m’
t=20cm ‘
T B ¥ % T 1.200 1.200 - 1.440 1.44 m®
t=22cm ‘
B K B T 1.200 1.200 - 1.440 1.44 m®
t=3cm ‘
) 18 IH B T 1.200 X 1.200 - 1.440 1.44 m®
H=2.00m
+ ® T = 1.200 1.20 m
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HPPE ¢ 100+ T 3B E B T
5470 16 ﬂ ‘é’u /E IEI
RWrk A+ T
BEERE 6100 DP= 1,300 1200
: (=
i38No. 1 ; @
= ns  DEERIEAS
| EARIAE S
\ o
- | FHELLARG g
o TR AR
= (1)
P OFAET §
ISiE
(L)
= T °
<A
BEE% (HPPE) ¢ 100
L= 1.100 m4Y
T & it C ey ¥ B
O R OB W L 1.100 2 + 1.200 X 2 — 4600 4.60 m
Al S IRCERCEE L PR A T 1.200 X 1.100 - 1.320 1.32 m*
BB E T+ ) 1.200 0.200 X 1.100 - 0.264 0.26 m*
ANFT#HE TCER) [ 1.200 0.200 - /4 X 0.120 2 ) X 1.100 -  0.251 0.25 m*
53 iz pEet & 1.320 0.050 - 0.066 0.06 m*
LW T (W) 0.251 0.251 - 0.396 - 0.106 0.10 m*
BoA R E R L T |( 1.200 0.420 — ©/4 X 0.120 2 ) X 1.100 -  0.541 0.54 m’
¥ 4 R L L 1.200 0.300 X 1.100 ~0.396 0.39 m*
t=20cm ‘
T B ¥ % T 1.200 1.100 - 1.320 1.32 m*
t=22cm ‘
B K B T 1.200 1.100 - 1.320 1.32 m*
t=3cm ‘
) 18 IH B T 1.200 X 1.100 - 1.320 1.32 m*
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DCIP ¢ 100 +T 435t BT
E N A )
T f& A H i
17 18 19 20 21 22
(t=5cm) [(t=5cm) [(t=12cm) |(t=12cm) |(t=3cm) |(t=5cm)
s 4 g W) g T | A 1= 15emBT 3.92| 4.14| 28.02] 17.00| 43.36| 4.14 100.5 m
As t=15~30cmLL m
ARAERREITE 3cm
) Wy VAN
AS U1 BT 8 K AL O3 | s o Som
HEERREIMTE 12cm 0.14 m*
_ NES 2
S5 o B e U3 ) T | L 10emBL T 1.17| 1.24 13.00] 1.07 16.4 m
t=10~15cmbL F 8.40 5.10 13.5 m*
A h—nyk 7 oy iE | s RS m’
R T () | Ry sk 0.28m? 1.08] 1.57| 10.92| 4.33| 12.22] 0.64 30.7 m®
PN I | I 0.61 0.6 m’
3 %) H | AsHZ L= 9.6km 0.05| 0.06] 1.00] 0.61] 0.39] 0.05 2.1 m’
P o n 4 AsHT 1.50 X 2.35 t/m* = 3.52
AsHT 0.39 X 2.15 t/m* = 0.83 4.3t
B~ & 5~ ALy Hh
B T () L= 8.9km 0.72| 0.771 5.63] 2.65| 4.16] 0.53 14.4 m®
AP MR L T | XysEy0.28m 0.23| 0.24| 1.69] 1.02] 2.61| 0.47 6.2 m’
oA 8 OR LT | ANyshy 0.28m’ 1.68 1.6 m’
& LB R L LT | SyrkY 0.28m’ 0.35| 0.80[ 5.29] 2.65| 8.06] 0.69 17.8 m®
FAAMA ,
B B M T | t=27cm(EFH) m?
FAEEAA ,
T g ¥ % T | t=20cm(d#H) 1.17| 1.24 1.07 3.4 m*
A ,
T B ¥ # T | t=15cm(¥fH) 8.40 5.10 13.5 m®
A ,
T OB OB # T t=10cm(H5H) 13.0 13.0 m®
A ,
B OB M T t=37cm(fH) 8.40 8.4 m’
ARG ,
F o ¥ % T t=22cm(EH) 1.17| 1.24 5.10 1.07 8.5 m’
A L) ,
E B OB OB T | t=10cm(RHE) m®
AR ET ATy ‘
W 8 10 £ B T | t=5cm(&H) 8.40 5.10 13.5 m®
AR ET ATy ‘
W #H B £ B T | t=3cm(@EH) 1.17| 1.24 1.07 3.4 m*
AR E T Aoy |
W 8 1B £ B T | t=3emHE) 13.00 13.0 m?
Avh—ny%u )7 0y T | t=8em A m’
+ 7 T | H=2.00m 1B 1.07 1.0 m
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DCIP ¢ 100+ T 3B E B T
5470 17 ﬂ ‘é’u /E IEI
Brak® ¢100 DP= 850 \ 600 \
THi3ENo. 1 &
= ns  DEERIEAS
AR R
| FELDARER =
E !
[op} o
& =
Bewdrdl - RAeL =
(k)
D PR 3
‘s (DCIP) ¢ 100
[ = 1.960 m34Y
T g &t ) = ¥ &
2 AR B Mr T 1.960 X 2 - 3.920 3.92 m
Al S IRCERCEE L PR A T 0.600 X 1.960 - 1.176 1.17 m®
BB E T+ ) 0.600 X 0.920 X 1.960 - 1.081 1.08 m’
53 iz T il 1.176 X 0.050 - 0.058 0.05 m*
OB T (W) 1.081 — 0.352 - 0.729 0.72 m*
H A E E L T | 0.600 X 0.220 - /4 X 01202 ) X 1960 -  0.236 0.23 m’
» E + # K L L 0.600 X 0.300 X 1.960 - 0.352 0.35 m*
t=20cm
T B ¥ % T 0.600 X 1.960 - 1.176 1.17 m®
t=22cm ‘
B O B T 0.600 X 1.960 - 1.176 1.17 m®
t=3cm ‘
) 18 IH B T 0.600 X 1.960 - 1.176 1.17 m®
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DCIP ¢ 100+ T 3B E B T
5470 18 ﬂ ‘é’u /E IEI
Brax’® ¢ 100 DP= 1,200 600 \
; 1=
= ns  DEERIEAS
AR R
| FELDARER =
o i
[aN]
el =
— ch -
— Bewdrdl - RAeL Ie
(k)
D PR 3
‘s (DCIP) ¢ 100
[ = 2.070 m*4V
T & it C ey ¥ B
2 AR B Mr T 2.070 2 - 4.140 4.14 m
Al S IRCERCEE L PR A T 0.600 X 2.070 - 1.242 1.24 m®
BB E T+ ) 0.600 1.270 X  2.070 - 1.577 1.57 m’
53 iz pEet & 1.242 0.050 - 0.062 0.06 m*
OB T (W) 1.577 0.807 - 0.770 0.77 m*
HoAE R OE R L T 0.600 0.220 — /4 X 0.120 2 ) X 2.070 -  0.249 0.24 m’
» E + # K L L 0.600 0.650 X 2.070 - 0.807 0.80 m*
t=20cm
T B ¥ % T 0.600 2.070 - 1.242 1.24 m®
t=22cm ‘
B O B T 0.600 2.070 - 1.242 1.24 m®
t=3cm ‘
) 18 IH B T 0.600 X 2.070 - 1.242 1.24 m®

YOP | o By KB A E ]




DCIP ¢ 100+ T 3B E B T
&47 19 ﬂ ‘é’u /E IEI
Brax’® ¢ 100 DP= 1,300 600 \
(e}
E LO
= ne  TEBRIEAs
AR S
| FEOLAREG 2
o i
g o
- S
« o
— Bewdrdl - RAeL 3
(twy)
D PR 3
‘s (DCIP) ¢ 100
L= 14.010 mY
T & it C ey ¥ B
2 AR B Mr T 14.010 2 - 28.020 28.02 m
Al S IRCERCEE L PR A T 0.600 X 14.010 - 8.406 8.40 m”
I E T () 0.600 1.300 X 14.010 - 10.927 10.92 m*
53 w7 pEet & 8.406 0.120 - 1.008 1.00 m’
OB T (W) 10.927 5.295 - 5.632 5.63 m*
HoAE R OE R L T 0.600 0.220 - /4 X 0.120 2 ) X 14.010 -  1.690 1.69 m’
» E + # K L L 0.600 0.630 X 14.010 - 5.295 5.29 m*
t=15cm
T B ¥ % T 0.600 14.010 - 8.406 8.40 m”
t=37cm ‘
B O B T 0.600 14.010 - 8.406 8.40 m”
t=5cm ‘
) 18 IH B T 0.600 X 14.010 - 8.406 8.40 m”

YOP | o By KB A E ]




DCIP ¢ 100+ T 3B E B T
&47 20 ﬂ ‘é’u /E IEI
B 6100 DP= 850 600 \
H (e}
Ti1ENo.22 i -
= ne  TEBRIEAs
| EARIAE S
| FEOLAREG 2
E !
D % f
* Bl | AR YLAREE 2
(k)
D PR 3
‘s (DCIP) ¢ 100
[ = 8.500 m4V
T & it C ey ¥ B
2 AR B Mr T 8.500 2 - 17.000 17.00 m
Al S IRCERCEE L PR A T 0.600 X 8.500 - 5.100 5.10 m*
BB E T+ ) 0.600 0.850 X 8.500 - 4.335 4.33 m*
53 iz pEet & 5.100 0.120 - 0.612 0.61 m*
OB T (W) 4.335 1.683 - 2.652 2.65 m*
HoAE R OE R L T 0.600 0.220 — /4 X 0.120 2 ) X 8500 -  1.025 1.02 m*
e 7 W K L L 0.600 0.330 X 8.500 - 1.683 1.68 m’
t=15cm
T B ¥ % T 0.600 8.500 - 5.100 5.10 m*
t=22cm ‘
B O B T 0.600 8.500 - 5.100 5.10 m*
t=5cm ‘
) 18 IH B T 0.600 X 8.500 - 5.100 5.10 m*
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DCIP ¢ 100+ T 3B E B T
5470 21 ﬂ ‘é’u /E IEI
PRk 6100 DP= 850 600
H (e}
S As PRI As
| AR g
S S
S ° A+ S
= MR
(tw)
D PR 3
s (DCIP) ¢ 100
L= 21.680 m4Y
T & it C ey ¥ B
2 AR B Mr T 21.680 X 2 - 43.360 43.36 m
Al S IRCERCEE L PR A T 0.600 X 21.680 - 13.008 13.00 m”
I E T () 0.600 X 0.940 X 21.680 - 12.227 12.22 m*
BE iz T il 13.008 X 0.030 - 0.390 0.39 m*
OB T (W) 12.227 — 8.064 - 4.163 4.16 m*
H A HE E L T |( 0.600 X 0.220 - x/4 X 0120 2) X 21.680 -  2.616 2.61 m*
» 4 + 8 R LT 0.600 X 0.620 X 21.680 - 8.064 8.06 m*
t=10cm
ToB K % T 0.600 X 21.680 - 13.008 13.00 m”
t=3cm ‘
R ## 1B £ B T 0.600 X 21.680 - 13.008 13.00 m”
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DCIP ¢ 100+ T 3B E B T
5470 22 ﬂ ‘é’u /E IEI
AWK 53 = T.O
BEERE 6150 DP= 1,200 1000
i S
= ns | EERIEAS
AR R
\ o
- | FHELLARG g
o O TR 1)
Y (+#b)
P OFAET %
ISiE
(L)
S FT c
<A
Bz (DCIP) ¢ 150
[ = 1.070 m34Y
T g &t B = ¥ &
O ORR W W ¢ 1.070 2 + 1.000 X 2 - 4.140 4.14 m
Al S IRCERCEE L PR A T 1.000 X 1.070 - 1.070 1.07 m®
BB E T+ ) 1.000 0.600 X 1.070 - 0.642 0.64 m*
ANAT#HE T CER) [C 1.000 0.600 - z/4 X 0.170 2 ) X 1.070 -  0.617 0.61 m*
53 iz pEet & 1.070 0.050 - 0.053 0.05 m*
BT (W) 0.617 0.617 - 0.695 - 0.539 0.53 m*
HAWME EL T [(1.000 0470 - m/4 X 0.170 2 ) X 1.070 -  0.478 0.47 m*
& R LT 1.000 0.650 X 1.070 - 0.695 0.69 m*
t=20cm ‘
T B ¥ % T 1.000 1.070 - 1.070 1.07 m*
t=22cm ‘
B K B T 1.000 1.070 - 1.070 1.07 m®
t=3cm ‘
) 18 IH B T 1.000 X 1.070 - 1.070 1.07 m*
H=2.00m
+ B T = 1.070 1.07 m
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HAKE L TR BTt T
T 7 4 7 )
T f& HH B #
1 2 3 4 5 6 7 8 9
(t=3cm) [(t=3cm) [(t=3cm) | (t=5cm) |(t=3cm) |(t=5cm) [(t=5cm)
B0 R OB W T | As t=15cmbAF 0.90| 4.50| 2.70] 1.56| 7.76] 4.26] 4.00 25.6 m
w3 o | EHEEREIWTE Sem
AS Y I B K AL 4 HERIINGE. Sem 0.02 m®
(t=10cm)
B4 R OB W L | Co t=15cmbhF 8.00 8.0 m
({515 1R ) ,
S5 % o I B U ) T | L= 10emBAT 0.29| 1.46| 0.87| 0.35| 1.74] 0.95] 0.90 6.5 m
a7V —RFREL T | ASH 0.18 0.2 m*
R HE H T (L) | SyrRy 0.2m? 0.15] 0.76] 0.45| 0.28] 1.43] 0.76 3.8 m’
AN #EH T (/) 0.14] 0.72| 0.43 0.40| 0.72| 0.45 2.8 m*
AsHiT kI 0.01 0.02| 0.01 0.04] 0.04
M AsHS 0.04 0.05 0.2 m’
CoH'F 0.18 0.2 m’
AsHT HE 0.12 X 2.35 t/m’ = 0.28
IN t
BE # n N AsHT S 0.09 X 2.15 t/m’ = 0.19 0.5
t
CoHi'5 0.18 X 2.35 t/m’ 0.4
\ B~ & &35~ A5 )
B AL B T () 0.21| 0.58] 0.49| 0.17] 0.34] 0.33] 0.31] 0.36 2.7 m®
A W R T | SyrAY 0.28m? 0.08] 0.43] 0.26] 0.03] 0.17] 0.09 1.0 m*
B E b R L L | SyzERY 0.28m? 0.08] 0.90| 0.39| 0.10] 1.08] 0.43] 0.09] 0.36] 0.45 3.8 m
TAEGAERA ;
T ¥ T | t=20cm (F#) 0.29 0.35 0.90] 1.80 3.3 m’
TAEGAERA ]
T B ¥ B T | t=10cm (GRiH) 1.46 1.74 3.2 m’
TAEGAERA ;
T o ¥ B T | t=27cm(RH) 0.87 0.95 1.8 m*
PRI ]
B B M T | t=22cm(F3H) 0.29 0.35 0.6 m*
PRI ]
B B M T | t=15cm(FH) 0.90 0.9 m*
HABRET A t
% H R B L | t=5cm(EHN) 0.90 0.9 m*
HABRET Az t
" o#H H &R B L | t=3cm(#H) 0.29 0.35 0.6 m*
AR E T A t
o H R E L | t=3cm(58) 1.46 1.74 3.2 m’
FAEERET 23 t
K H R E L | t=3cm(5H) 0.87 0.95 1.8 m*
ADFTRE
= v 7 Y — b+ T | 18-8-250Q0)& 0.18 0.2 ni
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fekE +THHEE =L T

AT 1 P2 HI B 1H
A% $100 DP= 850 450W X 650L
N (= : (=
HiiE (No.1) o« )
(P RIVEEFLER) As | FHERRIE As
AR ]
S BRI | EAEYARRE S
(t#p)
Lo
S o
= FAE T =
(e}
S S
. Nkl =
Q. (+1) o) Te)
o - AR o 3
o s
= S
e Brax A% HPPE ¢ 100
N = 1 féi T 24 0
T & it C ey ¥ B
2 AR B Mr T 0.450 X 2 X 1 = 0.900 0.90 m
Al S IRCERCEE L PR A T 0.450 X 0.650 X 1 = 0.292 0.29 m*
BB E T+ ) 0.450 X 0.650 X 0.520 X 1 = 0.152 0.15 m*
{ 0.450 X 0.650 X 0.525 — ( 7 /4 X 0.125 % X 0.650 ) }
AN #E T (E®) X 1 = 0.145 0.14 m*
53 iz T il 0.450 X 0.650 X 0.030 X 1 = 0.008 0.01 m*
BT (W) 0.152 + 0.145 — 0.09 = 0.210 0.21 m*
B { 0.450 X 0.325 X 0.650 - (7 /4 X0.125 * X 0.650 ) }
H AR #E R LT X 1 = 0.087 0.08 m*
» 4 +# B LT 0.450 X 0.300 X 0.650 X 1 = 0.087 0.08 m*
t=20cm
T B ¥ % T 0.450 X 0.650 X 1 = 0.292 0.29 m*
t=22cm ‘
B O B T 0.450 X 0.650 X 1 = 0.292 0.29 m*
t=3cm
) 18 IH B T 0.450 X 0.650 X 1 = 0.292 0.29 m*
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BAKE +TIHESE JENLp
BAT 2 P2 HI B 1H
A% $100 DP= 850 450W X 650L
(e} (e}
HAE (—%) s s
(P RIVEEFLER) As | AR As
L A AEGIARR g
S FA i
(+m) -
o~
S
= 2
. Nkl =
Qe (+1) o) Te)
o 7 A o 3
o s
= =
e Brax A% HPPE ¢ 100
N = 5 fési P 24 0
T & it C ey ¥ B
2 AR B Mr T 0.450 X 2 X 5 = 4.500 4.50 m
Al S IRCERCEE L PR A T 0.450 X 0.650 X 5 = 1.462 1.46 m®
BB E T+ ) 0.450 X 0.650 X 0.520 X 5 = 0.760 0.76 m*
{ 0.450 X 0.650 X 0.525 — ( 7 /4 X0.125 2 X 0.650 ) }
AN #E T (E®) X 5 = 0.727 0.72 m*
53 iz T il 0.450 X 0.650 X 0.030 X 5 = 0.043 0.04 m*
BT (W) 0.760 + 0.727 — 0.91 = 0.581 0.58 m*
B {0.450 X 0.325 X 0.650 - (7 /4 X0.125 * X 0.650 ) }
H AR #E R LT X 5 = 0.435 0.43 m*
» 4 +# B LT 0.450 X 0.620 X 0.650 X 5 = 0.906 0.90 m*
t=10cm
T B ¥ % T 0.450 X 0.650 X 5 = 1.462 1.46 m®
t=3cm
= 5 H £ B T 0.450 X 0.650 X 5 = 1.462 1.46 m®
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fekE +THHEE =L T

HAT 3 P2 HI B 1H
A% $100 DP= 850 450W X 650L
N (= : (=
B CRA) s g s
(P RIVEEFLER) As | FHERRIE As
L A AEGIARR =
S FA i
(+m) -
o~
S
(e}
S S
. Nkl =
Qe (+1) o) Te)
o - AR o 3
o s
= =
e Brax A% HPPE ¢ 100
N = 3 fési P 24 0
T & it C ey ¥ B
2 AR B Mr T 0.450 X 2 X 3 = 2.700 2.70 m
Al S IRCERCEE L PR A T 0.450 X 0.650 X 3 = 0.877 0.87 m”
BB E T+ ) 0.450 X 0.650 X 0.520 X 3 = 0.456 0.45 m®
{ 0.450 X 0.650 X 0.525 — ( 7 /4 X0.125 2 X 0.650 ) }
AN #E T (E®) X 3 = 0.436 0.43 m*
53 iz T il 0.450 X 0.650 X 0.030 X 3 = 0.026 0.02 m*
LW T (W) 0.456 + 0.436 — 0.39 = 0.498 0.49 m*
B { 0.450 X 0.325 < 0.650 — (7 /4 X0.125 * X 0.650 ) }
H AR #E R LT X 3 = 0.261 0.26 m*
» 4 +# B LT 0.450 X 0.450 X 0.650 X 3 = 0.394 0.39 m*
t=27cm
T B ¥ % T 0.450 X 0.650 X 3 = 0.877 0.87 m’
t=3cm
= 5 H £ B T 0.450 X 0.650 X 3 = 0.877 0.87 m’
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HwAkKE +THESE JENLp
HAT 4 P Hl B 1H
450W
= : (=
#5E (No.1) © i o«
(HEE%HR) As L A EEREAS
1 | R S
| FEGDARR g
2 o gAY
2 () -
A+ S
D PR S
(=1-0.45/2X1)
HAKE
[ = 0.780 m4V
T g At H = ¥ &
2 AR B Mr T 0.780 2 - 1.560 1.56 m
Al S IRCERCEE L PR A T 0.450 0.780 - 0.351 0.35 m’
BB E T+ ) 0.450 0.800 X 0.780 - 0.280 0.28 m*
53 iz pEet & 0.450 0.050 X 0.780 - 0.017 0.01 m*
OB T (W) 0.280 0.105 - 0.175 0.17 m*
H AR #E R LT 0.450 0.100 X 0.780 - 0.035 0.03 m*
& R LT 0.450 0.300 X 0.780 - 0.105 0.10 m*
t=20cm
T B ¥ % T 0.450 0.780 - 0.351 0.35 m”
t=22cm ‘
B O B T 0.450 0.780 - 0.351 0.35 m”
t=3cm ‘
) 18 IH B T 0.450 0.780 - 0.351 0.35 m*
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HwAkKE +THESE JENLp
AT 5 P Hl B 1H
450W
i (1) = : =
(HERRER) As FAHRLE As
5 ff | EAEYLARG g
(e n N
D PR S
(=5-0.45/2X5)
HAKE
[ = 3.880 m¥4V
T &t 1 2y ¥ B
2 AR B Mr T 3.880 2 - 7.760 7.76 m
Al S IRCERCEE L PR A T 0.450 3.880 - 1.746 1.74 m*
I E T () 0.450 0.820 3.880 - 1431 1.43 m’
[543 7 peii i 0.450 0.030 3.880 - 0.052 0.05 m*
OB T (W) 1.431 1.083 - 0.348 0.34 m*
A WMHE EL T 0.450 0.100 3.880 - 0.175 0.17 m*
» 4 + 8 R LT 0.450 0.620 3.880 - 1.083 1.08 m’
t=10cm
T B ¥ % T 0.450 3.880 - 1.746 1.74 m®
t=3cm ‘
R % 1B # B L 0.450 3.880 - 1.746 1.74 m®

YOP | o By KB A E ]




HwAkKE +THESE JENLp
AT 6 P Hl B 1H
450W
= : (=
SERE IN) i i o
(HERRER) As HARRLE As
3 M | FELARA S
(] n N
D PR S
(=2.8-0.45/2X3)
K E
L= 2.130 m4Y
T &t 1 2y ¥ B
2 AR B Mr T 2.130 2 - 4.260 4.26 m
Al S IRCERCEE L PR A T 0.450 2.130 - 0.958 0.95 m*
I E T () 0.450 0.800 2.130 - 0.766 0.76 m*
[543 7 peii i 0.450 0.050 2.130 - 0.047 0.04 m*
OB T (W) 0.766 0.431 - 0.335 0.33 m*
HoAE R OE R L T 0.450 0.100 2.130 -~ 0.096 0.09 m*
» 4 + 8 R LT 0.450 0.450 2.130 - 0.431 0.43 m*
t=27cm
T B ¥ % T 0.450 2.130 - 0.958 0.95 m*
t=3cm ‘
R % 1B # B L 0.450 2.130 - 0.958 0.95 m*
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HwAkKE +THESE JENLp
H2AT T P Hl B 1H
450
= : =
EHIN (As) © i 0
H=500 As | HERRITAS
| R 2
| REYLART g
S o A imEl o
CS (£8) | E
I Y = 8
WAk
[ = 2.000 m4V
T g &t ) = ¥ &
2 AR B Mr T 2.000 2 = 4.000 4.00 m
Al S IRCERCEE L PR A T 0.450 2.000 = 0.900 0.90 m*
AN #E T (Ew) 0.450 0.450 X 2.000 = 0.405 0.40 m*
53 w7 pEet & 0.900 0.050 = 0.045 0.04 m*
OB T (W) 0.405 0.090 = 0.315 0.31 m*
¥ 4 R L L 0.450 0.100 X 2.000 = 0.090 0.09 m*
t=20cm
T B ¥ % T 0.450 2.000 = 0.900 0.90 m*
t=15cm ‘
B O B T 0.450 2.000 = 0.900 0.90 m*
t=5cm ‘
#* J& T 0.450 2.000 = 0.900 0.90 m*

YOP | o By KB A E ]




fekE +THHEE =L T

HAT 8 P Hl B 1H
450
EHIN (Co)
H=500 § Co Co §
| FEULARS g
§ = PNkl S
~ (L#) e
- mEE 8
WAk
[ = 4.000 m34Y
T g &t B = ¥ &
2 AR B Mr T 4.000 X 2 = 8.00 8.00 m
oy U —hEELT 0.450 X 0.100 X 4.000 = 0.18 0.18 m*
AN #E T (Ew) 0.450 X 0.400 X 4.000 = 0.72 0.72 m*
BE iz T il 0.450 X 0.100 X 4.000 = 0.18 0.18 m*
OB T (W) 0.720 — 0.360 = 0.36 0.36 m*
» E + # E L L 0.450 X 0.200 X 4.000 = 0.36 0.36 m*
t=20cm ‘
S ire T 0.450 X 4.000 = 1.80 1.80 m®
a7 —b L (AIFTER) 0.450 X 0.100 X 4.000 = 0.18 0.18 m*
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HwAKE +ITHEE JENLp
H2AT 9 P Hl B 1H
450
N (1)
H=500
8 AJREL L gL
(b#)
s N
[ = 2.000 m4V CEEE e
T & it C ey ¥ B
AN #E T (Ew®) 0.450 X 0.500 X 2.000 = 0.450 0.45 m*
& R LT 0.450 X 0.500 X 2.000 = 0.450 0.45 m*
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BERREME S TAE BEMKT

+ T % 4 7
T f& A B /NG
1 2 3 4 5 6 7 8 9
(t=Hcm) [(t=12cm) [(t=12em) |(t=12em) [(t=12cm) [ (t=12cm) [ (t=12cm)
S % R ) W T | O LT 16emBAT 3.60|569.80| 46.40| 14.80{318.20| 52.80| 5.40 1011.0 m
(t=17cm) |[(t=17cm)
As t=15~30cmbL T 9.60|888.00| 897.6 m
SRR EIMTE 3cm
AEERR TR 5em
v) Wy AN
AS BT K 9 | s 12on
AHEERRGINTE 15cm
ARLEIRYIMTE 17cm 6.41 m*
t=10cmBL F 1.62 1.6 m*
Aoy Sk [ s ,
il 3¢ fi He 42 L i H T t=10~15cmLL T 256.41| 20.88| 6.66[143.19| 23.76| 2.43 453.3 m*
t=15~40cmbL T 3.36/399.60| 402.9 m®
B H T (L ®) | SyrEy 0.28m? 2.39|361.70| 35.09| 12.72{201.98| 45.39| 5.12| 2.97|583.67| 1251.0 m®
N m’
JE izl i As#T L= 9.6km 0.08| 30.76| 2.50| 0.79] 17.18| 2.85| 0.29| 0.57| 67.93| 122.9 m®
b) J—
e b n 4 122.95 X 2.35 t/m = 288.93
AsHZ X 2.15 t/m* = 288.9 t
B~ E & ,
" L= 0.5km 0.50| 92.47| 7.53| 2.40/130.39| 21.63| 2.21| 2.97|451.80| 711.9 m’
5% j:&&fij:(j:ﬁ/) {ﬁ[ﬁ%%’\“&&ﬁj\iﬁl )
L= 8.9km 0.50| 92.47| 7.53| 2.40/130.39| 21.63| 2.21| 2.97|451.80| 711.9 m®
B A B OR L L | SysEkY0.28m’ 100.23| 16.63| 1.70| 2.62[399.60| 520.7 m®
4+ R L L | SysEY0.28m? 1.89]269.23| 27.56| 10.32| 71.59| 23.76] 2.91 131.86] 539.1 m®
A AR ]
T % M L | t=24cm (H3H) m®
A AR
T B ¥ M T | t=20cm(F3H) 1.62 1.6 m*
A AR ]
T JB ¥ M L | t=15cm (§iH) 256.41| 20.88| 6.66[143.19| 23.76] 2.43 453.3 m®
A AR ;
T B ¥ OB T t=12cm(F3H) 3.36/399.60| 402.9 m®
A AR ]
T B B OB L | t=10cm(FH) m?®
A AR ]
T B ¥ OB L | t=27cm(¥iH) m®
PRI ]
B OB M L | t=37cm(FiH) 256.41| 20.88| 6.66 283.9 m*
PRI ]
B B O T | t=22cm(FH) 1.62 143.19] 23.76| 2.43| 3.36[399.60| 573.9 m®
PRI ]
B B M L | t=17cm(H3H) m®
FAEBRLET 22 ,
I IH £ J8 T | t=5cm(¥H) 256.41| 20.88| 6.66[143.19] 23.76| 2.43| 3.36/399.60| 856.2 m*
FAEBRET 22
K H &R B L | t=3cm(#H) 1.62 1.6 m*
FAEBRLET 22 ,
R 3 H £ B T | t=3cm(kEHE) m’
AR E T 22 ,
R 3 H £ B T | t=3cm(kEH) m’
BB RAR = TIA S
+ 2 T | H=2.0m 1B 1.80[284.90| 23.20 159.10 444.00f 913.0 m
B RAR = TIA S
+ i T | H=2.5m 2B% 7.40 26.40[ 2.70 36.5 m

BOF o KB AR S



BERREME S TAE BEMKT

+ T % 4 7
T f& A B /NG
10 11 12 13 14 15 16 17 18
(t=5cm) [(t=5cm) [(t=3cm) (t=12cm) (t=3cm) [(t=5cm)
JUST. " As t=15cmBlF 157.00{157.80| 4.80 8.00 2.00] 5.80] 3354 m
%R Y T (t=17cm) |(t=17cm) (t=17cm)
As t=15~30cmbL T 10.40| 3.80 7.60 21.8 m
AEERRGIWTE 3cm
AHEERR BT S 5em
14 Ny IN
AS BT K9 | s 12on
AHEERRGINTE 15cm
SR GIETE 17cm 0.54 m*
t=10cmBL 70.65| 71.01| 1.68 0.60| 1.74| 145.6 m®
A o N 1
SRR VIR HL L s 2.40 2.4 m
t=15~40cmA T 3.12| 1.71 3.42 8.2 m*
B H T (L ®) | SyrEy 0.28m? 104.60[112.24] 1.72] 2.76| 2.40| 3.02| 5.04| 0.78] 1.56| 234.1 m*
A 1 OH T i
JE izl i As#HZ L= 9.6km 3.53| 3.55| 0.05] 0.53] 0.29] 0.28] 0.58] 0.01] 0.08 8.9 m’
e b n 4 8.84 X 2.35 t/m = 2077
AsHZ 0.06 X 2.15 t/m* = 0.12 20.8 t
B~ E & ,
" L= 0.5km | 77.76| 78.15| -0.02| 2.76] 2.01| 2.30| 4.08| -0.02| 0.66| 167.6 m'
5% j: && Ii I ( :t ﬁ/) {ﬁ[ﬁ%%’\“&&ﬁj\iﬁl )
L= 8.9km | 77.76| 78.15| -0.02| 2.76| 2.01| 2.30| 4.08| -0.02] 0.66| 167.6 m®
B A B OR L L | SysEkY0.28m’ 56.52| 56.80 2.27| 1.71] 1.68] 3.42 122.4 m*
4+ R L L | SysEY0.28m? 26.84| 34.08| 1.74 0.39] 0.72| 0.95| 0.80] 0.90] 66.4m®
TAEGAERA ]
T B M T | t=24cm (F0H) 70.65| 71.01 141.6 m®
TAEGAERA ;
T B ¥ M T | t=20cm(F3H) 1.74 1.7m*
TAEGAERA
T B ¥ M T | t=15cm(F3H) 2.40 2.4 m?®
TAEGAERA
T B ¥ OB T t=12cm(F3H) 3.12[ 1.71 3.42 8.2 m*
TAEGAERA
T B ¥ M T | t=10cm (GHRiH) 1.68 0.60 2.2 m*
TAEGAMER ;
T B ¥ OB L | t=27cm(¥iH) m®
PRI ]
B B M L | t=37cm(H3H) m®
PRI ]
B B O T | t=22cm(FH) 3.12[ 1.71] 2.40| 3.42 1.74| 12.3m®
PRI ]
B OB M L | t=17cm(§iH) 70.65| 71.01 141.6 m®
FAEBRLET 22 ,
K % H &R B L | t=5cm(#;H) 3.12[ 1.71] 2.40| 3.42 10.6 m®
FAEBRET 22 ,
K H &R B L | t=3cm(#H) 70.65| 71.01 1.74| 1434 m®
FAEERET 23
K H R E L | t=3cm(HH) 1.68 0.60 2.2 m*
AR E T AT ,
R 3 H £ B T | t=3cm(kEH) m’
BB RAR = TIA S
+ i T | H=2.0m 1B% 78.50| 78.90 1.90 3.80 163.1 m
B RAR = TIA S
+ i T | H=2.5m 2B% m

BOF o KB AR S



BERREME S TAE BEMKT

+ T % 4 7
T f& A B /NG
19 | 20 | 21 22 23 | 24 | 25 | 26 | 27
(t=Hcm) [(t=12cm) [(t=12cm) |(t=12cm) [ (t=12cm) [(t=12cm) [ (t=12¢m)
S % R ) W T | O LT 16emBAT 13.00| 18.00| 41.00| 2.60| 14.80| 21.00| 18.80 : : 129.2 m
(t=17cm) |[(t=17cm)
As t=15~30cmbL T 8.40| 5.80] 14.2m
AEERRGIWTE 3cm
AHEERR BT S 5em
14 Ny IN
AS BT K9 | s 12on
AHEERRGINTE 15cm
SR GIETE 17cm 0.40 m*
t=10cmbL F 3.90 3.9 m*
A o N 1
Fil e B L D t=10~15cmLL T 5.40| 12.30| 1.17| 4.44| 9.45[ 15.12 47.8 m®
t=15~40cmbL F 2.52| 2.61 5.1 m*
B H T (L ®) | SyrEy 0.28m? 5.26| 5.29] 15.75| 1.82| 3.69] 12.16| 15.12| 3.10] 3.75| 65.9 m’
A 1 OH T i
JE izl i As#HZ L= 9.6km 0.19| 0.64| 1.47| 0.14] 0.53] 1.13] 1.01] 0.42| 0.44 59 m’
e b n 4 5.97 X 2.35 t/m = 14.02
AsHZ X 2.15 t/m’ = 14.0 t
B~ E & ,
" L= 0.5km 1.48| 2.32| 5.30] 0.51| 1.24] 2.71| 2.43| 3.02[ 3.15| 22.1m’
5% j: && Ii I ( :t ﬁ/) {ﬁ[ﬁ%%’\“&&ﬁj\iﬁl )
L= 8.9km 1.48| 2.32| 5.30] o0.51| 1.24| 2.71| 2.43| 3.02[ 3.15| 22.1m®
B A B OR L L | SysEkY0.28m’ 2.52[ 2.61 5.1 m*
4+ R L L | SysEY0.28m? 3.78| 2.97| 10.45| 1.31| 2.44| 9.45| 12.69| 0.07| 0.60] 43.7 m®
TAEGAERA ;
T % M L | t=24cm (H3H) m®
TAEGAERA ;
T B ¥ M T | t=20cm(F3H) 3.90 3.9 m®
TAEGAERA ;
T JB ¥ M L | t=15cm (§iH) 5.40( 12.30| 1.17| 4.44| 9.45| 8.46 41.2 m*
TAEGAERA ;
T B ¥ OB T t=12cm(F3H) 2.52| 2.61 5.1 m®
TAEGAERA ;
T B B OB L | t=10cm(FH) m?®
TAEGAMER ;
T B ¥ OB L | t=27cm(¥iH) m®
PRI ]
B OB M L | t=37cm(FiH) 5.40( 12.30] 1.17 18.8 m®
PRI ]
B B O T | t=22cm(FH) 3.90 4.44| 9.45| 8.46| 2.52] 2.61| 31.3m*
PRI ]
B B M L | t=17cm(H3H) m®
HABRET Az '
I IH £ J8 T | t=5cm(¥H) 5.40| 12.30| 1.17| 4.44| 9.45| 8.46| 2.52| 2.61] 46.3 m®
FAEBRET 22
K H &R B L | t=3cm(#H) 3.90 3.9 m®
HABRET A '
R 3 H £ B T | t=3cm(kEHE) m’
AR E T 22 ,
R 3 H £ B T | t=3cm(kEH) m’
BB RAR = TIA S
+ 2 T | H=2.0m 1B¥ 1.30 9.40 2.90| 13.6m
B RAR = TIA S
+ i T | H=2.5m 2B% m

BOF o KB AR S



BERREME S TAE BEMKT

+ r % 4 7

T f& g H /NG i
28 | 29 30 31 32 33 34 35
(t=3cm) [(t=3cm) |(t=5cm) | (t=5cm) |(t=12cm)
SO g b g T | O tT15emBAT 8.60| 2.20| 16.40| 21.00| 5.40 53.6 m | 1529.2 m
" (t=17cm)
As t=15~30cmlL T 5.20 5.2 m 938.8 m
AEERRGIWTE 3cm
AHEERR BT R 5em
14 Ny IN
AS U117 K AL 5T | s i 120m
AHEERRGINTE 15cm
EHERREINTE 17cm 0.09 m*| 7.44 m®
t=10cmPL 2.58] 0.99] 4.92] 6.30 14.7 m*| 165.8 m®
gty o [ 1 , ,
Fil e B L D t=10~15cmEL T 1.80 1.8 m*| 505.3 m’
t=15~40cmEL T 2.34 2.3 m*| 418.5 m*
MR8 H T (k) | SyriRy 0.28m? 3.24| 1.48| 4.11| 7.78] 2.48[ 3.30 22.3 m*| 1573.3 m*
N 2.36 2.3 m’ 2.3 m*
JE izl i As#T L= 9.6km 0.07| 0.02] 0.24] 0.31] 0.21] 0.39 1.2m’[ 138.9 m’
B o i sy 1.15 X 2.35 t/m° = 2.70
AsHT 0.09 X 2.15 t/m* = 0.19 2.8t 326.5 t
B~ E & , ,
" L= 0.5km | -0.08] 0.01] 0.57| 0.73| 3.80| 2.83 7.8 m*| 909.4 m'
5% j:&&fij:(j:ﬁ/) {ﬁ[ﬁ%%’\“&&ﬁj\iﬁl ’ )
L= 8.9km | -0.08] 0.01] 0.57| 0.73| 3.80] 2.83| 10.25| 43.07] 61.1 m*| 962.7 m®
Be f O L L | ASysiky 0.28m? 1.26] 2.34 3.6 m*| 651.8 m*
4+ R L L | SysEY0.28m? 3.32| 1.47| 3.54| 7.05| 1.04] 0.46 16.8 m*| 666.0 m’
TAEGAERA ] ]
T B T | t=24cm(H3H) m®| 141.6 m®
TAEGAER ] ]
T B ¥ M T | t=20cm(F3H) m’ 7.2 m®
TAEGAERA ] ]
T B ¥ B T | t=15cm(F3H) 1.80 1.8 m*| 498.7 m*
TAEGAERA ] ]
T o ¥ B T t=12cm(F3H) 2.34 2.3 m*| 418.5 m*
TAEGAER ] ]
T B ¥ M L | t=10cm GRiH) 2.58] 0.99 3.5 m* 5.7 m*
TAEGAERA ] ]
T B ¥ M T | t=27cm(F3H) 4.92] 6.30 11.2 m* 11.2 m®
PRI ] ]
B B M T | t=37cm(F3H) m®| 302.7 m®
PRI ] ]
B B O T | t=22cm(FH) 1.80| 2.34 4.1 m*| 621.6 m*
PRI ] ]
B B M T | t=17cm(F3H) m®| 141.6 m®
FAEBRET 22 t ,
K % H & B L | t=5cm(#;H) 1.80| 2.34 4.1 m*[ 917.2 m*
FAEBRLET 22 t ,
" IH £ 8 T | t=3cm(¥H) m?| 148.9 m®
FAEBRET 22 t ,
K H R E L | t=3cm(58) 4.92] 6.30 11.2 m* 13.4 m®
AR E T AT t ,
K H R E L | t=3cm(HH) 2.58] 0.99 3.5 m* 3.5 m’
B RAR = TIA S
+ 2 T | H=2.0m 1B 1.10 2.60 3.7m | 1093.4 m
B RAR = TIA S
+ i T | H=2.5m 2B% 1.50 1.5m 38.0 m

BOF o KB AR S




BERRE S + TR HHMT

N i
T & Al B /R
34 | 35
(t=12cm) |(t=15¢cm)
S % R ) W T | O LT 16emBAT 22.40[ 29.40 51.8 m
As t=15~30cmlL T m
AHEERRGIWTE 3cm
AEERR TR 5em
14 Ny IN
AS BT K 9 | s 12on
AHEERRGINTE 15cm
SR GIETE 17cm 0.17 m*
t=10cmlL T m?
A o N t
SRR LR H T s 14.56] 19.11 33.6 m’
t=15~40cmLL T m’
B i E L (/) | Ny riRY 0.28m? 33.25| 43.07 76.3 m*
A 1 OH T m®
JE izl & As#T L= 9.6km 1.74| 2.86 4.6 m*
e b n 4 460 X 2.35 t/m = 10.81
AsHZ X 2.15 t/m’ = 10.8 t
B~ E & ]
e T (L) L= 0.5km | 10.25| 43.07 53.3 m*
AR RE L L | SysEY0.28m? 35.73 35.7 m*
B A B OR L L | SysEkY0.28m’ 10.19 10.1 m®
4+ R L L | SysEY0.28m? 23.00 23.0 m*
TAEGAERA ;
T # A T | t=38cm (F#H) 19.11 19.1 m®
TAEGAERA ]
T B ¥ M T | t=15cm(F3H) 14.56 14.5 m®
PRI ]
B B A T | t=38cm(#3iH) 19.11 19.1 m®
PRI ]
B B M T | t=22cm(FH) 14.56 14.5 m®
HABRET Az '
Ko H &R B L | t=7cm(#H) 19.11 19.1 m®
HABRET Az '
K # H &R B L | t=5cm(#H) 14.56 14.5 m®
BB RAR = TIA S
+ i T | H=3.0m 2B% 11.20] 14.70 25.9 m

BOF o KB AR S



BERRERE L THEE JENLp
5470 1 ﬂ ‘é’u /E IEI
BEERE  $300 DP= 1,300 900
L H (e}
fiiENo. 1 o
2 As HAEBRE As
AR R
| AR g
- i
2 o
,_j o~
LO“
— MR !
() o
FEAE T+ —
BEERE (DCIP) ¢ 300
[ = 1.800 m34Y
T g At B = ¥ &
2 AR B Mr T 1.800 2 - 3.600 3.60 m
Al S IRCERCEE L PR A T 0.900 X 1.800 - 1.620 1.62 m®
Ak E T (/) [ 0.900 1.570 - n/4 X 0320 2 ) X 1.800 -  2.398 2.39 m*
53 w7 pEet & 1.620 0.050 - 0.081 0.08 m*
OB T (W) 2.398 1.895 - 0.503 0.50 m*
» E + # E L L 0.900 1.170 X 1.800 - 1.895 1.89 m’
t=20cm
T B ¥ % T 0.900 1.800 - 1.620 1.62 m*
t=22cm ‘
B O B T 0.900 1.800 - 1.620 1.62 m*
t=3cm ‘
R % 1B # B L 0.900 X 1.800 - 1.620 1.62 m®
H=2.00m
+ ® T = 1.800 1.80 m

YOP | o By KB A E ]




BERRERE L THEE JENLp
5470 2 ﬂ ‘é’u /E IEI
BEERE  $300 DP= 1,300 900
L =
HiiENo.6 i 0
§ As FEBREAs
AR S
| FEOLAREG 2
o i
[aN]
© o
—_ o
I} i
— MR !
() ; 2
PORAEL 3
L\ % (DCIP) 6300
[ = 284.900 m4Y
T ff &t B =X W &
2 AR B Mr T 284.900 X 2 - 569.800 569.80 m
Al S IRCERCEE L PR A T 0.900 X 284.900 - 256.410 256.41 m*
B mk E Bl T (R #) | 0.900 X 1.500 - mw/4 X 0320 2 ) X 284.900 - 361.701 361.70 m®
53 iz T il 256.410 X 0.120 - 30.769 30.76 m®
B T (+ /) 361.701 — 269.230 - 92471 92.47 m®
¥4 L R L L 0.900 X 1.060 X 284.900 - 269.230 269.23 m’
t=15cm
T B ¥ % T 0.900 X 284.900 - 256.410 256.41 m*
t=37cm ‘
B O B T 0.900 X 284.900 - 256.410 256.41 m*
t=5cm
= 5 H £ B T 0.900 X 284.900 - 256.410 256.41 m*
H=2.00m
+ ® T = 284.900 | 284.90 m

YOP | o By KB A E ]




BERRERE L THEE JENLp
5470 3 ﬂ ‘é’u /E IEI
BEERE  $300 DP= 1,570 900
L H (e}
HiiENo.6 i 0
§ As HAEBRIEAs
AR S
| A GNARE 3
8 i
e ] o
,_j o~
~
— MR !
() S
PORAEL &
BEaRE (DCIP) 300
L= 23.200 m4Y
T & it C ey ¥ B
2 AR B Mr T 23.200 2 46.400 46.40 m
Al S IRCERCEE L PR A T 0.900 X 23.200 20.880 20.88 m®
Ak E T (/) [ 0.900 1.770 — /4 X 0.320 2 ) X 23.200 35.091 35.09 m®
53 w7 pEet & 20.880 0.120 2.505 2.50 m*
OB T (W) 35.091 27.561 7.530 7.53 m’
» 4 + 8 R LT 0.900 1.320 X 23.200 27.561 27.56 m®
t=15cm
ToB K % T 0.900 23.200 20.880 20.88 m*
t=37cm ‘
EoB B & T 0.900 23.200 20.880 20.88 m®
t=5cm
R ## 1B £ B T 0.900 X 23.200 20.880 20.88 m®
H=2.0m
+ ® T 23.200 23.20 m

YOP | o By KB A E ]




BERRERE L THEE JENLp
5470 4 ﬂ ‘é’u /E IEI
BEERE  $300 DP= 1,800 900
L H (e}
HiiENo.6 i 0
§ As FEBREAs
AR S
| FEOLAREG 2
o i
[aN]
— o
o8
o FEmmA]
() 2
BEaRE (DCIP) ¢ 300
L= 7.400 m4Y
T & it C ey ¥ B
2 AR B Mr T 7.400 2 - 14.800 14.80 m
Al S IRCERCEE L PR A T 0.900 X 7.400 - 6.660 6.66 m”
Ak E T (/) [ 0.900 2.000 - ©/4 X 0320 %) X 7.400 - 12.724 12.72 m®
53 w7 pEet & 6.660 0.120 - 0.799 0.79 m*
OB T (W) 12.724 10.323 - 2401 2.40 m*
» 4 + 8 R LT 0.900 1.550 X 7.400 - 10.323 10.32 m®
t=15cm
T B ¥ % T 0.900 7.400 - 6.660 6.66 m”
t=37cm ‘
B O B T 0.900 7.400 - 6.660 6.66 m”
t=5cm ‘
R % 1B # B L 0.900 X 7.400 - 6.660 6.66 m”
H=2.50m
+ B T = 7.400 7.40 m

YOP | o By KB A E ]




BERRERE L THEE JENLp
5470 5 ﬂ ‘é’u /E IEI
BEERE  $300 DP= 1,300 900
L =
B No.22 i ©
§ As FEBREAs
AR R
| FELAREG 2
o i
[aN]
© o
=3 :
— HEbRAEED AR OLARES S
(tw)
Q %+ 3
L\ % (DCIP) 6300
[, = 159.100 m4Y
T & it C ey ¥ B
2 AR B Mr T 159.100 2 318.200 318.20 m
Al S IRCERCEE L PR A T 0.900 X 159.100 143.190 143.19 m*
Ak E T (/) [ 0.900 1.500 - /4 X 0320 2 ) X 159.100 201.989 201.98 m’
53 w7 pEet & 143.190 0.120 17.182 17.18 m*
OB T (W) 201.989 71.595 130.394 130.39 m*
» E + # E L L 0.900 0.500 X 159.100 71.595 71.59 m®
e on MR L L 0.900 0.700 X 159.100 100.233 100.23 m*
t=15cm
T B ¥ % T 0.900 159.100 143.190 143.19 m*
t=22cm ‘
B O B T 0.900 159.100 143.190 143.19 m*
t=5cm
= 5 H £ B T 0.900 X 159.100 143.190 143.19 m*
H=2.00m
+ B T 159.100 159.10 m

YOP | o By KB A E ]




BEERE ik + T A B T

ZALT 6 i % I
BERE ¢ 300 DP= 1,800 900
i1&No.22 ; B
S ne  TEBRIEAs
| EAERRE 3
- EELARL 2
o i
S8 @
= HewamE | AEYLAREE S
(+w)
Q Rt g

BEeR4e (DCIP) ¢ 300

L= 26.400 m4Y

T f& &t B =X &
2 AR B Mr T 26.400 X 2 - 52.800 52.80 m
Al S IRCERCEE L PR A T 0.900 X 26.400 - 23.760 23.76 m*
B omk e Bl T (R #) | 0.900 X 2.000 - x/4 X 0320 2 ) X 26400 - 45.396 45.39 m*
BE iz T il 23.760 X 0.120 - 2851 2.85 m*
OB T (W) 45.396 — 23.760 - 21.636 21.63 m’
» E + # E L L 0.900 X 1.000 X 26.400 - 23.760 23.76 m®
e 7 W K L L 0.900 X 0.700 X 26.400 - 16.632 16.63 m®

t=15cm
T B ¥ % T 0.900 X 26.400 - 23.760 23.76 m*

t=22cm ‘
EoB B & T 0.900 X 26.400 - 23.760 23.76 m*
t=5cm
R ## 1B £ B T 0.900 X 26.400 - 23.760 23.76 m*

H=2.50m

+ ® T = 26.400 26.40 m

YOP | o By KB A E ]




BERRERE L THEE JENLp
5470 7 ﬂ ‘é’u /E IEI
BEERE  $300 DP= 2,000 900
L H (e}
Mi1ENo0.22 i ©
S As R As
AR R
| FEOLAREG 2
o i
[aN]
[ap] o
NS :
o HEbRARED AR OLARES S
(tw)
! (e
Q Sk ]
BEaR (DCIP) ¢ 300
[ = 2.700 m*4V
T it B W B
2 AR B Mr T 2.700 2 - 5.400 5.40 m
A % R BUCEE L SR HI T 0.900 X - 2430 2.43 m*
Ak E T (/) [ 0.900 2200 - /4 X 0320 %) X 2700 - 5.128 5.12 m*
53 iz pEet & 2.430 0.120 - 0.291 0.29 m*
OB T (W) 5.128 2.916 - 2212 2.21 m*
» E + # E L L 0.900 1.200 X 2.700 - 2916 2.91 m*
e 7 W K L L 0.900 0.700 X 2.700 - 1.701 1.70 m’
t=15cm
T B ¥ % T 0.900 2.700 - 2430 2.43 m*
t=22cm ‘
B O B T 0.900 2.700 - 2.430 2.43 m*
t=5cm ‘
R ## 1B £ B T 0.900 X - 2430 2.43 m*
H=3.00m
+ B T = 2.700 2.70 m

YOP | o By KB A E ]




BERRERE L THEE JENLp
&47 8 ﬂ ‘é’u /E IEI
BEER 6300 DP= 850 700
H (e}
i No.35 i ©
= ne  TEBRIEAs
| R S
| FEOLAREG S
o i
= o
— 8 -
— TR 1) %
(twy)
PR EYLAEA
BEERE (DCIP) ¢ 300
[ = 4.800 m34Y
T & it C ey ¥ B
2 AR B Mr T 4.800 2 - 9.600 9.60 m
Al S IRCERCEE L PR A T 0.700 X 4.800 - 3.360 3.36 m”
I E T () 0.700 1.000 - w/4 X 0320 2 ) X 4800 -  2.973 2.97 m*
53 w7 pEet & 3.360 0.170 - 0.571 0.57 m*
OB T (W) 2.973 - 2973 2.97 m*
* & R LT - m®
e 7 W K L L 0.700 0.780 X 4.800 - 2,620 2.62 m*
t=12cm
T B ¥ % T 0.700 4.800 - 3.360 3.36 m’
t=22cm ‘
B O B T 0.700 4.800 - 3.360 3.36 m’
t=5cm ‘
) 18 IH B T 0.700 X 4.800 - 3.360 3.36 m’

YOP | o By KB A E ]




BERRERE L THEE JENLp
&47 9 ﬂ ‘é’u /E IEI
BEERE  $300 DP= 1,400 900
L =
11ENo.35 e
o As R As
AR R
| FEOLAREG S
o i
[N}
o~ o
- o i
I} i o
— BEmARE | AR ULAREA =
(tw) —
Q %+ 3
L\ % (DCIP) 6300
[, = 444.000 m4Y
T ff &t B =X W &
2 AR B Mr T 444.000 X 2 - 888.000 888.00 m
Al S IRCERCEE L PR A T 0.900 X 444.000 - 399.600 399.60 m*
A El T (/) | 0900 X 1.550 - x/4 X 0.320 2 ) X 444.000 - 583.671 583.67 m’
53 iz T il 399.600 X 0.170 - 67.932 67.93 m’
OB T (W) 583.671 — 131.868 _ 451.803| 451.80 m’
¥4 L R L L 0.900 X 0.330 X 444.000 - 131.868 131.86 m*
e on MR L L 0.900 X 1.000 X 444.000 - 399.600 399.60 m®
t=12cm
T B ¥ % T 0.900 X 444.000 - 399.600 399.60 m*
t=22cm ‘
B O B T 0.900 X 444.000 - 399.600 399.60 m*
t=5cm
i £ B £ B T 0.900 X 444.000 - 399.600 399.60 m*
H=2.00m
+ ® T = 444.000 | 444.00 m

YOP | o By KB A E ]




BEERE ik + T A B T

s47 10 - & I
WERxE  ¢300 DP= 1,300 900
TfiiNo.37 2
s ne | DEEREAS
| EAERRE 2
| EEORARE 5
o :
€ e A
= Wl | EAEGIAREG| S
E=ONN
Q AT 2

BEeR4e (DCIP) ¢ 300

L = 78.500 m4Y

T ff &t B X W &
2 AR B Mr T 78.500 X 2 - 157.000 157.00 m
Al S IRCERCEE L PR A T 0.900 X 78.500 - 70.650 70.65 m®
B opk e Bl T (R #®) | 0.900 X 1.570 - x/4 X 0320 2 ) X 78500 - 104.607 104.60 m®
BE iz T il 70.650 X  0.050 - 3.532 3.53 m*
OB T (W) 104.607 — 26.847 - 77.760 77.76 m®
» 4 + 8 R LT 0.900 X 0.380 X 78.500 - 26.847 26.84 m®
e /m B OR L L 0.900 X 0.800 X 78.500 - 56.520 56.52 m’

t=24cm
T B ¥ % T 0.900 X 78.500 - 70.650 70.65 m®

t=17cm ‘
B O B T 0.900 X 78.500 - 70.650 70.65 m®
t=3cm
R % 1B # B L 0.900 X 78.500 - 70.650 70.65 m®

H=2.00m

+ B T = 78.500 78.50 m

YOP | o By KB A E ]




BEERE ik + T A B T

54711 il % I
BERRE ¢ 300 DP= 1,400 900
if11ENo.37 S
= N PEBREAs
| EAERRE 2
| EEORARE 5
o :
S A
- Bebimpl | PR AR A =
(H#p)
Q AT 2

BEeR4e (DCIP) ¢ 300

L = 78.900 m4Y

T ff &t B X W &
2 AR B Mr T 78.900 X 2 - 157.800 157.80 m
Al S IRCERCEE L PR A T 0.900 X 78.900 - 71.010 71.01 m®
B mk e Bl T (R #) | 0.900 X 1.670 - m/4 X 0320 2 ) X 78900 - 112.241 112.24 m®
BE iz T il 71.010 X 0.050 - 3.550 3.55 m*
OB T (W) 112.241 — 34.084 - 78.157 78.15 m’
» 4 + 8 R LT 0.900 X 0.480 X 78.900 - 34.084 34.08 m®
e /m B OR L L 0.900 X 0.800 X 78.900 - 56.808 56.80 m’

t=24cm
T B ¥ % T 0.900 X 78.900 - 71.010 71.01 m®

t=17cm ‘
B O B T 0.900 X 78.900 - 71.010 71.01 m®
t=3cm
R % 1B # B L 0.900 X 78.900 - 71.010 71.01 m®

H=2.00m

+ ® T = 78.900 78.90 m

YOP | o By KB A E ]




BERRERE L THEE JENLp
5470 12 ﬂ ‘é’u /E IEI
BEER 6300 DP= 850 700
H (e}
8 No. 1 ; @
= ns  DEERIEAS
| AR g
(e]
=
v—.I\ (]
— MR ! 54+ =Y
(twy) =
BEERE (DCIP) ¢ 300
L= 2.400 m4Y
T &t 1 2y ¥ B
2 AR B Mr T 2.400 2 - 4.800 4.80 m
Al S IRCERCEE L PR A T 0.700 X 2.400 - 1.680 1.68 m®
Ak E T (/) [ 0.700 1.140 - n/4 X 0320 2 ) X 2,400 -  1.722 1.72 m’
53 w7 pEet & 1.680 0.030 - 0.050 0.05 m*
OB T (W) 1.722 1.747 - -0.025 -0.02 m*
» E + # E L L 0.700 1.040 X 2.400 - 1.747 1.74 m’
t=10cm
T B ¥ % T 0.700 2.400 - 1.680 1.68 m®
t=3cm ‘
R % 1B # B L 0.700 X 2.400 - 1.680 1.68 m®

YOP | o By KB A E ]




BERRERE L THEE JENLp
&47 13 ﬂ ‘é’u /E IEI
BEERE 6200 DP= 900 600
H (e}
i No.35 i ©
= ne  TEBRIEAs
| R S
L A GNARE 8
o i
[aN]
'_‘“ (e}
— g o
TR 1) &
(twy)
PR EYLAEA
BEERE (DCIP) ¢ 200
L= 5.200 m4Y
T &t 1 2y ¥ B
2 AR B Mr T 5.200 2 - 10.400 10.40 m
Al S IRCERCEE L PR A T 0.600 X 5.200 - 3.120 3.12 m’
I E T () 0.600 0.950 - /4 X 0.220 2 ) X 5200 -  2.766 2.76 m*
53 w7 pEet & 3.120 0.170 - 0.530 0.53 m*
OB T (W) 2.766 - 2766 2.76 m*
* & R LT - m®
e 7 W K L L 0.600 0.730 X 5.200 - 2277 2.27 m*
t=12cm
T B ¥ % T 0.600 5.200 - 3.120 3.12 m’
t=22cm ‘
B O B T 0.600 5.200 - 3.120 3.12 m*
t=5cm ‘
) 18 IH B T 0.600 X 5.200 - 3.120 3.12 m*

YOP | o By KB A E ]




BERRERE L THEE JENLp
&47 14 ﬂ ‘é’u /E IEI
BEERE  $ 200 DP= 1,400 900
L H (e}
i1 No.35 i e
o As R As
AR R
| FEOLAREG S
o i
€ o A
-2 : =
— BEmARE | AR ULAREA =
(tw) —
Q %+ 2
BEaRE (DCIP) ¢ 200
[ = 1.900 m34Y
T ff &t B W &
2 AR B Mr T 1.900 2 - 3.800 3.80 m
A % R BUCEE L SR HI T 0.900 X - 1.710 1.71 m®
Ak E T (/) [ 0.900 1.450 - n/4 X 0.220 2 ) X 1.900 -  2.407 2.40 m*
53 w7 pEet & 1.710 0.170 - 0.290 0.29 m*
OB T (W) 2.407 0.393 - 2014 2.01 m*
» E + # E L L 0.900 0.230 X 1.900 - 0.393 0.39 m*
e 7 W K L L 0.900 1.000 X 1.900 - 1.710 1.71 m’
t=12cm
T B ¥ % T 0.900 1.900 - 1.710 1.71 m*
t=22cm ‘
B O B T 0.900 1.900 - 1.710 1.71 m*
t=5cm ‘
R ## 1B £ B T 0.900 X - 1.710 1.71 m*
H=2.00m
+ ® T = 1.900 1.90 m
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BERRERE L THEE JENLp
&47 15 ﬂ ‘é’u /E IEI
BEERE 6150 DP= 1,250 600
H (e}
Ti1ENo.22 i -
= ne  TEBRIEAs
AR R
| FEOLAREG 2
o i
g o
— HEbRARED AR OLARES S
(twy)
Q %+ S
Bz (DCIP) ¢ 150
[ = 4.000 m34Y
T = at B W B
2 AR B Mr T 4.000 2 - 8.000 8.00 m
Al S IRCERCEE L PR A T 0.600 X 4.000 2.400 2.40 m*
Ak E T (/) [ 0.600 1.300 - /4 X 0.170 2 ) X 4.000 3.029 3.02 m*
53 iz pEet & 2.400 0.120 0.288 0.28 m*
OB T (W) 3.029 0.720 2.309 2.30 m*
» E + # E L L 0.600 0.300 X  4.000 0.720 0.72 m*
e 7 W K L L 0.600 0.700 X  4.000 1.680 1.68 m’
t=15cm
T B ¥ % T 0.600 4.000 2.400 2.40 m*
t=22cm ‘
B O B T 0.600 4.000 2.400 2.40 m*
t=5cm
R % 1B # B L 0.600 X 4.000 2.400 2.40 m*
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BERRERE L THEE JENLp
&47 16 ﬂ ‘é’u /E IEI
BEERE 150 DP= 1,500 900
L H (e}
fi1ENo.35 i Lo
o As R As
AR R
| A GNARE 8
o i
o~
© o
- S i
I} i o
— BEmARE | AR ULAREA =
(tw) —
Q %+ 2
Bz (DCIP) ¢ 150
[ = 3.800 m4V
T & it C ey ¥ B
2 AR B Mr T 3.800 2 - 7.600 7.60 m
A % R BUCEE L SR HI T 0.900 X - 3.420 3.42 m*
Ak E T (/) [ 0.900 1.500 - n/4 X 0.170 2 ) X 3.800 -  5.043 5.04 m*
53 iz pEet & 3.420 0.170 - 0.581 0.58 m*
OB T (W) 5.043 0.957 - 4.086 4.08 m*
» E + # E L L 0.900 0.280 X 3.800 - 0.957 0.95 m*
e /oM OR L L 0.900 1.000 X 3.800 - 3.420 3.42 m*
t=12cm
T B ¥ % T 0.900 3.800 - 3.420 3.42 m*
t=22cm ‘
B O B T 0.900 3.800 - 3.420 3.42 m*
t=5cm ‘
R ## 1B £ B T 0.900 X - 3.420 3.42 m*
H=2.00m
+ ® T = 3.800 3.80 m
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BERRERE L THEE JENLp
5470 17 ﬂ ‘é’u /E IEI
BEERE 6150 DP= 1,300 600
: o
8 No. 1 ; @
S As FEBREAs
| AR g
(e]
S o
-} S
— MR ! 54+ 3
(tw) -
Bz (DCIP) ¢ 150
[ = 1.000 m34Y
T &t 1 2y ¥ B
2 AR B Mr T 1.000 2 - 2.000 2.00 m
Al S IRCERCEE L PR A T 0.600 X 1.000 -~ 0.600 0.60 m*
Ak E T (/) [ 0.600 1.440 - /4 X 0320 2 ) X 1.000 -  0.783 0.78 m*
53 w7 pEet & 0.600 0.030 - 0.018 0.01 m*
OB T (W) 0.783 0.804 - -0.021 -0.02 m*
» 4 + 8 R LT 0.600 1.340 X 1.000 - 0.804 0.80 m*
t=10cm
T B ¥ % T 0.600 1.000 - 0.600 0.60 m*
t=3cm ‘
R % 1B # B L 0.600 X 1.000 -~ 0.600 0.60 m*
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BERRERE L THEE JENLp
5470 18 ﬂ ‘é’u /E IEI
BEERE 6100 DP= 850 600
: (=
iENo. 1 ; @
= ns  DEERIEAS
| R S
O =
E !
[op} o
[aN]
[op) ” N
MR !
(twy) -
L RBAEL o
BEaRE (DCIP) ¢ 100
[ = 2.900 m4V
T &t 1 2y ¥ B
2 AR B Mr T 2.900 2 - 5.800 5.80 m
Al S IRCERCEE L PR A T 0.600 X 2.900 - 1.740 1.74 m®
Ak E T (/) [ 0.600 0920 - z/4 X 0.120 2 ) X 2900 -  1.568 1.56 m’
53 w7 pEet & 1.740 0.050 - 0.087 0.08 m*
OB T (W) 1.568 0.904 - 0.664 0.66 m*
» E + # E L L 0.600 0.520 X 2.900 - 0.904 0.90 m*
t=20cm
T B ¥ % T 0.600 2.900 - 1.740 1.74 m*
t=22cm ‘
B O B T 0.600 2.900 - 1.740 1.74 m*
t=3cm ‘
) 18 IH B T 0.600 X 2.900 - 1.740 1.74 m®
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BERRERE L THEE JENLp
5470 19 ﬂ ‘é’u /E IEI
BEERE 6100 DP= 1,300 600
H (e}
iENo. 1 ; @
= ns  DEERIEAS
| EAERRE 3
| FEGLARA g
o i
S o
-8
— MR !
(twy) -
-6 o o =
BEaR (DCIP) ¢ 100
[ = 6.500 m4V
T & it C ey ¥ B
2 AR B Mr T 6.500 2 - 13.000 13.00 m
Al S IRCERCEE L PR A T 0.600 X 6.500 -~ 3.900 3.90 m*
I E T () 0.600 1.370 - n/4 X 0.120 2 ) X 6.500 -  5.269 5.26 m*
53 w7 pEet & 3.900 0.050 - 0.195 0.19 m*
OB T (W) 5.269 3.783 - 1.486 1.48 m’
* & R LT 0.600 0.970 X 6.500 - 3.783 3.78 m*
t=20cm
T B ¥ % T 0.600 6.500 - 3.900 3.90 m*
t=22cm ‘
B O B T 0.600 6.500 - 3.900 3.90 m*
t=3cm ‘
) 18 IH B T 0.600 X 6.500 -~ 3.900 3.90 m*
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BERRERE L THEE JENLp
&47 20 ﬂ ‘é’u /E IEI
BEERE 6100 DP= 1,000 600
L H (e}
HiiENo.6 i 0
S As R As
| R S
| FEOLAREG 2
o i
[aN]
— o
- 2
— MR !
(tw) -
L RBAEL Ie
BEaR (DCIP) ¢ 100
[ = 9.000 m4V
T ff &t B X W &
2 AR B Mr T 9.000 2 - 18.000 18.00 m
Al S IRCERCEE L PR A T 0.600 X 9.000 - 5.400 5.40 m*
I E T () 0.600 1.000 - =/4 X 0.120 2 ) X 9.000 -  5.298 5.29 m*
53 w7 pEet & 5.400 0.120 - 0.648 0.64 m*
OB T (W) 5.298 2.970 - 2.328 2.32 m*
* & R LT 0.600 0.550 X  9.000 - 2970 2.97 m*
t=15cm
T B ¥ % T 0.600 9.000 - 5.400 5.40 m*
t=37cm ‘
B O B T 0.600 9.000 - 5.400 5.40 m*
t=5cm ‘
) 18 IH B T 0.600 X 9.000 - 5.400 5.40 m*
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BERRERE L THEE JENLp
&47 21 ﬂ ‘é’u /E IEI
BEERE 6100 DP= 1,300 600
L H (e}
HiiENo.6 i 0
S ne  TEERIEAS
| R S
| FEOLAREG 2
o i
g o
- S
®
— MR !
(k) -
-6 o o I
BEERE (DCIP) ¢ 100
L= 20.500 m4Y
T ff &t B ¥ &
2 AR B Mr T 20.500 X 2 - 41.000 41.00 m
Al S IRCERCEE L PR A T X 20.500 - 12.300 12.30 m”
G5 < L A G o 2D ¢ X 1.300 - /4 X 0.120 2 ) X 20.500 - 15.758 15.75 m’
BE iz T il 12.300 X 0.120 - 1.476 1.47 m’
OB T (W) 15.758 — 10.455 - 5.303 5.30 m®
* & R LT X 0.850 X 20.500 - 10.455 10.45 m®
t=15cm
T B ¥ % T X 20.500 - 12.300 12.30 m”
t=37cm ‘
B O B T X 20.500 - 12.300 12.30 m”
t=5cm ‘
) 18 IH B T X 20.500 - 12.300 12.30 m”
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BERRERE L THEE JENLp
5470 22 ﬂ ‘é’u /E IEI
BEERE $ 100 DP= 1,570 900
L H (e}
HiiENo.6 i 0
S As R As
AR S
| FEOLAREG 2
o i
2 o
,_j o~
)
— MR !
() S
FEAE T+ —
BEaRE (DCIP) ¢ 100
[ = 1.300 m34Y
T ff &t B X W &
2 AR B Mr T 1.300 2 - 2.600 2.60 m
Al S IRCERCEE L PR A T 0.900 X 1.300 - 1.170 1.17 m®
Ak E T (/) [ 0.900 1.570 - n/4 X 0.120 2 ) X 1.300 -  1.822 1.82 m’
53 w7 pEet & 1.170 0.120 - 0.140 0.14 m*
OB T (W) 1.822 1.310 - 0.512 0.51 m*
» E + # E L L 0.900 1.120 X 1.300 - 1.310 1.31 m’
t=15cm
T B ¥ % T 0.900 1.300 - 1.170 1.17 m®
t=37cm ‘
B O B T 0.900 1.300 - 1.170 1.17 m®
t=5cm ‘
R % 1B # B L 0.900 X 1.300 - 1.170 1.17 m®
H=2.00m
+ ® T = 1.300 1.30 m
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BERRERE L THEE JENLp
&47 23 ﬂ ‘é’u /E IEI
BEERE 6100 DP= 850 600
H (e}
Ti1ENo.22 i -
S ne  TEERIEAS
| R S
| FEOLAREG 2
E !
[op} o
Lo
[ee) ” N
MR !
(twy) -
L RBAEL Ie
BEaR (DCIP) ¢ 100
L= 7.400 m4Y
T &t 1 2y ¥ B
2 AR B Mr T 7.400 2 - 14.800 14.80 m
Al S IRCERCEE L PR A T 0.600 X 7.400 - 4.440 4.44 m*
Ak E T (/) [ 0.600 0.850 — m/4 X 0.120 2 ) X 7.400 -  3.690 3.69 m*
53 w7 pEet & 4.440 0.120 - 0.532 0.53 m*
OB T (W) 3.690 2.442 - 1.248 1.24 m’
» E + # E L L 0.600 0.550 X 7.400 - 2.442 2.44 m*
t=15cm
T B ¥ % T 0.600 7.400 - 4.440 4.44 m*
t=22cm ‘
B O B T 0.600 7.400 - 4.440 4.44 m*
t=5cm ‘
) 18 IH B T 0.600 X 7.400 - 4.440 4.44 m*
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BERRERE L THEE JENLp
5470 24 ﬂ ‘é’u /E IEI
BEERE 6100 DP= 1,300 900
(e}
; Lo
§ As FEBREAs
AR S
| FEOLAREG 2
o i
g o
—_ o
®
— MR !
() =
PORAEL S
BEERE (DCIP) ¢ 100
L= 10.500 m4Y
T ff &t B X W &
2 AR B Mr T 10.500 2 - 21.000 21.00 m
Al S IRCERCEE L PR A T 0.900 X 10.500 - 9.450 9.45 m”
Ak E T (/) [ 0.900 1.300 - n/4 X 0.120 2 ) X 10.500 - 12.166 12.16 m®
53 w7 pEet & 9.450 0.120 - 1.134 1.13 m’
OB T (W) 12.166 9.450 - 2716 2.71 m*
* & R LT 0.900 1.000 X 10.500 - 9.450 9.45 m®
t=15cm
T B ¥ % T 0.900 10.500 - 9.450 9.45 m”
t=22cm ‘
B O B T 0.900 10.500 - 9.450 9.45 m”
t=5cm ‘
) 18 IH B T 0.900 X 10.500 - 9.450 9.45 m*
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BERRERE L THEE JENLp
5470 25 ﬂ ‘é’u /E IEI
BEERE 6100 DP= 1,800 900
L H (e}
B No.22 i ©
§ As FEBREAs
AR R
| FEOLAREG 2
o i
5 o
- S
o
— MR !
() =
BEaR (DCIP) ¢ 100
L= 9.400 m4Y
T ff &t B X W &
2 AR B Mr T 9.400 2 - 18.800 18.80 m
Al S IRCERCEE L PR A T 0.900 X 9.400 - 8.460 8.46 m”
Ak E T (/) [ 0.900 1.800 - w/4 X 0.120 2 ) X 9.400 - 15.121 15.12 m®
53 w7 pEet & 8.460 0.120 - 1.015 1.01 m’
OB T (W) 15.121 12.690 - 2431 2.43 m*
» 4 + 8 R LT 0.900 1.500 X 9.400 - 12.690 12.69 m®
t=15cm
T B ¥ % T 0.900 9.400 - 8.460 8.46 m”
t=22cm ‘
B O B T 0.900 9.400 - 8.460 8.46 m”
t=5cm
R % 1B # B L 0.900 X 9.400 - 8.460 8.46 m”
H=2.50m
+ ® T = 9.400 9.40 m
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BERRERE L THEE JENLp
&47 26 ﬂ ‘é’u /E IEI
BEERE 6100 DP= 1,300 600
L H (e}
fi1ENo.35 i Lo
= ne  TEBRIEAs
AR R
| A GNARE 8
o i
g o
- o i
N i o
— BEmARE | AR ULAREA =
(twy) =
G Fek 1 =
BEaRE (DCIP) ¢ 100
L= 4.200 m4Y
T g &t B = ¥ &
2 AR B Mr T 4.200 2 - 8.400 8.40 m
Al S IRCERCEE L PR A T 0.600 X 4.200 2.520 2.52 m’
Ak E T (/) [ 0.600 1.250 - /4 X 0.120 2 ) X 4.200 3.102 3.10 m*
53 w7 pEet & 2.520 0.170 0.428 0.42 m*
OB T (W) 3.102 0.075 3.027 3.02 m*
» E + # E L L 0.600 0.030 X 4.200 0.075 0.07 m*
e /oM OR L L 0.600 1.000 X 4.200 2.520 2.52 m*
t=12cm
T B ¥ % T 0.600 4.200 2.520 2.52 m*
t=22cm ‘
B O B T 0.600 4.200 2.520 2.52 m*
t=5cm ‘
R % 1B # B L 0.600 X 4.200 2.520 2.52 m*

YOP | o By KB A E ]




BERRERE L THEE JENLp
&47 27 ﬂ ‘é’u /E IEI
BEERE $ 100 DP= 1,500 900
L H (e}
i1 No.35 i e
o As R As
AR R
| FEOLAREG S
o i
€ o A
-2 : =
— BEmARE | AR ULAREA =
(tw) —
Q %+ 2
BEaRE (DCIP) ¢ 100
[ = 2.900 m4V
T ff &t B W &
2 AR B Mr T 2.900 2 - 5.800 5.80 m
A % R BUCEE L SR HI T 0.900 X - 2610 2.61 m’
Ak E T (/) [ 0.900 1.450 - ©/4 X 0.120 2 ) X 2900 -  3.751 3.75 m*
53 w7 pEet & 2.610 0.170 - 0.443 0.44 m®
OB T (W) 3.751 0.600 - 3.151 3.15 m*
» 4 + 8 R LT 0.900 0.230 X 2.900 - 0.600 0.60 m*
e /oM OR L L 0.900 1.000 X 2.900 - 2610 2.61 m*
t=12cm
T B ¥ % T 0.900 2.900 - 2610 2.61 m’
t=22cm ‘
B O B T 0.900 2.900 - 2610 2.61 m’
t=5cm ‘
R ## 1B £ B T 0.900 X - 2610 2.61 m’
H=2.00m
+ ® T = 2.900 2.90 m

YOP | o By KB A E ]




BERRERE L THEE JENLp
5470 28 ﬂ ‘é’u /E IEI
BEERE 6100 DP= 1,300 600
H (e}
8 No. 1 ; @
S As PR E As
| AR g
S
g o
- o
O’J_\ (e
— MR ! 54+ =3
(tw) -
BEaRE (DCIP) ¢ 100
[ = 4.300 m34Y
T ff &t B =X &
2 AR B Mr T 4.300 2 - 8.600 8.60 m
Al S IRCERCEE L PR A T 0.600 X 4.300 - 2.580 2.58 m*
Ak E T (/) [ 0.600 1.390 - n/4 X 0320 2 ) X 4300 -  3.240 3.24 m*
53 w7 pEet & 2.580 0.030 - 0.077 0.07 m*
OB T (W) 3.240 3.328 - -0.088 -0.08 m*
» 4 + 8 R LT 0.600 1.290 X 4.300 - 3.328 3.32 m*
t=10cm
T B ¥ % T 0.600 4.300 - 2.580 2.58 m’
t=3cm ‘
R % 1B # B L 0.600 X 4.300 - 2.580 2.58 m’

YOP | o By KB A E ]




BERRERE L THEE JENLp
5470 29 ﬂ ‘é’u /E IEI
BEERE $ 100 DP= 1,500 900
H (e}
8 No. 1 ; @
S As PR E As
| AR g
S
2 o
- o
LO“ (e
— MR ! 54+ S
(tw) -
BEaRE (DCIP) ¢ 100
L= 1.100 m4Y
T ff &t B X &
2 AR B Mr T 1.100 2 - 2.200 2.20 m
Al S IRCERCEE L PR A T 0.900 X 1.100 - 0.990 0.99 m*
I E T () 0.900 1.590 - n/4 X 0320 2 ) X 1.100 -  1.485 1.48 m’
53 w7 pEet & 0.990 0.030 - 0.029 0.02 m*
OB T (W) 1.485 1.475 - 0.010 0.01 m*
* & R LT 0.900 1.490 X 1.100 - 1.475 1.47 m’
t=10cm
T B ¥ % T 0.900 1.100 - 0.990 0.99 m*
t=3cm ‘
R % 1B # B L 0.900 X 1.100 - 0.990 0.99 m*
H=2.00m
+ B T = 1.100 1.10 m
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5470 30 ﬂ ‘é’u /E IEI
BEERE 6100 DP= 900 600
H (e}
i No. 433 ; @
2 As FEBREAs
| AR S
S
3
- ;
[op) !
MR ! 54+ §
(tw)
BEaRE (DCIP) ¢ 100
L= 8.200 m4Y
T & it C ey ¥ B
2 AR B Mr T 8.200 2 - 16.400 16.40 m
Al S IRCERCEE L PR A T 0.600 X 8.200 - 4.920 4.92 m*
Ak E T (/) [ 0.600 0970 - /4 X 0.320 2 ) X 8200 - 4.112 4.11 m®
53 w7 pEet & 4.920 0.050 - 0.246 0.24 m*
OB T (W) 4.112 3.542 - 0.570 0.57 m*
» E + # E L L 0.600 0.720 X 8.200 - 3.542 3.54 m*
t=27cm
T B ¥ % T 0.600 8.200 - 4.920 4.92 m*
t=3cm ‘
R % 1B # B L 0.600 X 8.200 - 4.920 4.92 m*
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5470 31 ﬂ ‘é’u /E IEI
BEERE 6100 DP= 1,300 600
H (e}
i No. 433 ; @
2 As FEBREAs
| AR S
S
S o
=5 s
— MR ! w4+ N
(tw) -
BEaRE (DCIP) ¢ 100
L= 10.500 m4Y
T ff &t B X &
2 AR B Mr T 10.500 2 - 21.000 21.00 m
Al S IRCERCEE L PR A T 0.600 X 10.500 -~ 6.300 6.30 m”
I E T () 0.600 1.370 - n/4 X 0320 2 ) X 10500 -  7.786 7.78 m®
53 w7 pEet & 6.300 0.050 - 0.315 0.31 m*
OB T (W) 7.786 7.056 - 0.730 0.73 m*
* & R LT 0.600 1.120 X 10.500 - 7.056 7.05 m®
t=27cm
T B ¥ % T 0.600 10.500 - 6.300 6.30 m”
t=3cm ‘
R % 1B # B L 0.600 X 10.500 -~ 6.300 6.30 m”

YOP | o By KB A E ]




BEERE ik + T A B T

H2AT 32 P Hl B 1H
RWrk A+ T.6
BEZRE  $100 DP= 1,800 1,200
(e}
: Lo
= N PEEBREAs
e e S
TR 1)
3 (+mb) -
= L AR E
o :
N : . o
= | A EYLAREE S
o PNE TR =
2 (L) BT %
2| ] “.
© —
FAERD S
o i
(e} !
N :
e (DIP) ¢ 100
[ = 1.500 m34Y
T & it C ey ¥ B
O ORR W W ¢ 1.500 X 2 + 1.200 X 2 - 5.400 5.40 m
EEERECE LM E T [ 1.200 + X 2 ) X 1.500 - 1.800 1.80 m*
BB E T+ ) 1.200 X 1.380 X 1.500 - 2484 2.48 m*
AN H T () | 1.200 X 1.380 - /4 X 0320 2) X 1500 -  2.363 2.36 m’
53 iz T il 1.800 X 0.120 - 0.216 0.21 m*
AR T (W) 2.484 + 2.363 - 1.044 - 3.803 3.80 m*
H A E R L T | 1.200 X 0420 - /4 X 0320 2) X 1500 -  0.635 0.63 m’
e 7 B K L L 1.200 X 0.700 X 1.500 - 1.260 1.26 m’
» E + # E L L 1.200 X 0.580 X 1.500 - 1.044 1.04 m’
t=15cm
T B ¥ % T 1.200 X 1.500 - 1.800 1.80 m®
t=22cm ‘
B K B T 1.200 X 1.500 - 1.800 1.80 m®
t=5cm ‘
R #E 1H £ 8 T |( 1.200 + X 2 ) X 1.500 - 1.800 1.80 m*
H=2.50m
+ B T = 1.500 1.50 m

YOP | o By KB A E ]




BERRERE L THEE JENLp
&47 33 ﬂ ‘é’u /E IEI
BEERE 675  DP= 1,500 900
(e}
E LO
o As R As
AR R
| FEOLAREG S
8 i
=) i
=9 : o
— BEmARE | AR ULAREA =
(tw) —
Q %+ S
Bz (DCIP) 675
[ = 2.600 m4Y
T ff &t B 52y &
2 AR B Mr T 2.600 2 - 5.200 5.20 m
Al S IRCERCEE L PR A T 0.900 X 2.600 - 2.340 2.34 m*
Ak E T (/) [ 0.900 1.420 - n/4 X 0.090 2 ) X 2,600 -  3.306 3.30 m*
53 w7 pEet & 2.340 0.170 - 0.397 0.39 m*
OB T (W) 3.306 0.468 - 2.838 2.83 m*
» 4 + 8 R LT 0.900 0.200 X 2.600 - 0.468 0.46 m*
e /oM OR L L 0.900 1.000 X 2.600 - 2.340 2.34 m*
t=12cm
T B ¥ % T 0.900 2.600 - 2.340 2.34 m*
t=22cm ‘
B O B T 0.900 2.600 - 2.340 2.34 m*
t=5cm ‘
R % 1B # B L 0.900 X 2.600 - 2.340 2.34 m*
H=2.00m
+ ® T = 2.600 2.60 m

YOP | o By KB A E ]




PERRERE L TREE R el T

47 34 i & I
SE ¢ 600 DP= 2,000 1,300
| 2
S ne TEERITAs
| EAERRE 3
- EELARA 2
= :
S ;
~ wemnEl | FEOLARET| 8
()
Q Bkt z

S% (HP) 6600

L= 11.200 m%Y

T f# &t B =X &
2 AR B Mr T 11.200 X 2 - 22.400 22.40 m
SRR BCEE LB A T O|( 1.300  + X 2 ) X 11.200 - 14.560 14.56 m*
B omk e Bl T (R ®) | 1.300 X 2.580 - x/4 X 0700 2 ) X 11.200 - 33.254 33.25 m’
BE iz T il 14.560 X 0.120 - 1747 1.74 m’
OB T (W) 33.254 — 23.004 - 10.250 10.25 m®
» E + # E L L 1.300 X 1.580 X 11.200 - 23.004 23.00 m®
e 7 W K L L 1.300 X 0.700 X 11.200 - 10.192 10.19 m®

t=15cm
T B ¥ % T 1.300 X 11.200 - 14.560 14.56 m”

t=22cm ‘
EoB B & T 1.300 X 11.200 - 14.560 14.56 m”
t=5cm
R #E 1H £ 8 T |( 1.300 + X 2 ) X 11.200 - 14.560 14.56 m”

H=3.00m

+ ® T = 11.200 11.20 m
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BERRERE L THEE K [EfE T
5470 35 ﬂ ‘é’u /E IEI
X0E ¢ 600 DP= 2,000 1,300
S
=
= As R As
AR 2
| AR 2
8 i
o~ o
8
o MR !
(h#b) o
L AR %
SR (HP)  ¢600
L= 14.700 m4Y
T fh &t B &
2 AR B Mr T 14.700 2 - 29.400 29.40 m
SHAERREREE LR EI T | 1.300 X 2 ) X 14.700 - 19.110 19.11 m*
Ak E T (/) [ 1.300 2.550 - w/4 X 0.700 * ) X 14700 - 43.073 43.07 m*
53 w7 pEet & 19.110 0.150 - 2.866 2.86 m*
OB T (W) 43.073 - 43.073 43.07 m*
H AR #E R LT 1.300 1.870 X 14.700 - 35.735 35.73 m’
t=38cm
T B ¥ % T 1.300 14.700 - 19.110 19.11 m*
t=38cm ‘
B O B T 1.300 14.700 - 19.110 19.11 m*
t=7cm
I B 1B £ B T |[( 1.300 X 2 ) X 14.700 - 19.110 19.11 m*
H=3.00m
+ ® T = 14.700 14.70 m
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AL + TG BRI T
A )
T f& A H i
23 24
(t=12cm) |(t=12cm)
s 4 B4 W T | A t=15emBIT 16.00| 12.00 28.0 m
As t=15~30cmLL m
AS @J Hfﬁ_ {% 7k @ 67\ @%%W@J[ﬁﬁ}?—c 5cm
SHEERREITE 12cm 0.08 m*
_ NES 2
a4 B LR ) T t=10cmlL T m
t=15cmL T 4.00 4.00 8.0 m®
B BRHE H T (/) | Ny rkRy 0.28m’ 3.52| 3.52 7.0 m’
ANJTHEE T (/) 1.67| 1.67 3.3 m’
& ) S #% | AsHS L= 9.6km 0.48] 0.48 0.9 m’
JE iz AL 2y | AsHS 0.96 X 2.35 t/m’ 2.2t
B~ & 5~ ALy Hh
AR T (- ) L= 8.9km 0.83| 4.87 5.7 m’
AW HEREL T SysEiy0.28m° 0.87| 0.87 1.7 m’
oA 8 OR LT | ANyzhy 0.28m’ 2.80 2.8 m’
4 R LT | Nyshy 0.28m’ 2.52] 0.32 2.8 m’
FAEAA ,
T g ¥ % T |t=15cm(#H) 4.00 4.00 8.0 m?
ARG ,
B OB # T t=22cm(fH) 4.00 4.0 m?
R TG ,
B OB # T t=37cm(fH) 4.00 4.0 m?
RSB T Ao ‘
I #H B £ B T | t=5cm(dH) 4.00] 4.00 8.0 m?
T AT 7 N AGER S | R B i 1okmze | 2.87  +0.12 +0.02 +0.01 +0.77 +0.02 +7.44 +0.17 +0.08| 11.64 m’
+0.14]11.64 +2= 5.82 = 6 A 67
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Al TEHEE JENLp
5470 23 ﬂ ‘é’u /E IEI
HIEDO®
1000
H (e}
Hi1ENo.6 i ©
S ne  TEERIEAS
AR S
_ | EEORARE 2
s & Hemams |
2 (L4b)
FEAE A §
PNk LD
(+wb)
g L AR S
; o
M (DCIP) 300
[ = 4.000 m34Y 3
T g &t ) = ¥ &
O R OB W L 4.000 2 + 1.000 X 8 ~16.000 16.00 m
Al S IRCERCEE L PR A T 1.000 X 4.000 -~ 4.000 4.00 m*
BB E T+ ) 1.000 0.880 X 4.000 - 3.520 3.52 m*
ANAT#HE T CER) [C 1.000 0.500 - /4 X 0.320 2) X 4000 - 1.678 1.67 m’
53 iz pEet & 4.000 0.120 - 0.480 0.48 m*
BT (W) 1.678 1.678 - 2.520 - 0.836 0.83 m*
BoA R E E L T |( 1.000 0.300 - /4 X 0320 %) X 4000 - 0.878 0.87 m’
¥ 4 R L L 1.000 0.630 X 4.000 - 2.520 2.52 m*
t=15cm
T B ¥ % T 1.000 4.000 - 4.000 4.00 m*
t=37cm ‘
B O B T 1.000 4.000 - 4.000 4.00 m*
t=5cm ‘
) 18 IH B T 1.000 X 4.000 -~ 4.000 4.00 m*
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A +TEEE

Bk T

2AT 24 el # IH
HIEQW
1000
L H (e}
B No.22 i ©
S ne  TEERIEAS
AR R
o | EEONAR A 2
g & B |
iy (LA5) - -
- e LR S
X o
e et 2
(+wb)
g L AR S
: o
u (DCIP) 300
[ = 4.000 m34Y :

L = it c Ev % &
O R OB W L 4.000 2 + 1.000 X 4 ~12.000 12.00 m
Al S IRCERCEE L PR A T 1.000 X 4.000 -~ 4.000 4.00 m*
I E T () 1.000 0.880 X 4.000 - 3.520 3.52 m*
ANFT#HE T CER) [ 1.000 0.500 - /4 X 0.320 2 ) X 4000 - 1.678 1.67 m’
53 iz pEet & 4.000 0.120 - 0.480 0.48 m®
BT (W) 3.520 1.678 - 0.320 - 4.878 4.87 m*
BoA R E E L T |( 1.000 0.300 - /4 X 0320 %) X 4000 - 0.878 0.87 m’
¥ 4 R L L 1.000 0.080 X 4.000 ~0.320 0.32 m*
e oM OR LT 1.000 0.700 X 4.000 -~ 2.800 2.80 m*

t=15cm
T B ¥ % T 1.000 4.000 - 4.000 4.00 m*

t=22cm ‘
B K B T 1.000 4.000 - 4.000 4.00 m*
t=5cm ‘
) 18 IH B T 1.000 X 4.000 -~ 4.000 4.00 m*
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okt A4 =
MR H T EEHER
T Fi 2 NRRES B = # =
BT
As HEmETEELY
SRR T t=15cmLh T 28.9+70+85. 5 184.4 m
As
ERAE IR T t=30cmPL U 35.9 35.9 m
BESI As SPEARIEIRTHAEL Y
PRHIFE A T t=10cmLL T 1317. 1 2
EHAERR As
t=15cmL F N 748.9
EHAERR As
PRHIFE A T t=30cmLL n 300. 5 m’
AsH Z
BEM TER =9. 6km I 188.9 - 16.2 172. 7
AsH Z
BEM AL U 172.7 X 2.35 405.8 t
RM-40
AR IE T t=lcm n 1208.8 nt
RC-40
AR IE T t=lcm n 1157.7 mt
A HAs
#zET t=3cm 7" 34h I No. #31 893. 8 m’
BAEAs
#zET t=5cm 7" 54h i No. 1, No. #73 423. 3 m’
A RIAs
=BT t=5cm 4y7 i No. 6, No. 22, No. 35 1049. 4 2
BAFAS
JLE T t=Tcm 7" 744 " No. 6, No. 22 748.9
A RIAs
i E T t=5cm 4v/ n No. 35 300. 5 m’
A RIAs
EET t=Tem 7" 944 n No. 35 300. 5 m’
7A7 7V M) W R ALERTE | B AL G RN DBE R ST A R & & 97
B ARy 0.58 n*
BAGER 2t 0.58 /2= 0.3 1B
BIHI
F— =1 A t=TemPA N | SRS AE (W) KV No37 & 594. 7 i
BIHEI
F— =1 A t=TemPA N | SRS AE (W) KV No35 & 1921.6 m
BHI
F—R— 1 g t=12emPA F | SEEmAEE A E (WHIED) LY No6, 22 =] 1761.5 m
BIHEI
F—— 1 g t=12emPh F | SfEEmAEE A E WHIED) £V No35 =] 1921.6 m
T 1921. 58 X 0. 17+1761. 509X 0. 12+594. 675 X 0. 05 567. 8 m®
BER AL 567.8 X 2.35 1334.3 t

7 | iy B KE 3]



il AR IH T

SRRt

T fit AR ~HE B =V = &
e
X T i H15cm 1769. 7 m
e
X T i H45cm 329.4 m
il
X T i F30cm 68.3 m
XF, R
X T i H15cm 134.4 m
Y77
X T i H45cm 64.0 m
W T FE
As WA EELY
EEERR OB T t=15cmh F 26. 0 26.0 m
iR As
PEEIRDGA T t=15cmbh T I 108. 10 108. 1 p*
AsH Z
JFERA TR 1.=9. 6km I 16. 20 16.2 '’
AsH =
BER JL 5y U 16.20 X 2.35 38.1 t
RM-40
AR IET t=lcm U 108.1 mi
BAEAs
£BT t=5em % v 7 i 108. 1 m’
BAFAS
H ] JE T t=hem & v 7 n 108. 1 n?
BAFAS
BT t=5cm7” 4k I 108. 1 p?

7 | iy B KE 3]



I AE IR T B & i B E
T & 2 INRRES B =X H &
SR DT T
No. A1  t=3cm 28.91 28.9 m
No. 1, #3| t=5cm 35. 27+34. 77 70.0 m
No. 6, 22| t=12cm | 27.83+57.66 85.5 m
& [ it 1
38| t=15cm | 25.97 26.0 m
No.35[ t=17cm | 35.93 35.9 m
ASHI BT K AL 5y
t=3cm
t=b5cm
t=12cm
t=15cm
t=17cm
i 0.58 ni
SEERPUE LT Iz
No. 1|  t=3cm 893. 786 893.8 ni
No. 1, #3| t=5cm 159. 42+263. 877 423.3 ni
No. 6, 22| t=12cm | 158.152+590. 739 748.9 ni
& [ it 1
JL3E]  t=15cm 108. 114 108.1 ni
No.35| t=17cm | 300.51 300.5 nf
JFER AL 53 t=3cm 893. 8%0. 03 = 26.814
AsH 7 t=bcm 423.3X0. 05 = 21.170
t=12cm | 748.9X0. 12 = 89.868
t=17cm | 300.5X0. 17 = 51.085
i 188.9 ni
188.9x 2. 35 443.9 t
& [ it 1
t=15cm | 108.1X0. 15 = 16.215
16.2X2. 35 38.1 t
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A 1 4 Iz =N = Y i
SHEEAIE IR T B & =
T T TR ~HE L 2V a'e =
AT
RM-40
R t=lcm 159. 42+158. 152+590. 739+300. 51 1208.8 i
RC-40
A8 t=lcm 893. 786+263. 877 1157.7 i
I e T
RM-40
R t=lcm 108. 114 108.1 nf
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&% | F E & WHE) 1/3
IR )& AR
o a b c d fi {5

(m) (m) (m) (m) (m?) el
No.35
305 No.8 6.950]  4.350]  4.450 30.580| iliitiNo.35 | HIF
No.8 No.9 20.000]  4.450]  4.500 89.500 y y
No.9 No.10 20.000]  4.500]  4.500 90.000 y y
No.10 No.11 20.000]  4.500]  4.750 92.500 y y
No.11 No.12 20.000]  4.750]  4.750 95.000 y y
No.12 No.13 20.000]  4.750]  4.350 91.000 y y
No.13 No.14 20.000]  4.350]  4.000 83.500 y y
No.14 No.15 20.000]  4.000]  4.000 80.000 y y
No.15 No.16 20.000]  4.000]  3.950 79.500 y y
No.16 No.17 20.000]  3.950]  3.950 79.000 y y
No.17 No.18 20.000]  3.950]  4.000 79.500 y y
No.18 No.19 20.000]  4.000]  3.950 79.500 y y
No.19 No.20 20.000]  3.950]  3.950 79.000 y y
N0.20 No.21 20.000]  3.950]  3.950 79.000 y y
No.21 No.22 20.000]  3.950]  4.000 79.500 y y
No.22 No.23 20.000]  4.000]  4.100 81.000 y y
No.23 No.24 20.000]  4.100]  4.150 82.500 y y
No.24 No.25 20.000]  4.150]  4.450 86.000 y y
No.25 No.26 20.000]  4.450]  4.700 91.500 y y
No.26 No.27 20.000]  4.700]  4.700 94.000 y y
No.27 No.28 20.000]  4.700]  4.650 93.500 y y
No.28 No.29 20.000]  4.650]  4.650 93.000 y y
No.29 No.30 20.000]  4.650]  4.650 93.000 y y

i 0.000 SR 17em|  1,921.580
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&% | F E & WHE) 2/3
IR )& AR .
o a b c d fi {5

(m) (m) (m) (m) (m?) el
No.6, 22
No.30 No.31 20.000 3.600 3.600 72.000] iiENo.6 | BIE
No.31 No.32 20.000]  3.600]  3.600 72.000 y y
No.32 No.33 20.000]  3.600]  3.600 72.000 y y
No.33 No.34 20.000]  3.600]  3.600 72.000 y y
No.34 No.35 20.000]  3.600]  3.400 70.000 y y
No.35 No.36 20.000]  3.400]  3.250 66.500 y y
No.36 No.37 20.000]  3.250]  3.250 65.000 y y
No.37 No.38 20.000]  3.250]  3.250 65.000 y y
No.38 No.39 20.000]  3.250]  3.300 65.500 y y
No.39 No.40 20.000]  3.300]  3.300 66.000 y y
No.40 No.41 20.000]  3.300]  3.250 65.500 y y
No.41 No.42 20.000]  3.250]  3.200 64.500 y y
No.42 No.43 20.000]  3.200]  3.200 64.000 y y
No.43 No.44 20.000]  3.200]  3.200 64.000 y y
No.44 No.45 20.000]  3.200]  3.200 64.000 y y
No.45 No.46 20.000]  3.200]  3.200 64.000 y y
No.46 No.47 20.000]  3.200]  3.250 64.500] iiiNo.22 |
No.47 No.48 20.000]  3.250]  3.150 64.000 y y
No.48 No.49 20.000]  3.150]  3.100 62.500 y y
No.49 No.50 20.000]  3.100]  3.750 68.500 y y
No.50 No.51 20.000]  3.750]  3.450 72.000 y y
No.51 Nrss 17.850]  3.450]  3.850 65.153 y y
Nras No.52 2.150]  3.850|  4.400 8.869 y y
No.52 No.53 20.000]  4.400]  4.200 86.000 y y
No.53 No.54 20.000]  4.200]  4.450 86.500 y y
No.54 No.55 20.000]  4.450]  4.700 91.500 y y
No.55 EP 4.230]  4.700]  4.750 19.987 y y

i 0.000 S 12cm|  1,761.509
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IR 2 T FE .
o a b c d fi {5
(m) (m) (m) (m) (m?) el
No.37
BP  ~ i 12.200]  3.500]  3.350 41.785| iiiiNo.37 | A
St~ No.l 7.800]  3.900]  3.950 30.615 y y
No.l ~  eso 16.300]  3.950|  3.950 6